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Note : Four possible answers A B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which gas reduces the oxygen carrying capacity of e }J?I:gu»d’ bl u"'J TJJ:@E.‘IL/"—J&J}( 1 -1
haemogiobin: p

Ammonia . k1 (B) Nitrogen Gt A)

Carbon dioxide 4#L/1}/5.2.€ (D) Carbon monoxide L1576 (C)

VWWhich one is reabsorbed in descending limb : < (v i 2§ uf < db b e Zd & ST |2

of loop of Henle : . P .
Urea (¢ (D) Salts a.L;c’ (C) Glucose ::';{{B\}\ Water 3| (A)
oy VA :
Which of the following separates middle ear from inner ear - q_rﬁgﬁ@wsﬁdm l;‘/u b’d.lrwb-u;(.:. Sl (3

Cochlea L¥¥ (D)  Oval window skl (C)  Ear druril_ﬁ;ﬂrf-" (B) Stapes J."‘.Li (A)
K4 Lo - 5 - .
How many bones are present in both hands collectively - r’w\ r_‘.’.(j'( sl J Vi 2829 K uf} U |4
80 (D) 126 (C) -5 (B) 33 (A)
= ’_f.-_f;a'_,)"k"" & = - e -
. : IS - "\’:\C‘J } e d-'.p dL QI';J/;-J J i:.f/!, JK = )"; 5-1
Which type of reproduction is found in cora i"fl\x O\S G ok B i (A)
Budding {nLl % (B) Fragmentation . g 1A (
u 1 25 e I 2 F -~ el
K\~ i J UL (C)
Sexual reproduction(elHisz /v = (D) Binary fission v

o3

T L P o 1 5 of S I
Uterus of sabbit is divided into wﬁh)hm separate parts | < Jﬁl’:j._,af L:u-?l.r BTNt g_,-!: j{' FA)Uf
Uterus wall /130U (C) Birth canal J& £ (B) LCerwx ; % —
; & Sy Ll = LY
Which of the following is protein synthesis - | j;:{ ;d— i-/;;:p"caﬁm ey i
Replication /="~ (D) Mutation =% (C)  Translation ™= '/ [.) , , {
) FakSenczr dP Y L LSS W
What will be the blood group of a - fl ¥ l_/ -._?-d/jl L6 e a8 2R
person which has no antigen present in his blood o (D) 8 (C) AB (B) A (A)

i =2 b T Geids al |9
Termites and protozoan have which symbiotic relationship : iq;.,}'z Bi'Y J';idl s L Ig',";‘ ’;;J((A)
z i 3 iti iz (B) Commensalism (/%7
Predation ﬁé{ (D)  Mutualism rylfx, (C) Parasitism (Jjlos = yvd il éf
P - - L. N ) e .‘l
How many tonnes recycling of paper can save:l? trees: uj’£L§ 242 17(' g 0
Four vk (D) Three ¢~ (C) Two »» (B) Om:}__/ . — FH -
: [ : e 2 L iy ok L7
Enzyme which is used for joining the genes Is e U :i/ ,.“ o /_;'JU »
i ' Ju (D) Amylase 23U (C) Endonuclease 7 %s4! (B) igase = :
Lipase /= & r@gd’bi‘gﬂ}v 12

(A)

Horns A (D)

o

—

0

Psilocin is obtained from which : . ; | ok
Foxglove jfb (D)  Cannabis sativa f:.:t:'uJL’_-l/ (C)  Mushroom ¢~ (B)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

How many bones make our vertebral column &P JL-,_ Hu’ Jﬁrﬂ, e UL,E. Um’ 11
26 (D) 24 (C) 22 (B) 20 (A)
Which one is the reservoir of free gaseous nitrogen : - a/.i"_i K g;)’uf’t T 1..{1 L L'J!( = J |2

Water d!; (D) Atmosphere (& (C) Consumers .F/.fjf (B)  Producers j yiss (A)

In which one histone protein is present P Jﬂ w’fs,_; ULl P f & U3
Centrosomep’»s 2 (D)  Chromosomes ]rr‘;)/ (C) RNA !/t uT (B)"'fi DNA ! ¢/1 §5 (A)

The concave side of kidney which faces vertebral column e dlln‘;”’ fg. er».:)’:f‘) K £ ff)"&_. ) |4
is called : N KH

Renal pelvis Ji@&; (D) Renal medulla iJsj_,#J‘; (C) Rery %h&x u;%’ul’; (B) Hilus u‘J' (A)

Which one is source of variations : /~ ';\} ! e 2K e =l Syl = |5
Mutation J::‘f (D)  Translation u"'u! (C} T:ahscnptaon J’ ey (B)  Guttation ‘J’-j (A)

Which one drug weakens the short term matrmﬁyﬁ\human : %dﬂsfﬂ’bafbhjlﬁ J!»o’c}fu:uuf 6
Psilocin #*L- (D) CQdEInE@QHA (C) Morphine u‘-‘-;JL (B) Marijuana tfﬁd/:@gﬁb (A)

Which one part of brain is presehtﬁn the top of medulla : : f_tﬁjﬁrgﬁé Usdr ¥ s et | 7
Thalamus ;_féf (D) Cerebrum ¢z = (C) Pons 7| (B) Mid brain ¢/ £ 4 (A)

After fertilization in plants the seed develops from : ik Be S EnLl SIS V1|8
Ovary (s (D) Ovule Ji»! (C) Sepals 4~ (B) Petals % (A)

In which one group, external fertilization takes place : L Jrr A J}’«"-/J 9 ..__,,sj J e L |9
In mammals %A (D) Inbirds =24z (C)  Inreptiles J/"’fl:-;..; (B) Infishes g,ﬁ.'u;:."f (A)

Interferons were first time produced in : c e G 2 df-: }:3/:.’}51 10
1980 (D) 1978 (C) 1976 (B) 1974 (A)

Which one of these is a muscular structure present below : & JsyE L Usafhes v),ﬁ‘.._ﬂ S it 11
the lungs :

Diaphragm r‘l,j",ls' (D) Alveoli JU:;EJ (C) Voice box =247 (B) Trachea _L-.(} (A)

Which one ecologist developed the concept of s 9§ 2" J’/:-‘:';fl SR 4 u’( e 12
ecological pyramids :

Lamarck AU (D) Darwin 213 (C) Charles Elton ﬁl;f;l‘r (B) Mendel 42 (A)
214-023-1-(Objective Type)-21000 (7465)
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Note . Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

During exercise or other physical works < Cﬁ'ﬁ 2y X L} U J (f?: G L (‘b’ dl--’ =5 ol =321 -1
breathing rate per minute increases up to :
<+ 50-60 minutes (D) > 40-50 minutes (C) 2 30-40 minutes (B) 22+ 20-30 minutes (A)
Water lily is an example of : - e Jlff J u»; u( Jr" o
Mesophytes u:"flis)-.;‘ (D) Halophytes ufg,_b‘- (C) Xerophytes J*‘ fEs;.i (B) Hydrophytes u:" fiiujﬂ (A)
It is the union of several axons : P Py :Fi}f’i & ot 2|3
Node of Ranvier 2/ 23734 (D) Schwann cells IPLJL’" (C) Nerve s/ {B)rs Bendrltes u‘"b.:n (A)
Elastic cartilage is found in : _ a\n Lt. e (/( c.z.LquY L4
Larynx s (B) Epagig;n%, 2\ u’w’ql (A)
Inter vertebral discs ;faidﬁr’nﬁl (D) Bronehial tubes 22 Sz (C)
Mint and chrysanthemum reproduce by : f d&“é./ J(_u,-u & L) u'( u’nb‘_f Il ..u’ 5
Suckers }/(’ (D) Stem tubers .vr(’ (G{f Corms /;)/ (B) Bulbs x* (A)
Part of testes provides nutrients to spermsf: \)‘ ¥ i &S A i f P R K u”':j 6
Seminal vesicles- r"ﬂ'-md':r (B) Collecting ducts J"}ﬁ?f (A)
Cowper's glandsfj,ujx,;}b" (D) Prostate glands ;;-_f__»_,:h{ (C)
Movement of genes from one population to another is called : : ??Mtbdﬁsjkd/jjb"ﬁ’c_ﬁ;{r{l 7
Mutations f?;..’ (D) Gene flow 37> (C) Recombination o?:bf’d; (B) Crossing over ey (A)
Process of translation occurs in : e by Jf K Lf?";'} 8
Ribosomes Sl (B) Golgi apparatus uiu‘:.; Tgf £ (A)
Endoplasmic reticulum JH)@_’,:JM&;J&J (D) Nucleus J-'u'{"’ﬁ (C)
Which one is main producer in aquatic ecosystem : P b o sy A K b £ drle
Protozoans 1}}}}!{. (D) Phytoplankton L-,f{fl,k;"ﬁ (C) Bacteria _l,/:':? (B) Fungi Jl‘i’ (A)
The current level of urbanization in Pakistan is about : - Lg./TJ dﬂ gy K c)éi:;l:ul U u':f& 10
44 52 % (D) +4 42 % (C) +4 32% (B) «22% (A)
In which year, human genome project was launched : : ',;‘ﬁ l,_f C:;' -.*—EL?L; ri'.!i' O dlr u’( 11
1990 (D) 1980 (C) 1970 (B) 1960 (A)
It effects on central nervous system and causes : < d; L J J éj.?:r! il d/r s ¢ f’ Jr/ J/" ~|12
drowsiness :
Codeine :_-,:i:r (D) Psilocin /¥l (C) Mescaline uijl{»_-r (B) Morphine s;)'*'-;JL (A)

215-023-11-(Objective Type)-17000 (7462)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one is tertiary consumer : : cg_buis’_g)‘(d;‘}uf ¢ 1-1
Deer ¢s (D) Lion 2 (C) Rabbit Jfﬁ (B) Frog Sk (A)
Which type of asexual reproduction occurs in rhizopus : 1 ‘Laﬁu’if.‘;}{dig);'-&d_lg uffuﬂ ui:.igjf.r 2
Spore formation th.ax (B) Budding £ & (A)
Binary fission u’”d/'ft (D) Fragmentation u-«-’-‘a._lm_,ﬂ (C)
Which drugs are obtained from animals - bgduf;g::fn:fd"h‘;_,uu;l? 3
Aspirin ¢/ z1 (D) lodine¢/ 37T (C) Morphine u'f.;'. (B){;pféﬁntttoxins )"'(l.*t_;""f (A)
Humans breath ------ times per minute in : cl..h.*.:-*&._:/........ JG;J%JEJ}(&::C(%T) ..'-.fUlpJ.:t{_)fuLJI 4
normal circumstances i.e. (at rest) : A\
2226 (D) 2024(C) <1822 (B)  16-20 (A)
The complete map of human genome was published/iﬁl.\"g;(:j’i -. ggépﬁf §rrtllt| 5
2014 (D) 2012,~,¢¢i??>\”’ 2004 (B) 2002 (A)
Which organ is responsible for filtering the b{ab@\‘\( : ‘L.JL';_-J-K;- f/*J-’ }’u}u': Tbu:’/ 6
Kidney o) (D) Stq@é%ﬁ s (C) Brain &L: (B) Intestine ¢/ b-£1 (A)
Which is a biotic component of@vﬁs;;ém .' ‘ . a:_L-c):(( f)&g{.ff&((yJ-fl 7
Plants <y (D) Airls (C) Water (L (B) Light (53 (A)
How many pairs of spinal nerves arise along spinal cord : ; u[;ﬁr_fu? gfﬁ.s}fir:_élrid’bb’d’;- 8
41 (D) 31 (C) 21 (B) 11 (A)
Schwann cells secrete a fatty layer, called - : a:...:;M} :u_‘«'r"'_lk,.f?'fjfo...gkul} 9
Nucleus =% (D) Dendritesu;jx:ej (C)  Impulses »¥1 (B) Myelin Sheath 5 uj L (A)
In human body cells there are — pairs of homologous ;,{.:E_I?L&z_.}ﬁ..___ d:frf:fﬂrﬁbir‘)‘GUl 10
chromosomes :
33 (D) 22 (C) 23 (B) 13 (A)
How many bones make our skull : } ﬁ-ﬁfgf&uté%fgﬁ’({.ﬁh 11
26 (D) 24 (C) 22 (B) 14 (A)
The punnett square is also called : : ufdidq;:rafi% 12
Genetic board 3.4 (¥ (B) Score board Lsi..uﬁ (A)
Checker board :*.ufﬁ (D) Mendel board &s Ji* (C)

214-021-I-(Objective Type)- 19000 (7463
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Many other chemicals in smoke increase : u_'g'?_f;&’ffi L3 M;./:J:;.:w,ﬁ:ﬁfu:q:% 1-1
production of -—-—- blood cells : _
Platelets 24 (D) Basinophil (/=% (C) White 41 (B) Red s (A)
Extra water is removed from the plant body by : ; ,.g;j_url-_. t‘lg{fb;léa_rf?f.d_.:géﬁﬁﬁ 2
Evaporation cja;g-:ji (D) Guttation u.m.n.‘i'f (C) Transpiration cﬁ-??‘) (B) Respiration ﬁ s (A)
The largest part of forebrain is : f..ﬁ?lj:c._h_rﬁ'u,f__,u;’ 3
Cerebellum (Ld/:‘ (D) Cerebrum fz = (C) Hypothalamus fgﬁ} (B) Thalamus;fg (A)
Which hormone is related to child birth - P el g | 4
Thyroxin u’JLJL; (D) ADH & #1551 (C)  Vasopressin uﬁ;b{s\lﬁé} Oxytocin u’:’djl (A)
The joints between skull bones are called : n K ‘<} u_ra_ugfflguyﬂéf. U;_’J,-JU-'-;J’( 5
Immoveable sl /2= 7 (B) Maveabg"i\?) & Lnd S2S7 (A
Hinge joints JzE (D) Sight} moveable L_isi_ S/ 457 (C)
----- seed have epigeal germination : <o) U:,x > : ‘:_-_u'-"":?.'dﬁ?g_é!uﬁé—-,,“_ 6
Cotton / lf (D) /\Pd&\/ (C) Coconuti st (B) Maize ffr (A)

If an organism has two different alleleks‘@ a gdik'(g AN IS Mﬁuﬁﬁ*’mﬁ-ﬁﬁ 7
single trait, its genotype is said wbe“f’ )

Hemtzyﬁ?a‘us ol (B) Homozygous  _uful;»w (A)
Homologous ._/';fy-,: (D) Heterozygous qu.ul jva (C)
The number of chromosomes in human body cells are - ' +:Iﬂ57rr,f¢}-'£ﬁ JU* 8
48 (D) 46 (C) 44 (B) 42 (A)
A recycling of one tonne of paper can save trees - : L.EétgL‘{-:iuc_é_bu TSasd %6 /L) 9
20 (D) 19 (C) 18 (B) 17 (A)
Which is a biotic component of an ecosystem : : ﬁ;ﬁsfz_@'f{:b’(uygl 10
Producers J¢317 (D) Soil ¢&J (C) Water 3L (B) Air sz (A)

The hormone which may prove effective against : ;::_t*ngv( rc‘-._'I:J:yf:f;E;F.E;r:u’:/‘-fﬁu:;{ﬁmf,hﬁuw} 11
brain and lung cancer is called :

Urokinase 7K.y (D) Interferons :51/.-:’}! (C) Thymosin /## (B) Insulin g Ay (A)

Which drug is obtained from animals : d‘?_.LfJ!ﬁ!JEJ/L}‘bCrU.U}J[g 12
Morphine ¢4 (D)  Aspifine, £4 (C)  Digitalis oG (B)  Fish liver oil L6462 (A)
215-021-1l-(Objective Type)-15000  (7462)
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Note = Four possible answers A, B, C and D to each question are given. The choice which you
think 1s correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that guestion.
Who was first to propose the mechanism of evolution : . 97.3%-5'-@)‘5’ ‘EL'%G- --"h-v'f 1 -1
Abu Rayhan gl ! (D) Buffon = (C) Darwin /515 (B)  Lamarck AU (A)
When was the complete map of human genome published : g"i{C’,LﬁJﬂJ’; ¥prel it |2
2002 (D) 1992 (C) 1982 (B) 1972 (A)
The length of spinal cord is approximately ----- cenlimeter : e Y Jl /"-‘fJ'f..__.. L; ;J L ‘-'FFL'-‘ 3
40 (D) 30 (C) 20 (B) 10 (A)
A r‘} 3 b, -
All ecosystems of the world together form the : : ;ﬁ%bﬁlf J /"'/ rg hrv L by |4
Biosphere #%l (D)  Ecosystem (’E';gl (C) Communiiy_%(%) Population U:J{k (A)
S )
Which drugs include aspirin ,8{\\;\59 S : ‘;t'xuf.:.gnlcf:ttﬁgj 15
Drugs from bacteria bnten/ ol /:'J.? [B}/i‘-f"wcﬁve drugs Aol (A)
. N
Synthetic drugs .;-.fys:iﬁi'@ ,_ %" Drugs from plants ..'-.-.i,uiuffbc_,u”{ (C)
¢ '\J‘ b
The amount of oxygen in expired air in huf ‘A\b% yis - : H,.J"Jp'?"'ffgfiﬁd':«.:_-ﬂfy;l;/:‘g.a-("?dl.—;i 6
A 38% (D) (e 20% (C) 4 16 % (B) #410% (A)
9!
N\ s . . & A . -
In how many days, rabbit's emibtyo develops into new offspring : : belrme 2 4 A K Zmundl |7
¢ 50-52days (D) ) 40-42days (C) (2 30-32days (B) (»20-22days (A)
The appearance of drops of water on tips of leaves is called : : @iff&%hﬁiﬁ&{g)»bf&uﬁ 8
& . i
Osmoregulation J-‘-J:gm"ﬂ (D) Osmosis S (C) Diffusion @ig*} (B) Guttation u’fr (A)
How many hydrogen bonds are present between : L,,_Td'.'....'.g-i..kJﬁ!_.gzs.f:f!:é{uynd:uﬁ.ff s 00 {9
cytosine and guanine :
5 (D) 4 (C) 3 (B) 2 (A)
Which cartilage is found in epiglottis and pinna PPl s b o ﬂfc&'?«b’w)" 10
Collagen zdsS (D) Fibrous U6 (C) Eiastic Ek/ (B)  Hyaline o*E} (A)

' i : i c e 3 J Call . GeF Lol
Which lobe of human brain is concerned with hearing e .—uw;.u:"uinxl;:..‘.«:’bu, g0 L3V
and smell : '

Temporal Jut (D)  Occipital M55 7 (C) Parietal S 1z (B) Frontal f/ (A)

Which carnivores are called top carnivores : W E‘):/._J: J-JHJJKLJ}.‘?’ 12
Secondary carnivores s l;a’d;}é} (B) Primary carnivores }.;::J.s'ﬁ/{iﬂ{; (A)
Producers irfisy (D) Tertiary carnivores L.-;J;b’d,f'f {C)

214-020-1-(Objective Type)-18500 (7467)
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question are given. The choice which you

Four possible answers A, B, C and D to each
fill that circle in front of that question with Marker or Pen ink in the answer-book.

Note :
think is correct,
Cutting or filling two or more circles will result in zero mark in that question.
The abiotic component of an ecosystem is - t & a7 _f,:’ga..f ¥ (‘}"/:gl 1 -1
| Producer 45, (D) Herbivore JssQ,f (C) Soil (B) Decomposer ;Jy__;",di (A)
External fertilization occurs in ----- - : c_.dyrj s Q%:}'EE,J'L{F_:{ o
Cow 1¥° (D) Fish % (C) Hendr (B)  Rabbit V7 (A)
Which of the foliowing dﬂrug is obtained from plants : ; 4..;Elgufu"”bc.,g_)s.-gsls:u’uifﬁj.}f;u 3
Tincture ,,%L.; (D) Aspirin ¢ = (C) Insn..l!um\;f-'-}.«—TI (B)ﬁi\ Morphine ;_-;-'-i,-i. (A)
Most of the gaseous exchange in a plant leaf occurs through-—--: N _&\‘é'ﬂ)f::uyb’ur{)‘:“@.ér_:g 4
Stomata U2+ (D)  Lenticels }I-'-'L;y (C) General sr{‘r‘(qg}{r'k (B) Cuticle uf’;f-(ﬂ)
RXebe . A amd L1 tisr|s

Yogurt is made from mitk fermentation DY ~=eme-

Lactic acid bactena _i:,::*.."'#‘ i (By, J@
A S

Saccharomyces ,J_{JL;/.‘;’ (A)
(C)

Yeast =k

Bacillus
Which organ of man is responsible for filteri éﬁbékglood : D G han 36 -C'bﬁf_,l?ﬂ T €T 6
Brain (b (D) Stap@@? we (C) Intestine =T (B) Kidney 02/ (A)
The base of food chain is 2lways { ! \“by a——- S - S S J BT i
Frimary cw,ﬁ';{ﬁg (B) Producer riiss (A)
Decomposer _',}.9:':55 (D) Secondary consumer /{,’ﬂ"ﬁ;ﬁ? (C)
Number of pairs of spinai nerves arising aleng spinal L,_’E’?.Ec..}ﬁ — J:)JJ_L:;;.. L‘;HJL KJ'L-.{_ i 8
cord of human is ----- :
33 (D) 31 (C) 29 (B) 27 (A)
ujf./rf i _;.J_.:EJ:"‘:";'E:‘-';U'Z ' U 9

In nervous coordination of human nervous system

response is an action of - after receiving message :
Stimuli <7 (A)

Effectors }_/"*-7‘:'" (D)  Coordinators J xx3, T.J/(C.} Receptors J 42~ (B)

i : : T e AL L, =
Which genotype of human blood express co-dominance e Pk .-.-:._‘_.:- ’:r:?{fu:‘(_gu;’uw' 10
% o) i (C) ” i (8) i)

AU o W PETI L slenE JU 44

Human babies are born with about --— soft bones °
400 (D) 300 (©)

200 (B) 100 (A)

12

An organism has two different alleles for a
sing'e trait. its genotype is said to be -

Hemizygous u"&'ﬁi}uﬂ" (A)

Y- SAEEIE 320 RN L oo LI Nl

"
Heterozygous (s %2 (B)

Homologous -.,f':'f:f (D) Homozygous J'CU:‘J? (C)

(7464)
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P i ! e e {.ﬂg}!}hﬁfé.-]& VLJFFJ{L&KL}E ..UEE.':{_.JD # C'B'A .::U:’.'.'.-kaz.d‘r,{ Y
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.
A cluster of specialized cells which surrounds and nourishes, : r:_t'l.lﬁf-';_t-_:lﬁ;fﬂhf.{l E'):'J:‘;J)Z‘:.J‘._ﬁﬁ 11
each egg cell is called :

Cervix u’gf (D) Uterus ¢ (C) Follicie ﬂ:’ (B) Fallopian tubes xﬁw.;’c:‘.:; (A)

E-Coii bacterium was created for synthesizing human growth _U’Lbs J@,}EJU.{.JI UI:.;"_..l:-.qu‘;}J:;JLJ! 2
hormone in .

1977 (D) 1870 (C) 1967 (B) 1955 (A)
The inner layer of eye is sensory and is called as : 1 é".’ A = Jﬁ o Jm:f ur J"IT 3

Retina k=, (D) Choroid 515 (C) Cornea (_r'u( (B) . Sclera ! ;" (A)
The specific sequence of : :I*_I:‘ll:-" ‘ t@_l,:ff;)ﬁy&}ffx‘:iﬁgfu{b Tﬁ%@&ftﬁxﬁ lefigi|4

DNA nucleotides is copied in the form of messenger RNA nucleotides is knb@ §:
: [y XA - ey
Translation c}’:vl.f (B) O(\Qj\\ “Transcription u’f' 7 (A)
-~ . .
Translocation <"/ (D) /707 Transduction 5 (C)

S r__‘ -
Which of the following drug is obtained from plants : 5}5\\/}'4 dlg J J"b e Ungn L’J)/ e |5
Cephalosporin ¢/ 2% (D)  Insulin ufjﬂl (Q/):Q“//Murphine A (B)  Aspirin ¢/ £ (A)

The World No Tobacco Day is observed g@?ét‘%debA (g:dkdiﬁ&@'}fy}) 3 k59 dnl6
year on : R

AN
31st Mgﬁj%‘" 31 (B) 31st March &L 31 (A)
31st Auﬁ =131 (D) 31stduly GUZ 31 (C)
The latest method of vegetative propagation is : .| P g7 s b 8y 2807
Bulbs 5L (D)  Cloning &£ (C) Cuttings 555 (B) Budding £ % (A)
The maintenance of internal body temperature is called : P& tLl-;( l.._thCrf’ F:(..-.-..'f)..?uduﬁ lr.':("7 8
Osmoregulation Jy:{ 3 (B) Homeostasis J"? v (A)
Excretion g’f:‘}g’ (D) Thermoregulation g*’;fm,} (C)
The specific combination of genes in an individual is known as : P & t'Ll-:'/_Lf;.&._ﬁ._\.g.Jd u’.r‘; K~ .v’..-_f" 9
Genotype t5# (D)  Allele 51 (C)  Karyotype —7t7Z (B)  Phenotype /654 (A)
Which bone is part of appendicular skeleton : P g g Nrew );":}.;-f $i 5 o |10
Sternum £~ (D) Skull § ..;,-; (C) Vertebral column [JE’J #£n (B) Pectoral girdle Jifdxrg (A)
The largest part of forebrain is called : le t'llv:( 2 e K 4911
Cerebellum %~ (D) Hypothalamus &2 ¢} (C) Thalamus &2 (B) Cerebrum (2 (A)
The base of food chain is always formed by : P& J" e JI 24 J =3 3812

Food web ..._..;55;" (D) Plant (producer) 1»¢ (C) Ecosystem 'r“"";f' (B) Animal 456 (A)
215-019-11-(Objective Type)-14250 (7468)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Diazepam is a drug of : - .:-_fur&d.i"b’li 1-1
Analgesics Jﬁ""&l (D) Antibiotics u’gﬂ&:‘l (C) Sedatives Jx i~ (B) Vaccines /f-f: (A)

The enzyme which used to dissolve blood clots is : . : @f'iﬁlﬁl:iﬂ};fu:}";‘id} 2
Urokinase ,?f"ﬁz.f (D) Tripsin %/ (C) Pepsin 5 (B) Amylase )fél/_‘ (A)
Making a normal pigmentation is example of : s J& o Mb—’d&t 3
Chromosomes #++s/ (D) Traits 2/ (C) Genotype s (B']fy\ Phenotype ..,r.ﬁt‘r" (A)
Encyclopaedia " Al-Tasrif" is written by : \.;RWJJ/ __,;/ﬂ " Lda Il (4

S ) (B) Al-Farabi JU& (A)

Al-Haitham ! (D) Al lbn-e-isa (=i (C)  Abu- 3'0:_'

%JUJ .;JEU;‘L- 5

The Iengl‘h of spinal cord is : wf} ' '
#§=70 cm (D) §760 cm f W) XG40 cm (B) HEF20 em (A)
Female reproductive part of flower is : 3 ¢ ‘L‘V : : d‘:.,t'ik":ﬂ:"djgj;u.iwu:f 6
Petals /¥ (D) fﬁe‘péls 4 (C) Androecium f"su«l (B) Gynoecium [fef(jb’ (A)
Charles Darwin proposed the mechanssm of organic evolution in : U’ffib’.d}’% ;!thf_..u»I:uJ,rtp 7
1900 (D) 1930 (C) 1882 (B) 1838 (A}
Non-renewable resources are : : u_:'J’Lrs,gﬁJF t|8
Soil J" (D) Waterq_-i}r (C) Wind I»r (B)  Fossil fuels ),%J") (A)
The disease in which destruction the wall of alveoliis : : u}&lg*.bf;_{ ;!z:dl Jﬂgéuu’?d@u 9
Bronchitis ™ (Y, (D) Emphysema L{,’J{f (C)  Pneumonialy (B) Asthma .»s (A)
Example of vegetative propagation by leaves is : : rrz.df?'&,&u.(.u 952 2 ;5_‘:_1}5%_..- 10
Bryophylium (’ byl (D) Garlic J" (C) Potato #T (B) Mint ;24 (A)
Number of bones in appendicular skeleton is : : ‘;_:!,&'Jug.ir;_ﬂcm.;..u );-(JJ;! 1
146 (D) 136 (C) 116 (B) 126 (A)
The smailest bone in human body is : : ;.dé(j:{a.ggff?&u! 12
Vertebera IMJ} (D) Malieus;fd"’ (C) Incus u’q (B) Stapes u‘.:"” (A)

214-018-1-(Objective Type)-17500 ( 7467 )
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filiing two or more circles will result in zero mark in that question.

The complete map of human genome was published in : lrdlrﬁ K2 J'; L1 -1
2005 (D) 2002 (C) 2000 (B) 1802 (A)
Symbiosis in which both partners get benefitis example of = e JEUrL W46 Jud Ao |2
Competition G- (D) Predation /€% (C)  Mutualism rﬁz‘ (B)  Parasitism fies Lz (A)
Example of rhizome stem is . : _ Z ‘;;.J@Jz.r:}éb 3
Garlic f (D) Onion Jl, (C) Ginger /! (B}/f} Potato )T (A)
E. coli bacterium was made in : m\! //(—j/l : t_,"gt-,.rf/_ﬁééuiifr 4
2 1970 (D) 2 1977 (C) ”Ja 1975 (B) - 1980 (A)
Which structure plays an important role for pushing the alrj@ ef angs 293)?' b’u!éJ_ Kbl s H’.‘?J@ﬁ ng:( 5
Bronchiole Jrfu (D)  Diaphragm r'J/’Ll: (CT /{’d Bronchus / 4.4 (B) Nasal cavity Civa}é (A)
Theory of natural selection was presented o b Sl : ',.JLE'?-,_, )"'h’i!:gazﬁ 6
Malthas d..,ujJL (D) Dew&uuf; (C) Lamarck d..JLU (B) Aristotle &1 (A)
The maintenance of temperature in mtemel human body is called : = t‘L&r L;f‘ l.'-‘:(.:'.ul..?.p.ud;,r.a-lﬁ.(" U7
Osmeregulatlonu’-’:gm’ I (B) Thermoregulation L/" ,f,,»/ (A)
Guttation u’-‘f (D) Respiration R (C)
Part of embryo makes root : : 93‘2.:..:?;)’#&;‘ A8
Plumule Jxs (D) Radicle S, (C)  Epicotyl Jt‘fq.l (B) Cotyledon uydb’ (A)
Length of spinal cord is : q.JuJ 5}&)’1- 9
4§10 cm (D) K§F20em(C)  ZEF30cm (B) HE<40em (A)

It is the unit of nervous system : ' r'_d(fd’f-’w/ 10
Receptor %~ (D) Neuron i« (C) Nerve s+ (B)  Ganglions f:lufdr (A)
Diazepam is : ekt

Vaccines /‘gs (D)  Narcotics u’%t (C) Hallucinogens /-’.”J:J:,f (B) Sedative %4~ (A)
Human skeleton contains number of bones : : c.:'_:u;Ju;_’éu:o.‘iel_:LuJle 12
106 (D) 206 (C) 306 (B) B 406 (A)

215-018-Il-(Objective Type)-12750 (7466) MR < lto= =18
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c..'_uﬁwlﬂ.?bwbﬁglk#mgﬁw}bé{.:&l-ﬁdrg{di’(.}lk ~ALED 1 C B AARLL vy
s Aol d fur OSSN Sl L] oo

A
1

A

' D C B A Questions / o Yl JPA}
(_}f_f' 'gt?' I % i JI%CF f u’f"{): I Tu_;&l.kr gbLulJbLI H;.u 1
Antibiotics Sedatives Antiseptics Analgesics | The drugs used to reduce pain are called:
e VEes Al ool | 2
»2008 #2006 #2004 +2002 In which year, the complete map of human genome
) project was published?
| Fidsg 2§ PP 71784 e ULV IO A 3 |
'i Producer Decomposer :g‘:;ﬁiag cz::;ﬁr When we eat onion, our trophic level is: i
P . g ; o SpLal g AT 4
How many types ofecological pyramids are?
ke =y A oA ©Y 7 W el s
| Nucleosomes Translation Alleles Transcription Thahhﬁaie forms of a gene are called:
AT I - '.r ~ \L .
LU T A N A - NS Ce bl Kt 2L SE AL 6
In pharmacology| Intaxonomy | Inmicrobiology | In genﬂiéff ) Hn which branch of biology we study inheritance?
&-/rkf n:.& :—JI.fJJdJ”l :7{*%:\") sl "‘LD:LJU%‘#!Z:L‘.E?;UU}JU!J{ 7
Anther Petal Ovarywall \M wall | After fertilization in plants, the fruit develops from:
. & F. NN ¥ -
Sl 54 aﬁk/{\\ & ‘) § O ?q.d.-r-ffl;gﬂu/ 8
Human Rabbit Amecba. ) Yeast In which organism budding occurs?
OR ¢ "dj’ o
- 26 24 A 2 14 SUTULLU LGP0 el 9
. Kol How many bones make our skull? J
| (35 \“‘ﬁ JUL s & S LK ra iU | 10 |
Cochlea Ear drum Auditory canal Pinna Which one is not a part of external ear? |
7 3 : ) |
drsﬁﬂf GATR Sk Lok tetnPie g/ S u?| 11 |
Bgm 3 Renal artery Glomerulus Renal vein | Blood enters the kidney through: |
i o It ok ;,JEZ_..JL..;)’;.J..;_T)!L?!') 12
| Lipids |  Glucose Air Water The lenticels allow to pass through them:
1017-X123-60000
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BN WAL N2 ne LUAL Esi v Yy 36312 < fLE D i C B AN Lz | A 1y
-&Jr%ywuuﬁgﬂ@»'d‘UJuﬂl_&ﬂJuhﬁgu{ Ty A
D C B A Questions / = Ul Ji’/.}
ke I if%{j U’C:{h Jr {EW/&LJJIJ'JL)?;# 1
Sedatives Antibiotics Antiseptics Analgesics | The drugs used to reduce pain are called:
AP A P ¥ Seulhgdm| 2
Interferon Insulin Thymosin Urokinase | Which is antiviral protein?
g v ez A e Jefenipds| 3
Tapeworm Ascaris Virus Mosquito | Example afectoparasite is:
: . TN
Jiss Sl Im s ‘-'ﬂ:/T Ly E’i\‘ “J e Uz u73 Lg_,jﬂr-, 1| 4
Omnivores Herbivores Oxygen Producers Which is otic compunent of the ecosystem?
i — & - ,..'F = /f
vy s ! 2 DA S P
Traits Phenotypes Alleles Genes Inherited ;.I:;m'ahj s'fius are called:
?g\,}%e_;g!./liﬁuy JetiJiz| 6
25000 28000 26000 24000 H?fqim ¥ pea plants were used in the experiments
'of Méndel?
s sy £ % fé){ti‘\_, ) ‘e )r Lot ok uj» JJ ’L el 7
— &~ | The simplest and most common method uf asexual
Meiosis Spore formation Budding Bin: lon | reproduction is:
& /kl P < _...f!g;Jdml \%.al.g:dufnl fq_m - U«U{ o) LU}E s ;L}:U”{ 8
Anther Petal Ovary wa(’ll;\ \ Ovule wall | After fertilization in plants, the fruit develops from:
_*,-#Lﬁ:t":l U"*'-‘"; \L\{.%%?}"‘) u".'lr'.!a‘} ¥ -U?z— Mkﬁ@l;)w ]
Osteoclast Collagen |- (‘Ostebcytes | Chondrocytes | The cells of cartilage are called:
o iy o6 0 Ll o Llrivdel| 10
Pepsinogen Glucagon Thyroxin [nsulin All of these are hormones except:
w) b /l: =T ?{..A:mj ¥/ ﬂ" fuﬂf: | 11
Kidney Stomach Liver Intestine Which organ is responsible for filtering the blood?
o 4 ' . spden el 12
Many How many bronchi are there in the air passageway?
1018-X123-48000 47
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PN NI 75 (VI e ccid B
D C B | A | Questions / =t A
o A et u} el e tho g L e |1
Planarian Amocha Hydra Rhizopus | Which animal reproduces by means of budding?
- sdmnit et Lobnd 2
e i - The adult human skeleton has bones: .!
. vy izl AT gEL AEEA 3
__ Liver Pancreas Gonads Adrenal gland | Insulin and glucagon . in:
31 30 16 12 _ @}% “ iz __#ﬁnn.f‘,t,-ﬂniﬁ,- 4
’]!Tﬁi'-'mil nerves arise from spinal cord. _
— O 5 = -
Y et o A
10 6 5 4 w! ;@ ilm . . — |
| Top ieEe  LLALIG 6
- - i s ‘f{/Tubwwmnlweu;himm different chemicals.
T L e | Mﬁ‘ :q_hn,!&i.gﬂc..wiy 7
Musk Mescaline Pscilocin <\l Aspirin | The drug obtained from animals is: e i
\ ot g A
. iy - ‘M%V ! i The complete map of human g:nun:wapnﬂishdh: :
T w8 b sting g E-Jiﬁiisgﬁrbf;ﬁgfuﬁﬁfugwﬁfﬂf 9
Organisms which break down organic |
Compctitors | Decomposers | Consumers Producers | compounds into simple m’d!::'m
- {”‘ﬂf Sz v ENed o .-;.-—?en}, sield W
Snake Grasshopper Frog Fox Whmhm@;_l;gh&b'vm" 1; i
K A gHis | N J/¢ . e ;Efi v Ao EU |
ey _ , I wHMarmmmemmu |
G EE F L s tia WL Jir | 1
9:2:2:1 $:3:3:1 1:3 3 The phenotypic ratio in Mendel's Law of Independent
Assonment was: {
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A human ¢ell has chromosomes:

D C B A Questions /| =iy Y.
5 3 1 2 B T
There are types of pollination,
o vt ¥ o e e | 2
Thigh Stapes Incus Malleus The longest bone of our body is:
s L oo ol AN -e-Bigury Hpie 3
Estrogen Glucagon Insulin Thyroxin | Thyroid gl ' hormone. |
) A E : ~\ S il JESY ) 4
Cr_, i action has components: )
H3 Nz CO; 0, !\Qfﬁ:p r"‘l"“"fw(? ﬁ;‘ﬁf 5
5 {;f»;} Which is a by-product of photosynthesis? ﬂ
o e ek o2 < e &2 6
Lungs Tm:ln Omphn'gus f:: Sghmm Nasal cavity opens into: A
s oz foH U}r A Y f i, L}Eaﬁ{_ﬂ.kuld‘u_f( £ 1 I
Sedatives Antibiotics Amﬁiﬁé Hraongs, ’ﬁgs used to reduce pain are known as: gl
: i . s - T %
/1998 ,1988 1978 i A S m ‘.GIL;",C ___FAdal
e *;:.u Human insulin was Ere argd in: |
By | tathdn | JEud [ Rl PR o 17
__ Reforest Recycle Reuse Reduce | The term R4-means: ¥ -
g i ; ; ~ g Sumd
There are types of dengu® virus.
WU JileteriS ifﬂ-d‘:
# * ’ DINJ - - .
o o3 P When was Watson-Crick DNA model presented? |
16 2% 13 10 g rdung |
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= A IP AL e SN sl rp g QW2 < 7LD 41 C B Azl vz | Ay
-fn»'aw..-I‘.c’r:ﬂgﬂuxr‘tfi_.f.gfafia.fwubuha...f ﬁ.yf 1

D ? C B : A Quesnons / ..at"r | Jir'/
| e —r -—A-u-—-——ql— . i e e —---—-—-T-- —
aLU.rl.rl.o I e C".l ; "J"L; | u‘e.r. | R ?.,_-_J L‘;j:-«‘\.}'ﬂuf |
Diazepam Aspirin | Digitalis | Momhlm \fh W nic?
" A L S
ST S L DK N PN ey J'a’._,r'm_, 2
- lan Wilmut - Scrimshow | loseph Lister | Pasteur Who :mroduccdthc method of single ce cell_p_mcm" -
PGk | ok | g | b | e Pl SILT S co”
Carbon dumd:. Nitrite Ammonia | Urea . Which product is formed duragg industrial nitrogen fixation?
| N N S . R R i T
S | etk oE | ot | ql(;;}u Jutsn FLL N2y fqu' 4
Uracil | Adenine | Thymine (iuamne C;qo:,me always payffr_ﬂ ;
#in | i« I iy ! """ !Jﬂ.g.hdh/:.{.hfd‘fu’bd-'vf: !DJ}"“" 5
Varieties |  Breeds | Hybrids | Cultivars ln amﬁ@gz&p tion, the bred animals arecalled: | “;
T iaa SEF TN i . f _
.r:.f.'ﬁ‘/.ul i /nf{" I 7“’:' | pre e -é—-f“i.’d /‘":\54\:':&5' 6
f"srlhrupml_!i__LEchinmlcrms Mﬂl‘l‘ll‘l‘l_alﬁ : r"tllﬂdfdt_b era[mn 15 common II'I. e NN
J7 ] i s ! "TQ @} = Jt?'t;c“:'r‘l:" 7
Water lilly | Onion = Dasheen APotate ‘The example of stem uberis: |
— er :A_u ™ -7;1‘_" 2 Do | il '
Sengf | Vel S bt : J'L. lur/l?:-d'{ 8
( hundmcywu | Lymphocytes | . Oxteocytes | The cells of cartilage are called: T
T i T et -
U 4 u(dbﬂ | U(L}’ﬁ | ‘lﬂ.d-ju J—J{f‘?‘]
Vestibule | Internal ear | External ear The : tympanum belongs to which part 0 ofear? .
L r-__l_--t’- "T T __.-&.
’ ,A'J —r J...':e..J ' iy ! -'H.." ; fre buun' s‘f‘" 10
| |
~ Embryo | Gametes . Gonads | Glands Testes and ovaries arecalled: .
e e e [ ; g et —
¥ | e L 4 e JES s 1
Cactus Seagrass ~ Funaria | Waterlilly Thc example of xerophytes is: B B S PR
—rT ! — i _
| | = T L 1 s |
1% | 3% | 21% % | '"--"'"-r"'-'"u ‘\Jc”'df*’-"”" ‘-—v’/l 12
4 = 1 |7 |Percentage of oxygen in the inspired airis: L
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1. 1- The drug which weakens short-term memory is
. sedative %4~ (B)
marijuana t2¢z (D)
9. The method of vegetative propagation in mint plant is by
corms 74 (D) leaves J¥ (C)
3. Last two ribs protect the

iver &£ (D) spleen J ¥ (C)

4- The respiratory surface in human body is formed by

cartilage é‘jb’ (D) bronchi Jlﬁu (C) bronchiole dzc'

5- The primary source of energy for all ecosystem is
water (i (D) plants < (C)

6- The outer region of spinal cord is made up of
neuroglia ?fu.é (B)
grey matter ,az_f (

kings & (D) queen
8- The name of an antiviral protein is N '/L\ /
insulin @2 (D) interferon 6;—;}&\ ©)
9- The expression of genotype in 1'm3\ f,?r S‘Qt\'alt is called
co-dofi noe Uil (B)
K ‘ﬁznowpe )
10 - Cartilage forming céﬂé}a\ra called
osteoclast -1 (B)
chondrocytes Ukt (D)
11 - Charles Darwin proposed the mechanism of organic
evolution in
1838 (D) 1836 (C)
12 . Carbon becomes a part of body of producers by
photosynthesis yﬁ} (B)

metabolism (4 (D)
118-(IV)-18t A 223-73000 &

kidneys S un/ (B)

«~ dfx:/frdjfr/\.abf? (Drug) \.fj
tetracyciine &2 (A)
morphine uré;l. (C)

E T S K@’-‘g'l{ 27, e LAl (Mint) o
suckers J/& (B) stem tubers Lc.é(-.p (A)

gt B b6 Ui 0 §FT
heart U (A)
bl 5!.5;‘}'{[{‘*1 9 (",JLJ'I
(B) alveoli GUsiSa (A)
& 243 Syvgad £ (*-J,g, el
arth =) (B) sun G (A)
o byt b o Uhs 1 a’wJ}

dendrites U5 (A)

. white matter )r"._.ﬁl, (C)

Eg’{}fl-w.ﬁifﬂr)urizf(&g’
Sf\ (\ aiH
workers /s (B) drons %3 (A)
et %’c}f:g A1 S

fiorin ¢[A8 (B) myocin  ¢£XV (A)

o bl A1 § RS e S (Trait) wc
dominance <Yy (A)

phenotype <* ] (C)

ot LKL ke By

osteoblast wtkxT (A)

osteocytes kT (C)

o o ¥ ) TL gt U

1835 (B) 1820 (A)
Dk e & 'o’(”f_ Ipthsg e
carbon cycle Jf’ Lensl (A)
repiration cﬁﬁl;dx (C)

...... oS by e 15
6’/—/-23

£u'fw’))&-dUJ/;}C.C@JLVLJ!F}'{QKL;W .-U"'i‘.C:j__—JDJJIC B:Ax
En 2 Ll ! 2 n;}Cﬁ uJﬂJd_;4;u{L¢.;4 ;ru:..'b ) e ..f (5_.1/‘:.- il
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BIOLOGY Paper: II (% W< Il o} JAGIE) 18t A 223 - () T 24
Time: 156 Minutes Group:1I OBJECTIVE - Ty - / [T
Marks: 12 Code: 7466 é; o) -2 - 23

1,

eyt

S
16 1

12 : /0

L R s e Sumd il Uy ¢ Q¥ iz LEDsCBAYR ,-FJ?L Jiv p o
K e 2 0l wmr S S S a8 L st bl e S - é Q?_LJGL £ o0 3l b

1-

10 -

11-

12 -

All of these are the parts of axial skeleton of human except Zlryr o f u“-’c’ S L gl pli
sternum > (B) ibs % (A)

vertebral column ¥J % (D) shoulder gir:'.lle JiSu2 (©)

Rhizopus reproduces asexually by 2k & t) gﬁ'};&; Jfrg'g.l S du
regeneration /225, (B) binary fission ®dFt )

vegetative propagation /="y #75 (D) spore formation () s (C)

Biotic component of an ecosystem is « 7 L\ b’r‘L/ 1L
air In (D) plant by (C) water 04 (B) light &5 (A)

The drugs used to reduce the pain are called ur Btk Lot iy .L;H’m
antiseptics ujg&,] (B) analgesics u‘c!ﬁi (A)

sedatives it (D) antibiotics %1% (C)

The gaseous exchange occurs in humans & tn ,J:p-ti’ ;_)r’-ér U uALl
alveoli u:JUfﬂ'.i (D) bronchi 9 JE-':/. (C) trachea (&L g (B} < pharynx s J?;’ (A)
The tube between kidney and urinary bladder is called . Ft\(& u&-.u Z sk $zad i
nephron ¥ (D) renal tubules g« va (C) urethra l,é:f (B) ureter f£u (A)

The base of food chain is always. ‘2“\\\‘-;;- ;-’_ ) & b 2Lk IR
plant 1y (D) bacteria | ,:? (@)1 (J / > sun {ur (B) animal .Jk (A)

An antiviral protein. mf/}\/“/ o ehrg S U
interferon  wl2# (D) insulin, ﬂ&{z () thymosin w0 (B) urokinase ¥ (A)
After fertilization in plants, the fruit dmfel&i&it };orn e U Sl £ P uny
ovary. ‘?‘\k“ e My Sdml B) ovule wall < As § Jpssl (A)

Q ’T'“’J anther = A4 (D) petals < % (C)

All of these are harmones except Ely gt i Pl
pepsinogen (/24 (D) glucagon oo (41 (C) thyroxin u‘LJU" (B) insulin d‘-’.v—"l (A)
An organism's expressed physical trait, such as seed E O E e ln b il
colour or pod shape Is called its e Jlkf iﬁd’
phenotype ..;.-Er" (B) genotype #Ur¥ (A)

physical type 7t/ (D) karyotype o#tZ (C)

An example of discontinuous variation is eJed ) s
blood groups ﬁ:fj.‘; (D) intelligence =3 (C) weight @» (B) height & (A)

119-(I11)-18t A 223-69000 5
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BIOLOGY Paper: II (% Ui <Iles JEGLE) 221 - (1) 1 9P Gl
Time: 15 Minutes (Group:II) Objective U":/' (w2 10) 222 15 :2]y
Marks: 12 Code: 7468 Q& J-89 2.3 | 12 :0%

L 2 e = B S &£ el Ll Jlr’ﬁ

cd¥dz .y L &apuic. BeAclz Kl Jyy sad

Enn B 2 odg ..:—J:‘J.Lfi/-.‘.rt’j,uéfuﬁl: b e LI Z S L IN L o 3 e

1. 1- Which plant was selected by Mendel for his experiments?

mustard (Us) 3> (D) rose JE¥_if (C)

Wby V&l feii Ju

onion Jk (B) pea /> (A)

2 - The amount of nitrogen in expired air is T C'uf M § Saft L $ v Bl sk
88% (D) 79% (C) 69% (B) 59% (A)

3 - Incomplete oxidation-reduction of occurs c;"’é; - J‘i:gf Tg_)"q: J e L}'f i u"-&}
in fermentation. & Qyz
glucose ¥ (D) lipids 4 (C) fats ¥ (B) proteins % (A)

4 - If somatotrophin is excessively produced after ele M cuffita l AEuEN
growing age, it causes e 2
tetany d’f (D) acromegaly J{fyg I (C) dwarfism (ilJ/hi (B) gigapti€m r'.ir.:.e-glg (A)

5- The process in which an unfertilized egg develops Sl & L Lo A kL1t A S
into new offspring is called e e the bl s

parthenogenesis «ﬁ'ﬁﬁk (B)

fission * (D)
6 - The principal decomposers of biosphere are - 1 (.
fungi & bacteria {26 i ) (B}
P
parame?il.iq:r <ﬁ,& )
7 - Which hormones are secreted by\oyp@ag?
glucagon /¥ (D) _tqﬁ{t%}gfbne W (C)
8 - Genes are made up of “{M' /
DNA (D) mRNA (C)
9 - The tube between kidney and uripary bladder is the
nephron s ¥ (D) repfal tubule Jr£ % (C)
10 - Antibiotic is a drug which stops the growth of
yeast <z (D) bacteria | 2% (C)
11 - What do some bones produce?
blood cells %2k (D) oxygen =T (C)
12 - Dengue fever is a/an | infection.
algal Jﬂ (D) fungal JL" (C)

119-(IV)-221-74000

propagation c}’-'g':; (A)
tissue culture 2 & (C)
U umdilen L B
virus U7l (A)

algae Lfl (C)

St 3/ v e g

insulin - 21 (B) estrogen /4 (A)

g lae @ -

RNA (B) proteins s, (A)

- (¥ dt wlen & Az o es)

urethra £ (B)
e oSS

viruses /s (B)

ureter . (A)
ey G N7
worms s (A)

ot Ok ULk A
hormones %} (B) mucous u’i‘ (A)
- U’H R o P UE‘J

bacterial J2& (B) viral  JZ1s (A)
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Marks: 12

Code: 7467
L ) nj-'w}hé:é)&b-d:dir,f{Qh’diﬁ _ujéé_:DnlCchAaUﬁJﬁ

12 : %

1. 1- RenalPelvis is a part of

kidney <./ (D)

heart s (C)
2- is not a part of hindbrain.
medulla oblongata u:@,u,:y (B)
cerebrum 24 (D)
He

Stem Tuber is an example of

potato #7 (D) ginger s (C)
4 - Yage of Oz in expired air during breathing

at rest is percent.

30 (D)

79 (C)
A coordinated action ends at

5

heart | (D) coordinator .7 (C)
How many bones make our skull?
24 (D)

7- Pencillin was discovered by

6 -
26 (C)

f//
Fleming 62" (D) Robert Hooke o 4z

Decomposers are é:@ Q\
A
mosses - (B)
Ny

- S
fungi and W 25§ (D)
9 - The alternative form of a gene is

8-

histone #= (D) locus J';’ (C)
10 - In which year Human Genome Project was started?
2000 (D) 1990 (C)

11 - is not a biotic factor.

soil (" (D) bacterium {25 (C)
12 - How many pairs of homologous chromosomes are
present in human cell?

56 (D)

28 (C)
122-(IV)-220-65000

K9 i -7 uﬁuﬁ.:dr'd’idf..;'/.:.biiiﬂféfu:}b ol e -.»g_.ﬁ.r;"!a. w_'_‘\'rLﬂL '

T

- ¥ Jj_j'{- L,F"'J
lung < % (B)

e S K s &

testis % (A)

pons »L (A)

cerebellum (’~'a,5 2 (C)
- J& g (Stem Tuber) s ff’

garic o7 (B) tulip Juf (A
ot n)"’g;l; s L d_.- LJJL-'J.&JG J.:——’,J

-9.)-‘{3 Jl'ﬁ-'(;cﬁ'f?

21 (B) 16 (A)
7N 1K o7
~& b m:} - (t}’ (L}gﬂ: W

response u‘:};{?\ ]‘-’3" stimulus J’:"’ (A)

% \'_'/"‘ | PO
axﬁk\@% S L ugs fdgﬁ;ﬁh
GEES
AT 14 (B) 22 ()
- 30 (Pencillin) o2 &

Darwin (s45 (B) Lamark A1 (A)

ot i g

algae L{i {A)

animals 5L (C)

- LPU‘JI;; L;ur-'-‘"

DNA <.} (B) allele I (A)

tfin Lo iy it Sn S

1980 (B) 1970 (A)

=9 uff‘?..ffé__,_

plant by (A)
Wt Znein E L porS Five £ 30N

animal ./ (B)

46 (B) 23 (A

e il 'JIJ‘,-; HO%
sl Sl g:fu::'

=1 %
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Biology (New Scheme)  Paper: 1T (% I12u) JEGEE) 220 - (1) Iz¢ (ﬁ‘-ﬁ') "
Time: 15 Minutes (Group: II) Objective Lﬁ/" {..ruf 13) L 15 1
Marks: 12 Code: 7466 12 %

Loene fum€érseelJrssd6d2 - £E4DMCBAYR F i L Uy s 12d
K e 2 ufd .:wr‘Ji..f.E FeW S il U wie K Es fe LA i 3 Jbe

1. 1- Expired drugs can cause damage to J’% S Kl S '-.?ulf;.:r -1 .1
-& bEE YL
stomach <. (D) kidneys s/ (C) heart J; (B) lungs Usa® (A)
2 - The design and arrangements for continuous Ul Al gfl:;i& L/fu’;":};)y -2
fermentaticn are
un-complicated »4%7 (D) impossible /% (©) simple L (B) complex +2% (A)
3- The study of interrelationship between organisms b & B (gl & JA L gisi ysisle -3
and their environment is called - .'if S
physiclogy Js47 (D) histology (&4 (C) ecology (Y€ (B) cylology GJ¥L (A)
4 - is the example of tertiary consumer. = Ji L.f/g}{;j,?) -4
hawk 1> (D) sparrows L2 (C) snails £ (Bl leaves z (A)
6 - In transcription, the specific sequence of DNA ncleotides 7 Jr‘; f. DNA i £ J‘#;"‘l} -5
is copied in the form of nucleotides. -ﬂ{@&{? - d"J T P §
RNA - polymerase (D) m RNA (C) 0«\3}, ) JtRNA (B) HRNA (4
6- The locations of genes on chromosomes are caﬂwijﬁﬁ aE _ Senl Rl penS -6
nucleotides ¢ 152 (D) RNA ;.l-*L,\qu}t:j DNA < lefl.d} (B) locus 7 (A}
7- Which method of natural vegetative Ireﬁc@:@f on e Pl UL 37 Uy u’-‘;'u 275 3d A s f F -7
is found in chrysanthemum. ,,.i."“‘&‘jv
suckers 35 (D) «ﬁ\m‘ tubers ;,{.u:r” (C) bulbs + (B) corms 24 (A)
8- How many bones are o\él\zed into a longitudinal axis Ut f”uﬁ SR AL (IyY quﬂ (?JLJJ -8
of human skeleton?
306 (D) 302 (C) 206 (B) 202 (A)
9 - Deficiency of which vitamin causes night blindness? T« J.rf = J Jr J B "L,.r > L
A (D) K (C) C (B) B (A)
10- is not the part of hindbrain. 22 KL s kil =10
medulla oblongata wfiksl lhis (B) pons % (A)
cerebellum (- (D) cerebrum (z (C)
11- In humans larynx is made up of etk J(A Juut -1
alveoli Jﬂ;’t! (D) cartilage 5‘5'!-’ (C) hard bones (+=* (B) bronchi JEFM (A)
12 - is the name of outer region of longitudinal (tEE dig L2082l s/ JUr 12
section of human kidney. ’ g
renal medulla s4 % (B) renal cartex (/¢ I
renal pelvis kB (D) renal pyramids JjiI2L s (C)

123-(11I)-220-62000

action of vaccines.
123-220-62000
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Biology (New Scheme)  Paper: II (% JWII o J:CJJJ:E.;) 219 - (I1I) I z¢ (r-c ) u’.jg

Time: 15 Minutes ~ (Group: I) Objective (% (o g e 15
Marks: 12 " Code: 7465 12 :%

L -‘.r".../»c...Lﬁu:zhéfc..:d.bf_'dir;{gffdﬁf ..u"éc..:D.ulC B« Aukliij.f_’.dlrﬁ %
ot sl Lr‘uﬂp’fuu'tfe_.f.;)’ufld.;:(w/bui.;r;...f ﬁ:/c;.uflrf'. .r(ul.'..ai#‘(fuv

1. 1- Hydraand corals reproduce by means of - / JCW a3 & 2 Ly -1 .1
binary fission 157 (B) | budding £% (A)
fragmentation utinds i (D) sﬁore formation /6. (C)
2. The cardiotonic used to stimulate the heart is called <t l:{'.gjl.-'-'-'l & o LF bz KK -2
- L'Ufr

analgesics 571 (D)  paracetamol Jrteis (C) digitalis 43} (B) aspirin ¢/ £4 (A)

3 - The waste material that are removed by coniferous o & Ui ):‘f ek ) -3

7

trees are called / s
muscilage f;";‘ (D) latex 2 (C) / ‘gums (B resins Zzs (A)
4- A network of food chains which are interconnected at  / Jp o1 ¥ 57 dor 7 & AT, M PP -4
various trophic levels is called / A~ - ru{

AEIO \

pyramid of numbers J/-,".JT..EI/’; {B)’/ biomass UL£L (A)
£

: (O
food web 537 (D) yr. @:Fglomass JL.{(;\.JTA!JL (C)
P )

5- The term "true breeding" means I 2SN 5 POV AL T

homozygous g/glmf (B{» 1\Y (J’) heterozygous IJ'QL.': 4 (A)
homologous J':’m heterologous Uf!'sﬁ (C)

G- product is used in the production 0 |cs = d:r JE Lk Lff' Ik .:fi!{ -6
formic acid 21£)6 (D)  acrylic agid o) }9 1(C) ehanol Jsinl (B)  glycerol Ji ¥ (A)

7 - The number of hydrogen bondg, \ n adenine Py d/u-", S22 s £ c):Ji.-'ml Lob -7
and thymine is (\\‘i jﬁ”’ ..q_.

4 (D) 3 (C) 2 (B) 1 (A)

8- The cells of cartilage are called o4 X é!’ -8
osteocytes U Ls2l (B) chondrocytes Ls.26 (A)
“matrix /¥ (D) lacuna t£ (C)

9. The special glands present in the walls of auditory canal 2t kB AE L s SILGRST -9
which produce. y -l
nerve impulse %17 (D) blood # (C) wax U5 (B) auditory fluid 58§37 (A)

10- In non-smokers who are exposed to second hand smoke < bt bl ¥ A L Usm SR i/rut &1 - 10
increase their heart diseases risk by L ?% ok o 22 ¥ Us /g St &!
30-45% (D) 25-30% (C) 20-30% (B) 15-20% (A)

11 - The material containing sperms and fluid is called i bl Ay J"" £ 550l ra =11
scrotum r}:/’ (D) semen < (9] follicles r“-" ? (B) hormones 7| (A)

12- Pons is present on the top of <tz lZ_  (Pons)7y -12
medulla s+ (D) cerebellum (5 (C) thalamus 4 (B) cerebrum (zz (A)

127-(111)-219-61000 £ ¥ Wa
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Biology (New Scheme)  Paper: II TV, 151 (O3 JEGE) 219 - (IV)

Time: 15 Minutes (Group: II) Objective (5

Marks: 12 Code: 7468
L Rene 2 s & szl Jyr

X i -2 0ii

1. 1- Micro organisms found on non-living objects are % G e ; S a,:h b= ke
g TR P e e -1 -1
destroyed by B
disinfectants iidSiiil .3 (B) antiseptics ,fﬁﬁfzr (A)
anaigesics tf‘:""d’-'l (D) antibiotics %L (C)
2 - Smog forms a yellowish brown haze and < O g o3 Sk R o N I 2
harmper visibility during. - J;fr:u# U(dsa ol
autumn Ui (D) winter U#s~ (C) spring ¢ (B) summer Uzt (A)
3 - The blood group of a person having genotype (ii) is - bt - S (uﬂ"’ Lis (i) F52 -3
0 (D) AB (C) B (B) A (A)
4- After fertilization in plants the seed develops from e bt .-_.;I;?&p’ L P L Ung -4
petals /% (D) sepals A (C) ovary f\\fs‘)"” ovule Jgst (A)
5- The neurons having one dendrite and one axon / ){'ﬁt}\ﬂ:"i Lhast 2203 LV LSk -6
are called /5{}} 2 - Zy
mixed 2% (D) sensory (/< Yz:p e inter # (B) motor A (A)
6 - The plants which live completely or partially s Lo P P Y Jg Wby P S L J; Ll -6
in fresh water are called ,./" ] ‘\iﬁ: N g '
bryophytes 61z (D) ’,4{% 'M'uw (C) halophytes U~ (B) hydrophytes uLGu,‘a{} (A)
7 - Destruction of walls of thééfyﬁis called il eyl te <5 K Uslys J Qugakt -7
bronchitis J"'E*u (D) pneumonia L¥ (C) emphysema L::d":f (B) asthma - (A)
8- A coordinated action has __components. Ut L2 L SE S -8
5 (D) 4 (C) 3 (B) 2 (A)
9- Which point of attachment on bone is pulled (e WYLz a7 S L -9
when a ,mu’scle contracts? fe U‘f
in;;nion J‘/l (D) extension J::'s I (C) flexion u”‘g (B) origi? ;-,E:J:I (A)
10- In flower stigma, style and ovary is collectively called . ¢ PEAS S Je b LA -10
carpel /¥ (D) stamen & () petal J¥ (B) sepal & (A)
11- The locations of genes on chromosomes are called wE_ Seel gy Lo/ -11
phenotype #t5% (D) genotype F&iF (C) hoes A (&)~ d R
I : by 12
12 - is an anti-viral protein. . . B
interferon a2 (D) insulne @2 (C)  thymosin ¥ (i (B) urokinase 206 B

128-(IV)-219-57000 (~1) T~ 1)— Iﬁ
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BIOLOGY PAPER-I GROUP-I M W,._ /- 2_9 Uimrs S Lrezd Eoé
TIME ALLOWED: 15 Minutes g 15 = =
MAXIMUM MARKS: 12 OBJECTIVEY s 2 12 =45

e L& e ofilL VA fidt Sl Ol Lgi:—mbgﬁu:}laip L Ly g3z B 2D HCBAWZF JeLir s
-rHJr;l-“-.fi.Eu;j;,C;:J:‘J}_.;::fdaﬂu;:fuﬁu

You have four choices for each objective type question as A, B, C

1 Ay

and . The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
B C B A QUESTIONS /=uy | Sr:No.
Vocal cords Trachea Glottis Tongue The organ which produces 1
XS 1y, S e sound is called:
LSS T ST
Lady finger Rubber plant Keeker Coniferous plant | The plant which produces 2
b (% ¥ /E( '-'-’Il,'.l.fr_{,‘:"f latex is:
ulgl'/ﬁ *{Latel) u.ﬂ::' A .Eh{
Axons Nerves Neuron Nephron The unit of nervous system is: 3
ki 3’ o o Pl ¥ Y
Elastic cartilage | Fibrous cartilage | Compact bone Spongy bone | Epiglottis is an example of: 4
g STy S 46 el e e Je LSS
The plant in which vegetative 5
propagz}tmtqkes place
Colocacia Yams Mint Bryophyllum | throughd wes is:
W gokl Y, 61 | URD KRSy Sty
& {:\‘ ‘ bl sl
) i
Fruit Pollen sac Ovary Stigma~ | The structure in which ovules 6
S Ll ‘ st ] "Q;&/ are fn}md is called:
i {;;\, -q-du.f BLli et g
<al)
\ O\' In Mendel’s dihybrid cross 7
N . .
AN phenotype of all seeds in F1
Wrinkled green Round yellow | W, llow Round green | generation was:
s f L AN Ems P L pm1 G ASL b
Y P : N
AN L BSuge
The genotype of blood group 8
i ?}‘ } . jl_ }F AB is:
! ..q_;ln.rfﬁf:.‘-’ J AB ?-af ik
Biochemical Sun Animals Plants The basic source of energy 9
reactions oy e oy for all ecosystems is:
=TT e AGBEHEL L i
Microorganisms used for the 10
Aspergillus Volvex Saccharomyces Bacillus production of formic acid are:
Sk Lichs bk Ve Jere A A nd Lok
Gl
Recycling of one tonne of 11
paper can save frees:
700 70 17 107 .*ﬁui:aﬁ_ffbrd;fﬁh’u?uﬁ
arEeii
Analgesics Sedatives Antiseptics Antibiotics The drugs used to reduce pain 12
u‘g kel ik O oA are called:
-l Jll\f.:.l_. widnd_/ (r a2

26(0bi)(7%)-2024(1"-A)-45000 (MULTAN)




Number: 3464 ( (oesla) - sioPISAgSE A
BIOLOGY  PAPERJl  GROUP-I AJTA/~2 —LY I,m_.r,f b - 2¢ A€

TIME ALLOWED: 15 Minutes

215 =

=3

MAXIMUM MARKS: 12

OBJECTIVE (%>

-

S f ech L SIS WL p s f WL Ll g p R L D A C B oA sl g
You have four choices for each objective type question as A, B, -&Mmﬁuﬂaﬁm Jok b Lfifu:fbn_t}a.

1 A

C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use Q.No.1.
marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zerc mark in that question.
D Cc B A Questions / =iy Sr.No.
Suckers Tissue culture Grafting Cutting This method of propagation is also called 1
J/ﬁ A.h’;-" S L micropropagation:
-G Sl w A VL siligan
Ovaries Follicle Birth canal Horns Where does male rabbit transfer his sperms| 2
Lozl . J’?} SIS = in female rabbit?
te trLA I I
mRNA Lysosomes Ribosomes Nucleosomes | DNA wraps around histone protein and 3
Mg TE Pty il ;-r.r,-,r.é form rounded structures called as:
| -rl-_,rMsfq. tﬁﬂﬂ}fﬂuﬁf:{uﬁ"‘ DNA
Artificial Natural Evojution Variations | Intentional breeding between individuals 4
selection selection fﬁal ; ..-.I,c:"T for certain traits or combinations of trait is
Sl staduR '
Host Parasite F’reaamr Prey ,Ag«i:rgffmsm that actweiy hunts other 5
st LAl fks g _f%w-u[gsﬂlsms is called: yUmls iye...fu;:;lml.g...ﬂ
' AL '\/"{{ - el g.t'):fic'.dﬁ""dk/
Energy flow Food v.feb Trophic level , Ifﬁo\g ﬁl’iém A network of all the feeding relationship 6
oA s} Jbss \*‘\3\}.'*-/'&5} in an ecosystem is called _____
H\oP bl Je¥a bl S
Risenby 34 % No effect Ri n«\\;& 4 % Declined In developing countries smoking rate has: 7
LA 34% | s ép:&,’,-u 54%| <l A TN AN
Uk Q\. S
Sodium ions Water Urea Glucose Which thing is not typically found in urine_e? 8
ATty & Lt A ¢ 0Ll By el T
Which nervous disorder in muscles does 9
Goiter Paralysis Tetany Epilepsy occur as a result of damage to the central
1 &b G Jr nervous system?  »EFUST 93 o
S bbb e A U =
Which hormone is produced less when 10
Thyroxin tnsulin Esterogen Androgen | reproductive cycle is stopped in human
d"(lﬂjti d-‘-’rjl ey sk females? SF L-f}ris,,;wu.‘.gf I$2
sefurilus Fe bl
Interferons Vaccine Thymosin Urokinase is used to dissolve blood clots. 11
S Bt o= Sl 3aia8hS 350 _;f.rﬁ;_fb?lé.ﬂi.}?fus,?éﬁwﬁ
Silver nitrate Sodium Sulphur oxide Ammonium | The powder of _____ is applied on wounds | 12
e b phosphate I nitrate  |to stop bleeding and prevent infections.
2ty O I ST SR (L NS 1

-3, J,L’I-AK-E‘-“ )"Lﬂ)":

28(0bj) (T IT)-2024(15t-A)-45000 (MULTAN)




PAPER CODE 2023 (1st-A) AL
SSC PART-ll (10th CLASS)

NUMBER; 3467

BIOLOGY  GROUP- PATA = 1 22 by w ) G
TIME ALLOWED: 15 Minutes .OBJE,GTME m w16 = &b
MAXIMUM MARKS: 12 . 120 AF

Ao | ﬁtﬁ}uﬂﬁ*&!mvmy I - u;}u.pﬁﬁ.:z.w:dfm (¥R L4 D A G B A ayu.-ﬁk.idum ot
{4 -‘E—-H.!l.ﬁf.’?ﬂjfgﬂ n.:-u;“i,r 4 I{.Wh -ﬁuﬂﬂwij’ 1ot L,dwr‘tﬁ.—f.; JaK | :Lf u.y'bup:.....y 25
Note: You have four chologs for each objective type guestion as A, B, C and D, The chojce -..;f ﬂw.:.rdb-
whloh you think is correct, fill that bubbie In front of that guutlan number, on busble shest, Use marker or pen
to hu the bubbles. Cutting or filling tyo or more bubbles will ra:uit In zero mark In that question. No credit will be

awardad In case BUBBLES arg not ’ud Do not solve questions on this ghest of osm}:'rws PAPER.
' A Ay

Q.No.1
(M Sewaga water I8 purlﬂqd-b-} the use of: . M JIF"'IQJ-&L./..J..-: :z,::‘ (n)

(A) Microbes :::fl. ) (B) Hormones ¥»u} (C) Bacterial enzymes ,ﬁfl'rl .-4 (D) Minerais * =

(2) Tincture of iodine 18 obtained frar?: -q..tw ol b '/ﬂ (2)

(A) Fungus & gl (B) Plants = uUsg {cp Animals e-Jutl

(3) During exercise the breathing fate may increase ula fo:

(D) Minerals ="~
l‘uﬂ-—fulﬂﬁ-—f-:w-f"—-tfw @
[ﬁ}]iﬂ Bﬂ tI Hﬁfper minute w4z 30 =20
(C) 16 - 20 times per minute e 20 e 18 fﬁk{& ﬂﬂ times per minute ..wd.fr 40 =16
owing I8 not an organ of homaoﬁtapjhi &) ‘nf.w,, ,Tu’g"' :;*:rl.rum.- .,.»: o S (4)

.Fa”/f;&vHaasi ) (B) !'ﬂdnev
Gl RO B P -;:.rlf-' (5)

m.f L () Exocrine glands .v'.,ru.—-{l

(A) 30 - 40 times per minule w02 40 &30

(4) Which one of the foll

(A) Lungs = % (B) Skin  »¢
(5) In chemical coordination, the o rdma;opi\p@.

(8) Endocqin pl;%‘iw’urf /0N {c) Spinal cord

(A) Brain ¢4
(6) Polliination Is 2 pro::assi\wﬁl}h pollen grains ard lransferrer:l 10 wiglri eﬁ,r)'u‘;._;:ja,..,, : _,F" J¢ (e:}
(A) Ovary ¢Ja!! ' (B) ﬁtyla Je - (©) O\ruid oz (D) Stigma Lr
(7) Actually, an immature piant is: | ‘:' “ il . -.;_l:;'é,;_g! WS (7}
(A) Embryo 1.4 (B) Endosperm Mnﬁ,g_!;-ifwj Ovule Jg! | (D) Radical g
(8) The parcentage of gparms ih semen Is: E:m_ ’ ' ..q..-d.vrﬁ.-!‘..ﬂ:‘ L u‘r (&)
(A) o4 15% B) 4 10% () A % ©) 44 80%
(@) The unitof inneritance Is called: ; af-J.-e‘i}:"J'-.nﬁiss (?}
(A) Chromosome - / s/ (B)DNA PR {rl:} Gene (D) RNA atile’
| mu{,,&‘ﬁ-',.-“;-ﬁ,:;)gf (10)

l'a an individunl is callect
(C) Heterozygous J:IT iy {I;'p Genotype ..,,
-.-.:-E'pf‘jtwd‘ YT ) }{: (11)

(10) The specific combination of genes |

(A) Homozygous J;f'unf (B) F'henotvp? ..,flir"

) conversion of nitrogen gas into nitrates |s called:

oﬂ,{l’g

(11

(8) Assiilation Pt

(D} Amronification o™ .-r"
TJLU’{.&.L r‘JrLJJ/JJ))':
(D) Bacterid Lt e

(A) Nitrogen fixatlon ¢/
. (C) Denitrification ;,.*.,_’i,idﬁtd j
(12) To fulfil their nitrogen reqyirements cafnivero
(A) Fungus &3 (B) Insests =~

us plants eat _owg o (12)

(C) Warms /4
[ ,
ey 1.0023018t-A)-50000 (MLILTAN)



[NUMBER-3461 SSC PART-l (10th CLASS)

BIOLOGY  GROUPA by - gt G
TIME ALLOWED: 15 Minutes OBJECTIVE Uﬁ/"..# 15 = =
MAXIMUM MARKS: 12 MTp - G1-23 12= A

Yo ;ﬁtﬁ{u@&bﬁ.,mwm;: A &si v E S fQVYR - HELEs D 4 C B A MRl ldrn  -2d
cag It Kl A B eurSL Sl Sty KrrPibhtrdb S §LSG S | LSkl -2
Note: you have four choices for each objective type question as A, B, C and D. The cholce .Qf;d"&:.l&r
which you think Is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A A

(1) In aerobic respiration is used. e C‘ﬂdb*"igﬁcﬁ,;‘-zu; sug! (M
(A) Nitrogen ¢/t (B) Oxygen uch (C) Hydrogen ¢7.%} (D) Carbon b

(2) Which organ is protected by last two ribs in man? ?usﬁf:Jch:TL/:JWJJﬁ ] (2)
(A) Stomach s (B) Heart Us (C) Liver £ (D) Kidney »/

(3) Which separates middie ear from the inner ear? __‘T%'Mfwfc-ulh’d-mb@ﬂkﬂ (3)

{A) Oval window J )(d:? (B) Malleus J-’I“ (C) Incus Jq 1:\: / ; (D) Stapes u‘i’

(4) Babies are born with about soft bones. (pﬂ\p.g?&ﬁj@p L }Lﬁ._—ﬂ?u_:z..ﬂld;{;.._.-a (4)

(A) 300 (B) 310 ©)) 350 (D) 330
A

{5) Yeast reproduces asexually by: R ﬁ‘\“’ _ ke Jmf"},{djd’r&.iud.y:_ (5)
(A) Binary fission *UAL  (B) Fragmep}a%tﬁ"m ., (C)Budding £ (D) Spore formation b

(6) Inside testes, where sperms are produc@d‘?& . SE UL ()
(A) Vas deferens (251 A‘H’ . (B) Sperm duct &3y
(C) Collecting ducts u”/jhﬁg} (D) Seminiferous tubules Jg£ Ky~

(7) When James Watson and Francis Crick proposed SN v DNA Lqu"UAlJ’b P (7)

the structure of DNA model?

(A) =~ +1950 AD (B) =~ +1953 AD (C) & #1956 AD (D) & +1955 AD

(8) In artificial selection, the bred animals are known as: AW el EL iSRSl S~  (8)
(A) Breeds Jki (B) Vector /’-5 (C) Cuiltivars Lh&r {D) Herbivores :«md £

(9) Which one of the following is the abiotic component of the ecosystem? ?§.L-ui:‘:z_f£‘,¢..lb’r""/ ¢ lc...;_;:;.,!_’ié,.u (9)

(A) Producers 3 (B) Herbivores imds  (C) Water Ji (D) Camnivores im(8

(10) Which one of the following plant is parasite? te Aphyoie SLils  (10)
(A) Pitcher plant A1k ,5- (B) Sundew #ir (C) Venus flytrap ..'.;.FJBU‘:-J (D) Cuscuta E;c‘(

(11) When was the complete map of human genome published? ?IﬂéGJMrP!-LuLJi (11)
(A) U2 +2000 AD (B) L£/2002AD  (C) ¥ +2004 AD (D)  +2006 AD

(12) Which one of the following is not an addictive drug? T§.Lﬁ)h.wf.5..ufluuf¢-..;£;t3@n (12)
(A) Sedatives % i (B) Morphine A4 (C) Codeine ¢4 (D) Tetracycline c2¥4L1%2

26(0Obj)( ﬁ'}-2022[ﬁ.)—40000 (MULTAN)



PAPER CODE 2022 (A) | /Pt A
NUMBER: 3466 SSC PART-I (10th CLASS)
BIOLOGY  GROUPHI - gaf B

OBJECTIVE (%0 e 15 =

MAXIMUM MARKS: 12 M7y 2123 12= AF
Ak | A3 L rarneifp pIELémsi L JrpgQ¥3i% < BELEs D 4 C B A cARMg Ly 27
(24Ut Ko 2 S Sol Sts P tindlbfoeurnSE S Sk | LS smie il 255
Note: you have four choices for each objective type question as A, B, C and D. The choice ..L,l_'f:d"):fefﬂtr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit wiil be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
st L Pu A sl L0GL Sl (1)

TIME ALLOWED: 15 Minutes

(1) How many hydrogen bonds are present between adenine

and thymine?
%‘3 ®) 3 () 4 (D) 5

(2) Allele which is not expressed is called: A(ON bl ERAK (2)
. ,rx;,_f. |
(B) Gene @‘éﬂe&i{ﬁg\ﬁg (D) Locus /7

(3) Lionis: G )

%

(B(‘Camivore m:'f_;if'i ‘;;_IIJC'C} Omnivore (5 (D) Decomposer bed 5

(A) Dominant &uiseyd

<2 @
(A) Herbivore sz

(4) All are carnivore plants except: ; ,Pf\\”} - HETCY, P J{JJJJJ&'..,.I (4)

(B) Pilir‘]g‘;ia}a’ﬁ}étg & (C)Venusfiytrap e 2diuds  (Bf Cuscuta e~

op D Sl shtT  (5)

(D) & +1970 AD

(A) Sun dew #is
(5) When did lan Wilmut produced thaahbep lsally?

Mé +1997 AD U (8) o 41987 AD

(C) & #2002 AD

(6) Antibiotics are used to Kil: gL Liad JEE @)
(A) Virus U7l q@cmria LAk (C) Alga & (D) Protozoan wsidy

(7) How many pairs of ribs a human body has? eI Zﬁuﬁ;ﬂ()ﬂw (7
(A 2 (B) 10 () 5 12

(8) Percentage of water in human urine is:

P U

(8)

(A) T0% (B) 75% (C) 90% (0 95%

(9) The smallest bone in human body is: -q_U%Jr'.’:--.-*uﬁ(’Gl-ﬁ (9

) Stapes ¥ (B) Malleus ¥ (©) Incus (D) Thigh bone Sl

(10) Cells of cartilage are called: _@LU{M@L_: Sl (10)
(A) Collagen ;yaulsS : E%hondrocytes UAk€  (C) Osteocytes U b3l (D) Tendon i

(11) Vegetative propagation occur in Bryophyllum by: i‘q_Jm*‘r.dﬁuf w’-"g:w g’;uﬁfc'ifl.c (11)
(A) Root < Stem ¢ (C) Leaves = uU#% (D) Seed <&

(12) Whose part is style? ?q_.ﬁ&/fﬂ:- (12)
(A) Sepal J¢~ (B) Petal ¥ (C) Stamen ol @(ilarpel J¥



PAPER CODE 2019 (A) PR g A
NUMBER: 3462 SSC PART-ll (10th CLASS)

BIOLOGY (NEW SCHEME) GROUP-Il  (2015-2017 ¥ ) 1 oo/ (&€ 2) 347
TIME ALLOWED: 15 Minutes OBJECTIVE p"';a/'.-n? 215 = =
MAXIMUM MARKS: 12 12= AF

A B SIS IE L erne b WL s L gy 38317 L L3 D 41 C B A b Ly )
{242 -fz.t,g;u:i-,’&/;ﬂ;m‘\ﬁ_ﬁj ):JJ:'IJ -fﬂaﬁﬂyﬁuﬁyﬁmxﬂfi.): Jo¥ L LS imbic L .=
Note: you have four choices for each objective type question as A, B, C and D. The choice -;z.r‘:.:g,”?ff.;. Uiy
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) _____ blood vessels surrounds the Alveoli.

(A) Artery ($4T (B) Arteriol Jy AT

A A

SR SE Jug b

/'{A‘\
(C) Capillaries 74~ m@eh o
@ _?_r,gr!}' Uy [‘,ﬁdjsfa.u"&u'

(1

{2) The weight of human kidney is nearly _____ grams. . \ (2)
(A) 110 (B) 115 (C) 1 \Qgﬁ 9 (D) 127

(3) The largest part of Human brain is:- ,:\ﬂh@\) TN § Ll {3)

s v

(A) Forebrain f<.¢ (B) Midbrain q;:.:‘:\@é] Hindbrain ¢/ <% (D) Medulla Usiv

(4) Osteoporosis is a disease of - | ;\Q et g s (4)
(A) Bones (Juz4 (B) K SN (C) Stomach (s (D) Brain ${bs

(5) The myelin sheath is fg\n?o@@}}ww g der g 22 H (5)

(A) Dendrites ~L.%5™ (B) Axons 141 (C) Nodes of Ranvier jzs:/»37/37 (D) Schwann Cell K1

(6) The scar present on Seed Coat is called:- -g.tﬂffwtﬁ;mﬁf{éf.? €)
(A) Micropile Si+.F.  (B) Integument i y&utst () Hilum o184 (D) Ovule Jyss!

(7) Rhizopus reproduce asexually by:- --g-Jﬁ:- —-— W Tt BN (7)
(A) Binary fission ¢*f~| (B)Budding £%  (C)Spore =% (D) Endosp-ore e !

(8) The scientist presented the Law of Segregation. _L_JL?_#J;}&HL il (8)
(A) Mendel JZ  (B) Newton (% (C) Lamark AU - 4 (D) De Devi 53

(9) Theory of Natural Selection was presented by:- ) B Vs . A d.d (9)
(A) Aristotie s (B) Lamark iy (C) Darwin st} (D) Malthus 4

(10) ______is the Abiotic component of Ecosystem. e 2 K £ (10)
(A) Plants & (B) Animals .5 (C) Decomposers i3 (D) Water (i

(11) The complete map of Human genome was published in:- adet _ SWemdo ()
(A) » 2002 (8) 2004 (C)» 2006 (D)« 2008

(12) Mescaline is obtained from a plant:- et P Lifes  (12)
(A) Datura I} (B) Cannabis 4 {C) Morning glory d”f..ﬁ;L (D) Cactus -fgr

28(0bij)( T¥)-2019(A)-29000 (MULTAN)



L — |

BIOLOGY (NEW SCHEME) GROUP- ( 2015-17,2016-18 ¥ ) i - s/ (& £) Go¢}

TIME ALLOWED: 15 Minutes OBJECTIVE (%o e 15 =
MAXIMUM MARKS: 12 12= AF

e ch b SISl el L s\l Jrp g QW37 < BELLs D 51 C B A Nl -2
1) O f SISl Sty P trsdbfoanSL S Sk | LS il <25
Note: You have four choices for each objective type question as A, B, C and D. The choice -;{f;rd"):q.r.-mr
which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
incase BUBBLES are notfilled. Do nut.;n!ve question on this sheet of OBJECTIVE PAPER.

Q.No.1 -3 /:‘Ufr
(1) Optimum temperature for the growth of seed is:- etz i il LHSSE (1)
\/@5—3&: (B) 35—40¢ (€) 15-—20c (D) 35—38¢

(2) In human cells the number of homologous chromosomes pairs is:- - Jmlﬂ;fu;}x&)'ra/uf}mu:}k GLJI (2)
(A) 26 (B) 25 () 24 ,/._23

(3) _____presented the Law of Segregation. / /\J_j ,LJ’L,E\:J-'{).:JLU (3)
(A) Lamarck &L @(atson Lo ke Mendelg,jgg {;?-”J (D) Darwin L st}

(4)" The R3" means:- 4 l/a%{‘f\:f’: | -6 4f “TheR3" (4)

; A

ole thsTbedn (D) Refuse LUK
RSP )

(A) Lamarck &L (B) Darwin Lu;;.:iﬁ‘] ir Alexander Fleming Lﬁi:ﬁﬂ/ Robert Hook w4l

(A) Less use J&1f  (B) Reuse JiF oty

w

(5) Pencillin was discovered by:-

(6) The enzyme used to dissolve b@@ﬁ&é’?x- -g- b L L0y AL yrfiz (6)
(A) Thymosin urrJ‘.i : L;;;rése ;:.Ju (C) Insulin uf.r’l l{fﬁ -Urokinase P 1)

(7) In humans, the gaseous exchange occurs, in:- /‘ _q..rnJ:pKurfpduLil (7)
(A) Pharynx AU~ (B) Trachea JiLE/ !@anchi Lo (Im/ Alveoli 21y

(8) The name of tube between kidney,and urinary bladder is the:- -‘;thb’dtu}w:ﬂﬁﬂ:djﬁxpﬂa.rf (8)

L Ureter .y ram:a Ay (C) Renal tubule Jz£% (D) Nephron s ¥
(9) Insulin and glucagon are produced in the:- et AR (@)
(A) Hypothalamus (e us Jugisgsla (B) Anterior pituitary u6 257221 (C) Liver u:).: ncreas LS

(10) The smallest bone of the human body is:- Sl (10)
(A) Incus 1 &Malleus el ) Stapes U+ (D) Cochlea L¥¥

(1) Maturg-one cells are called:- RLWEELSE (1)

st IS pusli (D) Spongy bone wfx
e b LSn  (12)

(12) Ovary js ripened into:-
&S«aﬂ (5 (B) Flower J# ruit & (D) Sweetness

r'n - .

&ﬂ} Osteocytes u“'fw:”:! @ Cartilage gl IS (C) Fibrous cartila

—

. e 26(0bi)( YT ITTX)-2018(A)-41000 (MULTAN)
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BIOLOGY (NEW SCHEME) GROUP-II( 2015-17,2016-18 o/ ) Iym - wuf (£ 2) B¢y

TIME ALLOWED: 15 Minutes OBJECTIVE (37 e 15 =
MAXIMUM MARKS: 12 12= A

aof | ALt erne fo UL s L N g Q8% - D 4 C B A 2R Llirg 29 2d
(a4t Koo A oS Lo sty M pndtifoamSLSG Sk | LSl ffi G/

Note: You have four choices for each objective type question as A, B, C and D. The choice ..u:f.a.!".&.:.uw

which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Tobacco smoke contains over chemicals:- -q_..]mvﬁ K g Lnld [ (1)
(Ay 50 jﬂ‘)“/m} (C) 4000 (D) 500
(2) The functional unit of the kidneys is called:- £ Jmf{jn._";_w&_,f (2)
(A) Neuron ¢l (B) Ribosome (vl ;Qj’ﬁé;hron By (D) Ureter jg
(3) Body synthesis rhodopsin from vitamin:- et ey hu’f()- (3)
® K A )f)/ﬂ G \“ﬂ © AB
(4) Eyes of dogs and cats shine due to layer:- " “x:if\ n] & ..u'd;' ;.;’J.ﬂf u“{ FJurb:li (4)
(A) Tampenak &’ Tapetum ## © Tappmfn ﬂf’ (D) Pleural .z
(5) End of muscles attached with moveable bone is callqggl, \5‘ -.‘I—_-:u,f' u;..'::ri?.il.-ﬁd,}.f/-?.yb’ﬂ" (5)
" (A) Origin ol (B) Flexor /‘” ) @Tnsertion ¢ (D) Extensor A4/
(6) Transfer of pollen grains to stigma Js caliéh'w\ +?Mﬂﬁb"!’)&:@{ (6)
(A) Germination *¥Z (B) Regﬁduchon Pz (C) Fertilization o112/ /(s}i'ﬁ;ﬁ;nation ey
(7) A mature ovule is called:- e tlpizd ()
Wr’ﬂit S (B) Tuber £ (€) Seed & (D) Bulb -t
(8) _____ flower is not found in Four O clock plant. el S A (8)
)(A'J/Pink colour £} (B) Red colour £, (C) White colour .4 (D) Blue colour &1
(9) The number of hydrogen bonds between Cytosine and Guanine is:- -« Jm!ﬂ&‘;iw’wg}wynﬁuf lf:s!g;:’ .FJL« (9)
Three & (B) Two » (C) Four /¢ (D) One i
(10) The study of the interrelationship between organisms and their -1:.tUH:JIL»'E'aWﬂuyxﬁdﬂ.éubﬂunm{ (10)
environment is called:- e
(A) Cytology Ss/#L (B) Genetics J@‘ (C) Sociology G/ (B) éulogy G
(11) The complete map of Human Genome Project was published in:- WV dl}_.‘-ﬂ"-’}};(.u:—?l,;r:’-.'fy‘:j (11)
(A) 1978 (B) 1970 (C) 1944 _AD) 2002
(12) Momhiqais’ﬁ’répared from:- ...‘:.rlgy}gfc&;l. (12)
(#) Opium (5! (B) Fungi ¢ (C) Bacteria | 25 (P) Foxglovef” 6

MTN 1o .~ —)C 28(0bj)( T¥)-2018(A)-28000 (MULTAN)
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‘Paper : Il (Objective) 1% A.Exam. 2024 | Growp-1 orjos/ | (goge) I : 4pyy
Time : 15 Minutes SSC (Part - 1l) e 15 0 dy
" Marks : 12 Session (2020-22) To (2022-24) 12 ol

Bua;?arztf

s e fumd ezl Ll iy e 2 Jr fqr(yz;f;,ru.f‘-' R | f.,.lfu’-ibaie,;n.c-'a Azl iy ;2 F & g
Eri bzl i b S S LS LT imlie Ll Lo A S S TAS

Note : Four choices A, B, C, D to each guestion are given. Which cholce is correct, fill that circle In front of that question number on the
Objective Bubble Sheet, U:e marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that quesﬂnn

Which type of Blood Vessels surround the Alveoli : L{!dm?f)"' u-hf v u'(,ur L’Jugér | 1/J Jir
|
G )

(A) Capﬂlanes .4)")/ (B) Art:nules J9IT (C) Veins % (D) Arteries 24,7
The average lifetime of donated K.ldnc}r is : .;.Gn I sl :'_.Jf éd_:.:kf @

(A) 5-10 Years (B) lO—-lSYeara (C) 15-20 Years (D) 15-22 Years

In eye, Rods and Cones are present in : u_tl.mfrk .ﬂ( J:hi{.r(ﬁf T @

[}
1
|

(A) Choroid 1/ (B) Sclera & (©Retina s, (D) BlindSpot &f-Fuk

HyalmeCamlngemfoundm : r:,-l_.l:'bLL c.l.l.u _,'..TUJ.ILI:.L, (4) l
(A) Eplglottls u":‘lﬂ (B) Pinna & (C) Trachea kr) (H)ﬁtervertebml Discs u‘; JJ/';: YR

B AT L VeSS Vb 10 PP P . T
P HJ i

Whmh unclsmnlemprodnctivepmofﬂowa : X ,\"\ ) ) ‘F"""’r ,.au,g;, KU | (5)
(A) Caylx A ® Corolla u/ (© Andmebiuiﬁ (’ma: (D) Gynoecium ,"' O¢

it ——— i g T — __.«i \‘_

Which of the following repruduces by Buddmg \ - ;r/ Jih ,gJ{_;}ziJ.sL-*uf Sy (6

(A) Yeast &z (B) Bacteria gﬁé 5:‘:) Planarian ¢//% (D) Amoeba kI

_;\_, * e e e e e ———— .———.______..__...__..___1.__

Q¥ <. q;rby’a-llb#rdl;:uﬁfbb'u&ﬁﬁrt! @

.--\

The branch of Biology wh\cﬁdeals with the study of Inheritance, is called : .

(A) Physm!ogy I,UL/’ (B) Hlstology U’-:’r‘f (C) Anatomy Jtl (D) Genetics Uﬁ.'.""' J

Cytosmeformnpwmth : .5;,,3;;; B2 oL ¥l (B)
(A) Adenine u:gin (B) Thymine ._-;:Jm? (©) Uracil J’u.g (D) Guanine o215 ;

Which one of the fu]lowmg is an Ectoparasite * q..L-'f .fb!,ar( ..f .-_.u:!ui (9

(A) Ascaris (J ;(’ I (B) Lemh -f.? (c) Tapﬁworm rJ.l-.;.- (D) Entamoeba (22!

The primary source of Energy ﬁur all Ecosystems is ! 4_.;{;:&!}!5’&;!4!_‘ /r" ,flr{;' (1 0
(A) Sun Gor  (B) Plants & (©) Water GL (D) Electricity &

In Genetic Engineering Plasmlds nreusedns : ujLnde‘l ;.\“;L!{-,JJA?,I._G-"’Q a1

(A) Endunuclease ‘c‘.:fu-:i (B) Vector /fs (C) Ltgaae /’Jﬂ (D) Donar /s

Which Drug is Sedatives : :;.@," s skde| (12)
(A) Paracetamol Jrlsizs (B) Tetracycline u.‘l? Lig

(C) Cephalosporin s A&~ (D) Diazepam KI5
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e —

The number of Carcinogens in Tobacco Smoke is : : ﬁ'_.JiJ-Jl! 3 o 10 gf;':ﬁf I.} l 140
"(A) More than 40 £1j<-40 (B) More than 50 450 ' €)
(C) More than 60 £1<-60 ) Morethan70 <70
The major cause of Kidney Stoneis : - i .—l-_;;d}&j_;;;dz_;} ]: ‘; .
(A) Deficiency of Vitamin A SSetrts (B) Excessive intake of Vitamin B (3:L{{ iog? !
(C) Excessive intake of Vitamin D JJ&;J&J ¢ (D) Deficiency of f Vitamin E _@i_;_f b jr o
It Controls Thinking, Intelligence and Emotions : b et S P sy s @
(A) Corebrum (e (B) Ceorcbellum (o (C) Thalamus "4 (D) Pons 7y, |
The number of bones in Pectoral Girdle is : % :‘\tH}n;fﬂJ U{#U-:JJ f Js ,!f: ! (4_) i
W2 ® 4 © 6 ® 8 , |
Method of Asexual Reproduction in Hydra s : '23\ W \ PP il ,gu:um! (5)
(A) Parlhenogeneais ﬁ"i'r"? A &Bl R'ggé:;mnun S 4
A Y R
Root develups from___oftheSeed : ¢\ r\ )~ «,—.J“ -=----£-§ Z| ()
(A) Radical £4  (B) Plumule_ m (C) Epicotyl JH¥§! (D) Hypocotyl J¥¢y !_H B
< ‘iﬁ ¢ Enea/ W PSS P LS 2 L D

A person having no antigen mhhe blood will have Blood Group :
A A ® B (© aB (@) ©

A cross in which one character is studied is called : q_t'ﬂ#’ U’m?d..lrkﬁdlk*b’.—f:" Lf‘-f L,!.‘.’._rlf Jr N | (@)
(A) Monohybrid Cross /1./3|J» (B) Test Cross (/1. /e I

() DibybridCross U138 (D) BackCross u1/fe S
Itis an example of Secondary Consumer : q.dﬁ'_fldl fw.u'f*.f r

(&) Fox 7/ (B) Lion & (C)Leopard Gy (D) Owl A L_ |
Formation of Ni untes and Nitrates from Ammonia is called : : ekt WA Zeal ) Frairl If 10)
(A) Assimilgtion === | (B) Denitrification @Q‘}'Fdj .

() Nltﬂﬁcﬂhﬁn_c:fj? g (D) Ammonification ut_f% £ !

It cuts Genes fromDNA ___ © ;_9!’)-’;.;*_!1{1-63- ‘ “ 1)
(A) Ligase 70 (B) Endonuclease 7¥¢s%s () Urokinase ¥y (D) Lipwse 70y
Diazepamisa ___drug @ 4..m....1-|.d,g-ﬂ| (12)

(A) Analgesics u‘{" i)’:r (B) Antibiotics uf AdH (© Sedatives J%4 (D) Vaccines f.’-(:'
1Ag20480%¢
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et 2L i Lyl —— e b ob PUR | 1A E

The Respiratory Centre is sensitive to the concentration of -—— Gas in the blood : (1)
(a) co, STk (B) NH, g1 (O O, FT D) N, P

Cactus is a common example of : b et u’“‘( (2) |
(A) Halophytes /s (B) Xerophytes Ssg) (C) Mesophytes 50 33+a (D) Hydrophytes Nad 6232}

The Unit of Nervous System is called : e du” e r"" Vil (3)

(A) Gene ¥ (B) Nephron /¥ (C)Neuron @l (D) Enzyme {;'I;?:I

Mature Bone Cells are called : 'fj. Y 4 X i d& (4)

(A) Osteoclast &-f-T (B) Osteoblast e ks>T (C) Chondmcytes u%.uﬂ' (D) Osteocytes (%lsT

lll P
The process of Multiple Fission is found in : <_ I ¢-blll Jr¥ by et (5)
(A) Amoeba __ .4 el (B) Paramecium UC«[‘F" G jC) Planaria Vo Ligsialy (D) Yeast (& oy

-*(} ,.glu-q.d.ﬂ 35S0 ) 33 By 9. s WD g0l ! (6)
In Bryophyllum Vegetative Propagaihm, ,;s done by
(®) Stem ¢ (B) Lﬁa;hei % (C) Seeds i (D) Spores iuy

Mendel Selected which?lknt for his experiments : Y (a:{fiﬁm}fi’rll.dﬁ:‘ (7)
(A) Rosa Indica kil (B) Pisum Tubersum f'.eff'i.
(C) Pisum Sativum ¢k (D) Solanum Nigirum £/

In Artificial Selection,, the Bred Animals are called : b LW Jasa) dup LS| (8)
(A) Varieties iy (B) Cultivars Jds¥ (C) Breeders Lis (D) Breeds i«
Abiotic Component of an Ecosystem is : | P o gaS D u ¥ AEI 9)
(A)Water (3} (B) Algae #(© Rose otf (D) Frog S

An example of Perfect Biogeochemical Cycle is : D el Ldpnud, | (10)
(A) Nitrogen Cycle (FiA#t (B) Carbon Cycle S

(C) Water Cycle A2y (D) Oxygen Cycle ST

Ethanol is used in the production of : e bl S O Qs | (1)
(A) Plastic i (B) Soap ¢l (C) Vinegar  J» (D) Rubber 2

Dt b G ST SBLG pasan| (12)

Infections against which Antibiotics are not effective are called

(A) Amoebic _Sial (B) Fungal 2 (C)Bacterial (2% (D) Viral Ui ﬁ
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Note : Four possible cholces A,B,C,D to each question are given, Which choice Is correct, fill that circle in front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question.

In Normal Circumstances, human breathe per minute : : f.fa'uj b pus Lol 2 e e it ] 1400 |
i

(A) 1620 Times 2720 16 (B) 30-—40 Times 2/ 40 = 30 1 |

5

(C) 16 —~-30 Times .2/30 e 16 (D) 20— 30 Tunes 2730 & 20

Chest is made up of Chestbone called P e dw’ 7 el § ety du' @ |

(A) Keel VEJ (B) Hyoidbone uJ.l.‘J_fTJlr (C) Rib Cage A ¥ U3 (D) Sternum rj#

LRSI R

Types of Neuron on the basis of their function are : DI v e WL K] (3)
w s5 ® 2 (© 3 @D 4

The By - Product of Photosynthesis is R ...ﬂ;{ljl- ¥ /dﬁj:' @ |
(A) Carbondioxide Caa uf ﬂb-rfdl:u_ﬁ.rf (B) Oxygen Gas :_/":}xf T (C) G‘ﬁ:m&g 1155 oiS (D) Water dL

Which ONE of the following is a Unicellular Fungus : \_5:\‘ O .,-...r@bh}g..c ibgie LS| (5)

‘sen,

i
(A) Yeast oy (B) Sponge b (cpfﬁira/ 1,43, (D) Coral Jof ;
A good example of Discontinuous Varialion; h{\ > : q.d'."ru"l.f Y @M (6) i

(A) Height 4 (B) Weight UJJ /(Q) Intelligence =/} (D) Blood Group lﬁ:):dr

The name of Protein present in. C.‘hr;i‘;:'naun\Material is (b8 Brponr B SRS | )
(A)Insulin 2o @Lil\émoglnhin w# s (C) Histone g4+ (D) Fibrin o6
Tulip, Onions and Lilies are examples of : s sy )
(A) Rhizomes ( 10U (B) Bulbs J 3 (C) Tubers § 22 (D) Corms  pof
;e Thickness of Biosphere is about : D L e dnder J A% 0)
(A) 16 KM. 3%¥ 16 (B) 20 KM, 3% 20(C) 30 KM. ;;.:,b’ 30 (D) 40 K.M. ij{ 4{1 IIIIII
Digitalis is obtained from : D et pald 23| (10)

(A) Fungus & o5 (B) Algae & i (C) Bacteria & £2& (D) Foxglove = A%
el daigl] (11) |

Acrylic Acid is used in the production of
(A) Vinegar Jy (B) Printing & () Plastic £ (D) Soap il

In the base of Food Chain, there is always any : Poe b Jf 24 ol J 7 (12)
(A) Primary Consumer /ifdﬁ{ (B) Producer gy
(C) Secondary Consumer /ﬂ-"’d:ﬁ? (D) Tertiary Consumer /{7{6/"}

D/’? e S 88 o S
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T .. ]
A thick Muﬁﬁlmctum beneath the Lungs is called : .&'..t'lglf'/ =3l M J.r' i {.r':.u:?‘.'; P 1,40

Ep:cardmm f§' (D) I’ertcardmm fub’d,ﬁ (C) Perituneam ﬁﬁdﬁ (B) Dlaphragm rf}Ui(A) 1)

What do some boney produce : Y Ok g UH (2

nygen o

T

(D) Blood Cells <it (C) I-Iormnnes i (B) Mucuus S (A)

The number of Pairs of Crynial Nerves in human is : :,'_d:r sl J iz L Qe S ubl (3)
i |

31 (D) 26 (© 12 (B) 10 (A)

Which Plant removes Resins as w.

q_WuI.rlidl’ f_,;w ugl.,-uf (4)
Conifer 3,5 (D) Lady Fiyger ASe (C) Keekar £ Tomato A/ (A) '

h....---. -

Yeast reproduces by

\1\ %’g’u ¥ ﬂ’-f"' 4 L_...u.q_ (5)
( 'C
4 (B) Binary Fiss,lph/ —ad sy (A) |

By
5 (D) Mu[tlp}t }lsﬁlﬁn u" del (C)

|L'\: Vi

aiﬁ}aiggﬁed : .;..l'lkf J'(.Cr Lf.r“ r_,....s-gﬂ )} ..f (6}

_Genotype /1 (D) Homozygous M&w”d Karyotype 7t (B) Phenotype it (A) | "
\”‘"’ | q;.dhr.:?.ﬁu.’.‘if 7
Uracil .J”ug(D) Thymiiagj ..;:!u (© Adenin u.*u’;-i (B) Cytosine ¥l (a) f
.;.mf/f-ruf. (®)
Androecium (S (B) Gyhoecum  £%0¢ (A)

Calyx J‘g (D) Corol

Budding

Fragmentation

Guanine always pairs with :

The Third Whorl of Flower is called

=

U :/ {C}

T

The Primary Source of Energy for all Ecosystems is the : D Wil d:l.-t ¥ g 2L, peSidaia ﬁl rl.i (9) _
Moon 4p(D) Sun {wr (Q) Sta:\ub- (B) Soil u" (A) _

Who discovered Penicillin d’ s 4.;/ § (10) :
Joseph Lister  AL3i2 (B) Alexander Flemming \ %2 (A) l [

Edward Jenner @ist! (D) Charles Darwin -:.rfiudk (©) : .

Which Enzyme is used to Dissolve Blood Clots : - gt i ol L3 S b £ u;: 1)
Thyroxin d“LJlj (D) Insulin cf.{,-jr (C) Urokinase J:’me_' (B) Thymosin Y+ (A) '

Which is the Abiotic Component of the Ecosystem D o 2N ¥ (*-;g, (12)

Oxygen u’:f [D) Carnwure mJ,:'ui' (C) Herbivore .z (B) Producer
" B RS, AL S SH——

R o i e e - = - - ¢ = - —ru-ur.n-:-—-J
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Most of the Gaseous Exchange in a Leaf occurs through : : c_.l.'m;..ul.f Sl b (ur‘-r L2 = lﬁUlr i;
General Surface ﬁ‘k (D) Lenticels X LFEJ (C) Cuticle J’,{ (B) Stomata b5~ (A) (1)
s bR o Lol ety £ gspsl (2)

Which would NOT be present in the Filtrate entering the Bowman's capsule of Nephron :
Urea L, (D) Blood Cells ¥4 (C) Calcium lons ,}-"’T‘(-)-'r (B) Water d'; (A)

A & o
Qbﬂ:ﬁ&k}"’ & anins ) 92 ¥ J!IA‘AJ.,_;SJIJS" (3)
Which Component of Coordinated Action receive Informations from Receptor

Response (/L2 (D) Effector iSayl (C) Coordinator Z$L7Y (B) Stimulus U (A)

The Myelin Sheath is formed by  : A r}ga‘th S g ol (9)
{ N,

Schwann Cells ui# (D) Dendrites (L2} (C) Axons #1550 (B) Nodes’ (ﬁf‘,\ﬂanwer A 251337 (A)

i
i i ]
s —

]

How many Vertebrae make Vertebral Column in human gx\\q‘ffﬂ 23 Z WS sy sl (8)
8 (D) 26 (O 24 ”\'\ (A
LD o et F T Fogs| @

Which process of Asexual Reproduction requwgg if/lé:r) piants
Tissue Culture _/Irf (D) Clnmng\“.é}{ (C) Cutting i (B) Grafting ...é'!)‘ (A)
& "?\T‘Zrh U AL i fodls sy gy BV U LigliS3] ()

Which Nitrogenous Base forms tgaclr"émh Cytosine in DNA

Uracil Jy ([;)\ "Adenine  ¢£064 (O Guanine I (B) Thymine 207 (A)

—_

===

Which is unit of Inheritance : D oeuwd 0 el (8)

Gene ¢ (D) Nucleosome (2 (C) Allele (I (B) Chromosome prrst ()

e 27 S A1 (Coyote) U2 e e @) 17 €= () 1 ¥ F et & < B | (9)

In the Food Chain % Tree -pCaterpillar RobinyHawk-»Coyote which is the secondary consumer :
Coyote [ J’ (D) Hawk ¢t (C) Robin  Lis (B) Caterpillar bt ¥ F (A)

Which of the following is a group of Primary Consumers : : e ¥ /;_i/'*"[j,ﬁ{ .;.;f W Jitw| (10)
Producers J#iss (D) Herbivores J.-ud;; {C) Carnivores J:JJGJI( (B) Decomposers ;‘;.Jr;'a'j (A)

The first Step in Genetic Engineering is  : Pl b g Syt LS| (1)
Insertion of Gene into a Vector  UAs” S o2 (B) Expression of the Gene of Interest :/rrrc;:-'.cu;!, (a)
Isolation of the Gene of Interest L4520 (D) Growth of the GMO WALt £ B (O) |
Sulfonamides affect bacteria in the following way : v Ly | 20 "y Vg bbbl | (12) .
Inhibit Synthesis of Folic Acid FLus § 2407 (a) i
Inhibit Synthesis of New Cell Wall AL SInG B l
Inhibit Protein Synthesis 1 ) S Sk g c/-‘:{ (D) Break the Cell Wall ul i Js JF (© p
—r g
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On the basis of functions, Neurons are of types : ;,gl.nﬁb) st ;JM(E’&;F.J 1 /,‘Ulf

- 5 (D) 4 (O 3 » 2 @ (1)

Each human kidney weighs about ———: . !;_;‘" U ¥ :.._;fg}l.—"r,; (2; |
120 Gram r'{ 120 () 105 Gram /S 105 (C) 104 Gram :’f{ 104 (B) 100 Gram 1/ 100 (A)

Lt o a3 & K e 0 W £ /0 39)

i

Tobaceo smoke contains at least ---- Carcinogenic Compounds  : |
5000 (D) 4000 (€ 50 (B) 40 (A)
This is not a part of Hind Brain : : \r‘ j&l@gﬁiﬂ? Ko .c.i'é'lr - (4)

y m,wwt:!.--.J ke B ey (5)

Adenine of one Nucleotide pairs with of oppg\singrﬂ/ucleaude
'f‘

Uracli l_j..«.li s (D) Guanine _- 5 (C) ({){tu e e (B) Thymine ¢~ du (.A)
o s B TS e ind A P,
L:F"?U:/’:J}*‘-( i(6)

ﬁ'\ (AT
External Fertilization occurs in -————-- ‘.’- ""*\f : ﬂf—d-’f 9

Mammals  5lace (D) Bir *’31,-:;; (C) Reptiles YUy, (B) Amphibians A (@A)

s i 5 4 A S '."- .

Appendicular Skeleton is cumpnse& 0f —-m-- bones : u_?dmﬁrUH —_— kS ) _,q.l-..;}_ (7)
24 (D) 54 (© 80 (B) 126 (&)

r’_D""fJ-; Muﬁ 4 J)Lfl}] Lb,)({ Jlﬁ‘r ll-?—Aﬂbb u;fh’ J JLblr \-f {B]

How many Genetically different kinds of Gametes of an Individual with Genotype AAbb can be

e T TR, WL T 100, .. 2 Y.

The complete map of Human Genome was published in ———- : !f"lfdi}uﬁ --u-_.tiuj ¥ 2 Lyl (9)

2002 () 1990 (Q) 1978 (B) 1970 (A)

Now there are ——-— Billion people at the risk from Dengue : ° < Y a1 (jc'i {ufd f-—-— A Bt {10}

2.5 (D) 5.2 © 50 (B) 5-0 {A)

bbb s b bbb b s 41 et e s S R R e e 4480 st e - s st

Which one is not a Primary Carnivores : “—-U*JJ»L'MF’ i.fj'f :Jf Lol (11)
Owl Ji (D) Snake b (C) Frog S (B Fox ¢ (W)

.;_.mf m-c_t,gf.JLwn Ll .JLJL.A’ Wi (12)

The substance used for the treatment of Disease is called -———— : !
Sedatives ik (B) Narcotics J% (A)
Hallucinogens J-q-)f‘_f"”)-h-i[ (D) Mednclnal Drugs I (©)

R PR TS T OF  STRPRENS
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A Muscular Passage common to both food and air e3P AL Ut Jub 2 za K 1 AN
“_Ifﬁft'l“-'f__m_k_-r-’ (D) Alveoli Uzl (C) Larynx afi (B) Pharynx Ny WY L
The core temperature of Human Body is : {...Lf.! A7 (bl € (‘ .a: ot | (2)
0°c ™ %% © 3°c ® ¥°c W
Unit of Nervous System is  : c e dond Al 3)
Nephron oy (D) Receptors iy, () Neuron  yls (B) Nucleus u*:l-: (A " E
Middle Layer of Eye is called : S 0l 7 dien § Al @
. Rods i B ) (D) Cornea i)§ (C) Sclera | L {?\)_j L\"b ) ,.w’ A
Bone Marrow is found in  : \ Okl ameon | 6) .'
Spongy Bone iy (B) c{mﬁgﬁom o S (A) ':
Chondrocytes Al 145 cqsteucytes o L
The Female Reproductive Part of Flower /> 7 S g T 4 ._L»F]i (6)
~ Gynoecium el (D) Ai ) ﬁ rﬁux' (C) Corolla V55 (B) Calyx Vi @ |
Locations of Genes on Chroth fkes are known as s b el £ gus gl & e/ | @ |
\ ;

Nucleosomes 4y 33 _,-u (D) Loci er‘ (C) Genotype  #ir¥ (B) Allele Judl (A q .

Alternate forms of a Gene are called i u?f}llf L il oo gLl (8) '
Cha.rachars S (D) Lucus 7 (©) Traits u"} (B) Alleles ,Ju.H (A) )
.,J"q‘: et g SJPAL ol st usiile] (9)

Interrelationship between Organisms and their Environment is called :

Morphology JséA (D) Ecology Js£1 (C) Physiology {‘,a-;-l'n.;_,-'- (B) Mycology REANEN)

Base of a Food Chain is : : .-,'.JP:J Hi71 (10)

Plant by (D) Bacteria L,_é (C) Rat {7 (B) Animal e (A)

Which one of these is an anti- viral protein : - q.fu(dm{f 1) I ot g‘uf :-L,C:UF (11)

Interferon @12 % (D) Insulin d’-‘rﬁ (C) Thymosin  #1# (B) Urokinase 6y (A

Drug obtained from Minerals is : ey /e e cfpwr| (12)
Aspirin iyl (B)  Morphine A (A) :
Tincture of lodine 2545 1§ 23,07 (D) Antitoxins J....dl.:u.'l.ul (o E B

Lo B o —
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LA B I3 YL N2 e LN st e I g Q2742 D,C B A =zl Jirg
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Note : Four possible choices A, B,C,D to each question are given. Which cholce s correct,, fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

‘t

e

The Larynx is also called this Sy AT ROV
Bronchioles J.l,.}ﬁl_, A (D) MVEDE_._,_‘E‘*' © Y“m_ce_Bix:::‘._h (B) Trachea .br) (A i) !
oo Lignifl o ¢ fu’f o3 2 -. @) E

It is formed due to condensation of water vapours on the plant surface : i
Sehum i (D) Dew f"" {C) Transplratmn u"xyr) (B) Guttation ,_,-—‘“f (A}
o u-dw.mr.u’w b 2 du » (3

Processes that carry Nerve Impulses away from the Cell Body are called b ,
 Synapses usgsiils (D) Mylin Sheath s s () Dendrite ik 5:9’)*’“““_ U."’_'F_*'t?_.__. ) '
It separates Middle Ear from Inner Ear : (iq;. e ¥ st ul‘d!m-: .(4)
_ Oval Window shaut (D) Eustacian Tube .,.-;:L.t“' {AQZ @u u"" (B) Stapes jguias (A) I
It is the longest bone in our body 0 ; .;.@..—..,4("_,&:;,;..,_._ (5)
A (D) Thigh Bone i _ 3@@)1 §z# (B) Stapes e _ ‘}

These reproduce by Budding r Q\&S D gl v g s L J,u ,m {6}
eipe o () RuiopueC P (© Comis S ) manara el )|
O R Ty
o owie by @ it F©Foms JE @St gw W
.;.rur" c.w,(.w ¥ e Sl ;ﬁ_ﬁuc...a:.,fu:n/’ L,r:/ ur (s]

A cross in which only one Trait is studied at atime is called
Single Hybrid Cross /341 (B) Monohybrid Cross A (A) e

Solohybrid Cross  1/i#}J (D) Dihybrid Cross M;J;Jls © :

e et R 1 e e . e - L P —

g um,zr_.yng’d;ynfw@fr’.ﬂu'géu’-m f-LLur'-dJ {91

Part of DNA that contains the instructions for the synthesis of a particular protein is called :

Pulygoiﬁe rrd;' (D) Chromosome rn":/ ()] Gene ¢ (B) Locus g/.:' (A}

Maldives might become Uninhabitable : : I'ﬂu!fg,ki'ﬁ.-;.; .,;.JL {10] 1
With in 100 Years L Jb 100 (B) With in 10 Years LI 10 (W)

With in 1000 Years uﬁ Jnf 1000 (D) WtthUOYem L5000 (©)

Aspergillus produces : . +Jh JJ,“./,{' a1 |
Acrylic Acid 2 Lo£] _(D} Glycerol b (© Ethano!  Jywal (B) Formic Acid 2121007 (A) i

He prompted the idea of Sterile Surgery for the first time : fgﬁ'vd?fdz/_ﬁc_u::lz};:;.gf_uﬂ? (12) |
Joseph Fisher Pz (B)  Joseph Trot SR (A)
Joseph Espdin usi--q'l .JJ? (D) ~ Joseph T..Ister /”J-JJ:! (© | i
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lime Allowed : 15 minutes SSC (Part- It ex15 1 Zh
paximum Marks : 12 Session ( 2015 - 17 ) to (2016 - 18 ) 12 : Af
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L LSS flxﬂdwwgm.uﬂu:/bééx*—bﬁLJ':',:{QIU!.K—Q"{{_J D,C,B,A=tizll iy 1 igd
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Note : Four possible choices A, B,C,D to each guestion are given. Which choice is correct , fill that circle infront of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark in that question.

The Sound Production Box is called  : o S sl fig T 1,{}1,-'
Laryne 7 U (D) Alveoli S Jughi (O Bronchi /s (B) Trachea S e w E.?_..._E

o needuhed My bl v B L edw S| @
Nephmn u,)' (D) Cortex ug a’ (c) Neuron o€ (B) Axon ;,Juri (A) | i
- ) ._,rr.a;_t._Lm;dm,l:'J’ _,....u..| J_,.z.h.{_;._fz!.r_‘.l (3) i

Processes that carry Nerve Impulses away from the cell body are

Myelin Sheath J"’u‘& (B) Dendrites ol s (W)

JAxone, ki (D) Synapses sy O
q.cﬂ Lw,{:"; rys! _ @) l
This Lobe contains Sensory Areas that receive impulses from Skm N N\ C | i-i
 Temponl U (©) Oceipital ST (O 1’-‘"'“?? i”f{tﬁ" Biatal A CAD 1 E
Some Bones Produce  : X\,E‘“” : ikt re e ?
‘Mucous U’% (D) Blood Cells #% (ﬁﬁ\o,:ygen ST (B) Hormones v4(A)
Male reprodumve part of Flower is 5 QTQE)R} : < .-»-"Lf-v'?.fl'df‘ (6)
Gynoecium (*0¢ (D) Comngﬁ i/ (©) Androecium (P! (B) Calyx AW
A RREIN o aERseads O
Urethra 1A (B) Scrotum AF (A |
Seminiferous Tubules jﬂ-u’)’lf: (D) Seminal Vesicles ;l(e;i_s,_}u-q-w (CE' 0 4
et P ¢ bt gt e Ms ®
DNA Wraps around Histone Protein and forms round structures t
Naiopsite FAR 00 Nutleommens. e () Hedmms A ) Nucteorae ee W |

wa{utmu:-:mmw’u—u § &m (9)

Branch of Biology in which we study about Inheritance
 Pharmacology | Mab (D) Genetics puSsa (C) Ecology 3¢ (B) Physiology | M_.; (a)

Which Plant is not a Carnivores : P-4 -y g ol | o) |
Venus Flytrap ,‘;Jnut. (D) Pitcher - Plant _,q.,,{. (C?ﬂ(&'arrus u..mf (B) Sundew M(A) i |

Which one from these is an Antiviral Protein : : q_bﬁutd,«mﬁi)...-lwﬁr.f d’uf;-dul (11)

~ Thymosin Jﬁ (D) Interferon. u:,:'ff (C) Urokinase f‘fu{ (B) Insulin uﬁ'r" (A)
Joseph Lister introduce an Acid to clean the wounds : uuf._amm.é{éh-l{uﬁ' i ,—-Lw (12)
Hydrochloric Acid 420,47 (B) Carbolic Acid LA62K (A)

l E Nitric Acid w..f)-: (D) Sulphuric Acid AL (© Buwp- mwr-—rq

R g ey Y P YUY S PP



Time Allowed : 15 minutes SSC(Part-1Il) !l Group 2nd “ 15 @ oh

Maximum Marks : 12 Session ( 2015 - 17 ) to (2016 - 18 ) 12 /:‘i_f
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

: q.&uwafm&mmwuuuwmm&@ 12

The amount of Carbondioxide in Expired Air is : P (1)

0-04 % (D) 16% (C 4% (B) 21% (A}

The maintenance of Internal Body Temperature is called : .;.rﬂr(l.f (c)’ _..nfmdmrér’ @
Excretion A4 (B) Osmoregulation S (A) |
Homeostasis u—’i:',-r (D) Thermoregulation ;,n"’;ffr) ©

,The Ienglh of Sp:nal Cord is about  : ; .;,.d.-r k /!Ju d' MU’L-- (3)

_— A inch (©) Oem (© @am B 0mm ()

the example of Stimulus is  : P eded U @) |

_Muscles /7 (D) Cold =y (@ Brin b (B) Ear  sfcKa)

Which Disease can be caused due to deficiency of Estrogen Hormone : : q.-UCJ!-}UU}::-JJU!‘JEQP'J)JI: {5)
Osteoporosis Uiy (B) Gout Q\\ 256 (A)
u'l},-ffjl (@ nheumatm¢ @% L m,%f’fru.o ©
Which animal is not able to reproduce in summer months : Vﬂaxﬁfufdfﬁgf( :_é;gﬁuﬁ“'ﬁl.fr"f;ﬁbbuf (6]
Cat  (D)Rabbit Jf' [E\]ch O (B) Monkey 4% (A) |

Osteoarthritis

In which process of repmductmn Buds aﬂ!m o j ST u.,C U);’f.-” .-l) J( (7)
a5
REEEHEQSQ!;\V u” 24, (B) Fragmentation o 2utid (A)
Binary Fission ud 6fl. (D} Budding £3(©

Lndxzrgk'uﬁ_fmuf{;uug.ﬁ FI u’ (8}
In Four O Clock Plants which colour Allele does not present : 5 |

Black ¥ (D) Pink  (if (C) White 4 (B) Red £, (A) :

L,ELJI ;3|.(_)’u.5¢'}z Wi L 1_5'.!( a8l g,f}(j'- (9}

il

How many Hydrogen Bonds are present in between Cytosine and Guanine !
The thickness of Biosphere is about i b F.F,Jrrgf_,m..ﬁ:.h {m}
(kM) KK 30 (D) (kM) #¥ 25 (O (kM) /-f:rzn (B (kM) #F 15(a) | E
The Swpos v boroing e b : et LLin ] of 2 ﬂrr ) E
__ Endonuclease 7! (D) Amylase AW (O Ligase 400 (B) Lipase sy (a) B
Reduce the possibilities of Infections on Skin i q_d;’?:..rt!i-lﬁ _,..unf,g.l:ni Y ,J.y (12}
Antiseptics ._;-uﬂa-_x;‘_,hul (B) Antibiotics L (A) ; .

g  Disinfectants | oaBdGal gl (D) Analgesics oSl (O By (o ;u

R R

o=
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_ﬂrx:;ﬂu,.-lzuﬁf,ﬂaﬂ‘l! L&f o' L}_);/u:}l‘n:l.}c. Lo fe

DG~ 1~2Y 1A

in human body which one of the followings stores minerals q.hﬁ,éh?mﬂf;.dd@mﬂ(%ﬁl
Kidney »»/ (D) Muscles #~ (C)  Brain {b» (B) Bones UL} (A)

Reproduction takes place through budding in et g L £y
Bacteria | 2% (D)  Hydra Ui} (C) Amoeba lf (B) Planaria | &% (A)

Water is required for reproduction by 4..&.9:.-.-..4&{ Jgd.éw’( h{dﬂ"’ ----------------- ;.uﬂup{.‘f_é.:
Mosses » (D) -Gymnosperms »z#* (C) Fems %} (B) Anglosperms _r,{;i'l (A)

Number of homologus chromosome pairs is q.alﬂJusizﬁmfﬂmdwﬁf
46 (D) 23 (cl 4B 22 (A
DNA back bone is formed of ¥ \ ) q-d:tu.in.gl.ﬁ.ufl.ﬂ

Phosphate - Sugar (/234 (B) » @z& 'RNA (fetefUTuleleitS3 (A)
DNA -DNA  (fetefi3 g.uuujgﬁ\ﬂ > BNA - Protein Gehagate I3 (€)

Which of the followings is not eaten by other animals ?/ >~ LU e pliile s
Producers’d g/:tf \(B) Tertiary consumers Mfi (A)
Primary consutnem*))fffdﬁ{ (D) Secondary consumers J/z?(d:.’n‘: (C)

Nitritos are converted into nitrates‘hy >~ PR DWAP IR P
Denitritying bacteria | A f1dis#ss (®) S. pneumonae SI3A 21 (A)
Nitrobactor &%t (D) Nitrosomonas (t¥»s/t (C)
Out of the followings , antiviral protein is q_r}ﬁg...ilﬁ&f}l:g

Beta - endorphin g-)?a.'tzl-@g (D) Thymosin &% (C) Urokinase #%uy (B) Interpherons A F (A)

Heroin is obtained from e ded P g
Fungi =J¥ (D) Cactus =™ (C) Morphine =¢iA (B) Animals Ul (A)

Amount of nitrogen in inspired air is q-&mthfcf-sf’umdui.nd'imﬁﬁ&un
16% (D) 79% (C) 0.04% (B) 21% (A)

Gums are obtained from s e
Keekar J (B) Rubber plant :-L_:;'L'z; (A)

Coniferous plant <3¢ (D) Ladyfinger e <3yl §dx (C)

Total number of cranial nerves is .............. G e s s 2 bl

12 (D) 26 (C) 31(B) 33 (A)
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SIS AL e S s L Sy Q8RS 23 D 11 CBA a2 lile vy - LF
_.rﬁ;ﬂﬂytﬂu&u:..-.-):‘(fl_&/':bI’LL&:{J:}I;.:L)&;.Q.@J}:.
M K —2 24 1 /.-)dlr
bt S F2 LUt
in monohybrid crosses , F2 generation has the ratio of phenotype was
4:0 (D) 9:4:3:0 (C) 3:1(B) 9:3:3:1 (A)
Bt Uil SBE Usdentusy rblpsnr oI .2
in ecosystem , the organisms that are responsible for the recycling of plant and animal wastes are
Decomposers sz,fu'j (D) Competitors _&‘)iu’!;(r (C) Producers Js¢}/ (B) Consumers /{7{ (A)
Recycling of one ton paper can save ;géi;i.ls'ﬁaam&,c.i.m’fafugmfﬁfgfhﬁ -3
...;.-"J: 17 trees (D) =20 18trees (C) =2lu 16trees (B) =20 10 trees (A)
A thick muscular structure present below the lungs is called ¢ (e (smzrzaslAPin (g Luness -4
Branchioles #¢fi; (D) Diaphragm rl)l.li (C) Tracheoles )!:,E’ (B) Alveolus JEH (A
The structure that creates an insulating blanket of warm air in animals |s ? e;.thd}fdﬂi&'y';’..f i’!.rlr/c;.cf' =8
Goose bumps uf',;’ (D) Kidneys S (€) Lun_ 5 t../"; (B) Dermis %3 (A)
,Mg_ / b frnryudinsL AL 6
The special neuroglial cells located at regular mtervals albn’gf exons are called
Nodes of Ranvier £/ 43737 (D) Schwann cells Jku/} LC}Myelin sheath J"u’cL (B) Dendrites U223 (A)
© ? ¢ Dot e85 U s -7
iHows does vertebral column contribute tp cttm over all support to human body ?
+..- ;‘v - It encases the brain for protection 4.;;.;,*.21:#‘{&4, (A)
& lt&onnects pectoral girdle to pelvic girdle q.bu?.-_.di):}ﬁﬂifdu’fy (B)
None of these yﬂﬁﬂ:—gﬂc)l {D] !t provides main support to the body mass ;,-.r/?ﬂMt;a..guf@ (C)
S gl P Sl EE, _8

Which application of biotechnology involves the production of insulin and interferon 7

Medicine oy die (B) Food and Agriculture il gl dl i (A)
Genetic engineering -_(n_,lhaml._ﬂ;:qs (D) Environment <l ala (C)
¢ Pt bl b AP M gl s
Which category of addictive drugs capable of being develop dependence or addictive ?
Analgesics L# fI (D) Sedatives =luisTef (C) Norcotics %t (B) Antibiotics L% (A)

What is formed from ovule after fertilization ? g...t'ipmt.‘ﬁﬁf Jﬂ»lﬁ'ﬁﬁﬂl}} -10
Leaves (UR (D) Flower J#% (C) Seed &(B) Fruit Jf (A)

In most plants , the sporophyte is G brraef b iUy k) 11
Dominant G (B) Smallinsize UALL7L (A)
Dominant and independent B:7si'6 (D) Independent (4 (C)

Pink flowered 4'c clock plant is an example of q..dﬁd’dﬁf{!’u&(jlﬁ.ﬂuﬂguﬁf -l u? 12

Co-dominance u"?d:lf (B) incomplete dominance u’-’-’dﬂqﬁ (A)

None of these dﬂf;btc}l (D) Complete dominance ﬂdﬂd‘ (C)
24 (Obj) - 15t Annual 2024 SEQUENCE - 4 (PAPER CODE - 7468) 7\
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12 = AF apmadian D ()23 Ty

cBLIsh xbwwhzmauyuéwuﬁdw&n}u.qé.p D 4l C,B,A a2l Jirg : L)

-ﬁ:ﬂ%&w&;ﬂwﬂf%/&f VLS fssnlie Ll desfe.

Stamen wé- (D) Anther fil (C) Pollen grain cffu% (B) Gamete'uﬁ( (A)

22 (Ob}) - 15 Annual 2023 SEQUENCE- 3  (PAPER CODE - 7486)

1)r

Cytosine forms pair with ' ) f.JUMM‘/J}GV a1
: Sulphur j* (D) Thymine ¢2JP(C) Guanine v (B) Adenine £iii (A)

Natural selection , book of Darwin was published in ¢ I SEUE OV -2
' 1870 (D) 1869 (C) 1828 (B) 1810 (A)

Example of carnivore plant Is ' q.dthﬂ_q.m{lal’ -3
Fungi 0P (D) Algae fI(C) Pitcherplant ' (B) Mosses s (A)

Non renewable resources are aSladtet s
Alr (D) Fossil Fuels AJJ ()  Water di(B)  Soil ¢ (A)

Interferons proteins are used as \ w&y@m&,ﬁ{ HAE B
Anti drugs 4% (D) Anti fungl JPli% (C) Anti viruses ;«:«m,{m Antl bacteria 2638 (A)

Psilosin belongs to 0; i P
Antibiotics a{‘u}’l (D) Sedatives J&i~ (CY Vaccinas ,uﬁ (B) Hallucinogens =&k (A)

Asthma is actualty "f\ =B 7
Hepa*ds Uty lD} caﬁcer ,A!' (C) Allergy G/ (B) Tuberculosis Jng” (A)

Colour of human kidney Is A \, ) .;..J JU.J Ul .8
‘Dhrk red {45 (D) Blue (£ (C) Yellow (¥ (B) Pink Jif (A)

Incus bone belongs to 4-0%1540’; -9
Mouth . (D) Eye #T(C) Nose Jt(B) Ear w¥ (A)

Type of cartllage tissue Is c‘-_(’ J}’d:l’ -10
' Smooth 4% (D) Cardiac £ 4K (C) Connective éf"' (8) Muscle J~ (A)

Budding Is found in edeldifs 11
Amoeba |/ (D) Plannaria | 2¥(C) Bacterla | 2% (B) Yeast wwk(A)

Name of unit of androecium is HWJVIJAJ{I <12
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e
12 = A [elreact grapmadiaa DA 921 Yt
BRIl N e se LD s N g QRS D 1l CBA elslilelry : &)
Pl A rrsdd SIS S\ S S s e
14)r
In DNA , cytosine nucleotide forms pair with 3 q.thliﬂil-ﬁ/#t&rx' AN o -8 -1
Uracil JeUg (D) Thymine c20@ (C) Guanin;e LW (B) Adenine £ (A)
The genotype of blood group " 0" Is egtiaf mom S 2
8 (D) i© ™M@ MR (A)
Goat eats grass , what is its trophic level ? T .i-_LQUJJ (8 .;,:.JU'JJM ¥

Decomposer .«1.;%: (C) Secondary consumer /1}(641? (B) Primary consumer ﬂff},ﬂ{ (A)

Producer s (D)

The long term effect of noise pollution is e oudif LTS
Loss of hearing .?Irl'i_.-'ir' (C) Aggression J&2I (B) Annoyance d:m (A)

Respmitmy disease ko (D)

Very effective hormone for brain and lungs cancer is U!"lelbl,.ﬁn_rﬂll."._ﬁd_é /‘Zwﬁulbh
Urokinase %%ug (D) Interferon wsd®l (C) Bata-agdbmhin olsdeits (B) Thymosin &0 (A)

The drugs used to reduce pain are called f\ r~ > u!ﬂﬂfmyuidhu&
Sedatives J-i- (D) Antibiotics u-’;'f 1,&1 (c)“.o.ntisepﬁcs WG B) Analgesics SR (A)
Right lung consists of how many Iobes? 3 by .,-_r.'nd”% (25) ureE I Ll
| Qe 65 (D)  Four Jp(C) Three £ (B)  Two » (A)

The organ responsible for filterfgg blood Is ST SPup

Kidney uf (D) Rectum < (C) Stomach w (B) Intestine JH-ﬂ (A)
et - gt Sl me SIS U N iz ook
The projection of neuron that carries nerve impulse away from cell body is
Myelin Sheath 25 (D) Node of Ranvier s/aJdT8) (C) Axon i1 (B) Dendrites *Lis (A)
00 ALt LS SASD Py
The fluid filled space in which chondrocytes are present Is called

Hyaline u!ﬁ (D) Lacuna I:zg (C) Collagen gaalsS (B) Matrix JE A

The outer most whorl of flower is called q..t‘l.%&ws.,-ffd:{
Gynoecium @*UF (D) Androecium (u! (C) Corolla Uo/ (B) Calyx ol
Asexual reproduction In Rhizopus occurs by .f;.}q.(lﬂﬁ:ﬂrﬁ.&.ﬂdﬂdb

Endospores LssX&l (D) Spores il# (C) Budding «£% (B) Binary fission ﬂ‘lﬁ‘i (A)
~N 24 (Obj) - 18t Annual 2023 SEQUENCE - 3 (PAPER CODE - 7466)
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All scosystems of the world together form the. QA A YA

Blosphere &£} (D) Habitat 225! (C) Communtty §« (8) Population ;-}"zl,(a)
The microorganism used In the preparation of Formic Acid is. ¢ /s £Libda P18 1L
Saccharomyces ¢1s£ (D) Protozoan Owis, (C)  Badlius ¢ (B) Aspergilius U/ ¢ (A

The medicine obtained from mineral s. 40 0/ S b o
Antttoxdns #0E( (0)  Aspirin et (©)  Tincture lodine & ® Morphine A (A

How many carcinogens are present In tobacco smoks? ) YU AL L LN
| 'm(t}} | 80© s0®B 40w

The waste matsrial removed from rubber plantls, (| =~ gobNeME eyl s,
Resins 52, (D) Muﬁm é’ % © oum ® Laex o W

All of these are hormones except. NS > Ly irA iy

Pepsinogen ¢ s (D) Th;gm:ln N’ w2 (© Glucagon ul'l" B Insuln &£ W
The disorder In which thers is ln“mlmuluﬂon of Urlc acid In joints. _¢-bbstf 8”1 205 Sk

Y7 osteoporosis =i B) Gout 3 (A

" Rheumatold arthrtisc®| 2.7 Hies, (D) Ostacarthitis 12,144 (C)

Bacteria reproduce ssexually by. ' FRRIN PP L PRITY
Regeneration ¢ 25, (D) Binary Fﬁlﬁné’d/t (C) Fragmentation u?? £) @ Budding £} (A)
Vegetative propagation in onlon occurs through. .444.(}:&‘14;’3&4;&
Tuberz¢ (D)  Rhizome (a0l (©)  Bub oA (B)  Comps (W

Itls an example of discontinuous varletions. <Jodat B 2,

Blood groups (%s/ 3% (D) intelligence <3 (C)  Weight ¢is (B)  Heights (A)

When Watson and Crick proposed the model of DNA structure? 1% Ullbes S DNAL Y sic”b
' ' 1954 (D) 1953(C) 1962 (B) 1851 (A
The Interaction In which both partners get benefit Is called? to b B It S o
Predation ¢%44 (D) Parasitism /#lis(C) Mutuslism sk« (B) Commensalism -¥¢/f (A)
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PRSP N SL S 71 S V[ {7
The part of brain responsible for muscle movement, interpretation of senses and the memory Is the
Cerebellum r*‘_,{ (D) Cerebrum [z (C) Medulla oblongata h;-ﬁk:ll.l:y (B) Pons 7| (A)
How many bones make our skull? - wuuo’&d;fwa
14 (D) 22 (C) 24 (B) 26 (A)
Which method of reproduction is found in bacteria ? f e bl ik ekl 25
Binary fission urﬁdﬁ'k (C) Budding il % (B) Vegetative propagation U“'t-{-'.i g9 Shaliaay (A)
_ Parthenogenesis juiia siagisly (D)
¢ o JWUPIILENEE * car il nbfise L
An organism's expressed physical trait ; such as seed colour or pod shape is caﬁed its
Physical type ("0l2 (D) Karyotype b2 (C) Phenotype( L..fw (B) Genotype 7L (A)
Which nitrogenous base forms pair with Adenine in DNA ? j.-ﬁ:h?Mgﬂdi'uﬁf: Pl A S
Uracil JUg (D) Cytosine Mb«(&‘.} ‘Guanine ¢ (B) Thymine ;}:le.? (A)
b e J.E‘thtrI(u}ﬂfuWLUM)I-MUH‘?JU&.&?M(J; |
Organisms in the ecosystem that are responsmle for;hgh'ecyclmg of plant and animal wastes are
Competitors _Eiﬁuy-u’f (D) DeGOmPo’s\erd ..u,u;rﬁj (C) Consumers J/,y{ (B) Producers Jghy (A)
Which component of ecosystem is autntﬂ;aph‘*? t .c:-._...rtﬁﬁﬁfl.-uf t’("’ i
%étfundary consumers J/f/”d;ﬁ (B) Tertiary consumers J/%f/ (A)
" “i/’ Producers Jyghy (D) Primary consumers J/:t/":}'/ig (C)
sl Ly IR Py S s in e
Find the correct match for the fermentation product and the organism involved
Glycerol - Aspergillus ¥4 - Ji” (B) Ethanol - Aspergilius o ¥¢% - J#™ (A)
Ethanol - Saccharomyces z#s£ - J# (D) Formic acid - Saccharomyces ‘z:f"l.yg - A L6 (C)
Streptomycin is categorized as L3 q_c-_...;a/ra..cjffjul’ Granallle gigs i
A drug from fungi /P ¥ (B) A drug from bacteria s/ el 25 (A)
A synthetic drug st it (D) A drug from minerals e/ M ec sl (C)

-1

-2

-3

-4

-5

-6

-7

-8

-9

Which structure actively helps in taking the air out of lungs ? § e A¥Ld Gy unatezsigd -10

Diaphragm ]r'l,iyj (D) Bronchiole J& (C) Bronchus Je;z (B) Nasal cavity &{dﬁ (A)

¢ bW A bl a oIt lus 11

Which would NOT be present in the filterate entering the Bowman's caps ule of nephron ?
i o | . -
Urea L (D) Calcium ions ,'HT{.‘.A-‘! (C) Proteins s (B) Water (| (A)

S e Pl me ST P inE s LNk A2

Processes of neuron that carry nerve impulses away from the cell body are called
Myelin sheath ¢isd ola(D) Synapses y¥dl- (C) Dendrites Ui (B) Axons 71 (A)
22 (Obj) 12021 - 50000 SEQUENCE - 2 /)
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Which of the following is abiotic components ? T g_?._é'fgg__lyg‘:;.u:ui -1
Oxygen ,J’:(T (D) Carnivores Jm(:'ulf (C) Herbivores ng} # (B) Producers Jgis; (A)
When was complete map of human genome published ? g w&MM@Ju! -2
2002 (D) 1960 (C) 1995 (B) 1990 (A)
Which of the following drug is obtained from plants ? ¢ e Qed e ungnile Ly -3

Cephalosporin c}:x‘)!-.’"'{D) Insulin c)ijr"l (C) Morphine c,é;t (B) Aspirin, ¢f ¢4 (A)
When world No Tobacco Day is observed every year? Tq.rlggt@fdlfﬁ (;-J:J b3 (51 L) 3N
315t guly duz 31 (D) 315t May 31 (©) 31% August .=J131 B) 315 March &t 31 (A)

Which organ is responsible for filtering blood ? \ ) T .;.;uajré.f)?’u?g( (v
Stomach s (D) Brain (b (C) Kidnejr u/ (5) Intestine Fbd (A)

The. ~pairs of cranial nerve in human are ............. ,;,\,e/ ‘.j._- " U wommmrssssssnns PRI VB8
L ,/ 18 (D) 14 (C) 12 (B) 10 (A)

The largest part of forebrain is called ....... : .;..’T:\r ::._HH’ ersmms e .ﬂlzwﬁu‘.@u‘
: Pons /k (D) Hypothalamg‘aa (/g.ﬁ (C) Thalamus uﬂ:f (B) Cerebrum r..cd/ (A)
Cells of cartilage are called S N = UL FkL glf
Organ /57 (D) Qs‘sue ' (C) Chondrocytes L2 (B) Osteocytes U L (A)
Transfer of pollens from anther to stigma is called Q'-JMP J)‘J{{Lf'a. /ﬁl

Pollination u*é (D) Sperm (4 (C) Gammetes u"( (B) Fertilization ¢=#12) (A)
b e/ Pt mRNA L or o2 ede L DNA
The specific sequence of DNA nucleotides is copied in the form of mRNA is know as

Transpiration c)y-?g-'l} (D) Translocation ﬂﬂ} (C) Translation c}’y I (B) Transcription cﬁﬁ} (A)

Specific combination of genes in an individual is called 4.?“{@549';3()&#:}.{!
Genome (3 (D) Allele (KI(C) Genotype 7t (B) Phenotype 7t (A)
Base of food chain is “:._ngfuﬁi}

Virus (7! (D) Decomposer Jb;rdi (C) Consumer /,U'r (B) Producer /¢iy (A)
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= ¥ (ragpmatoms ) ( Group First ) g/
I3 AL e P s g QHYIR- o s D 1) CBA efi2fp Ly 2
Gtz eSSy Sk S ntmlia . & e BN

1407

A thick muscular structure beneath the lungs is called uﬁ;&vlpéré[.uszﬂ o]
Bronchus (1« (D) Peritoneum fiidﬁ (C) Diaphragm (J}LIJ(B) Pleura gk (A)
Which plant produces resins? ?.;..t'ﬁg:?::; !:;ch)f
Conifer & (D) Rubber % (C) Keekar £ (B) Tomato /i (A)

How many pairs of spinal nerves are present in human? St dreiv. L ;m,@m -3
33055 (D) 31 21 (C) 18 ¥t (B) 12 wi (A)

e tlondof FE fusruris 4

The hormone that increases the blood glucose concenteration.

Calcitonin cf!d’y (D) Parathormone g7 /#iz (C) Insulm Q{HT . (B] Glucagon uf b’:f (A)

The mature bone cells are called . ? \x\’f 4 ' ...:_t'lalﬁf)f Cﬂé_’.dj -5
Osteoblasts u"‘urﬁl (C) Chundromg.-} .:,f"lﬁ.:.ﬁﬁ' (B} Osteocytes Lzl (A)
= i\\ré:; Osteoclasts U~ #23 (D)

. N

Queen honey bee is -. \'*"’ ad «;..dﬂ.ﬁgﬁf( S 6
Polyploid }g@{DIGDIpImd X143 (C) Triploid ¥/ (B) Haploid X U1 (A)

The position of gene on chr,etnosome is called uqu;?'b- J’f(rrur g
Chromatid 24" (D} Centromere /f:/"’ (C) Locus u'g (B) Karyotype ..(B,sj,/ (A)

True breeding means e KL 8
Homozygousu"gﬁfn (D) Hybrid £4} (C) }-Teterozygous U‘g}:/?,z (B) Homologous Lf;l:".rf (A)

The biotic component of an ecosystem Is _f.:z.fﬂbi}" % e -9
Water 0f (D) Soil §* (C) Producer ,ghy (B) Light (s (A)

It is an example of ectoparasite : e Jedesint . 10
Bacteria L 2% (D) Virus U7 (C) Mosquito 4 (B) Ascaris U&7 (A)

The enzyme used 1o dissolve blood clots is e bl Lo WAL s 11
Urokinase 7~€uy (D) Endonuclease zlﬂii{;! (C) Amylase 2! (B) Thymosin #I# (A)

Streptomycin is obtained from : %JQJJ'LJJLQ; 12

Soil (f* (D) Bacteria | 2% (C) Plants < (B) Fungi 5¢ (a)
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rfljﬂ*&lbfﬁ.,.-lﬂwmgﬁu:)’hz'-ﬁ%.ﬁbﬁ.dlr,“dfdfﬁuggip D »# CB,A .:.'W.,;f..ckd:dlrﬁ P
bbb 2aidi b eSSy Ja kL Sl onie L & ot SRS

1A

What type of blood ves_sels surrounds the alveoli 7 - ?L,E.uﬁr‘#-lﬂJ OM)Z.JU:J:I Ty
Capillaries 215"( (D) Veins %3 (C) Arterioles #A7 (B) Artery UAT (A)

Normal urine contains amount of urea. ...;.me«! p,g@'.,*@&t =
117gh (D) 95g/l (C) 1.87gN (B) 9.3 g/l (A)

Myelin sheath is formed by ?+.J:r¢_'5:4=..‘_/i‘."c)'¢L 3
Dendrites u:"LjEi (D) .Schwann calls)kcﬂ:" (C) Axons :?lfl(B} Cell bodies z!h,k (A)

| Length of spinal cord is about -q.J:rJLJ[_f, /‘TI.;’JKJ‘L-' -4
30cm (D) 4scﬁf {C) 40cm (B) 20cm (A)

In mammals the number of bones in lower jaw < \ .q..dmwtfu.;’-fu:.;.ﬂ.{ﬁut:"" -5

Four benes 7k (D) Three bones AL (C) PT/%)B\Eﬁnas Wi (B) One bone wifl(A)

Male reproductive part of flower is called ’jt““’ | e bULoSLY KUK 6
Corolla U:f{D}‘rBtyi‘g JL— (C) Stamen u"‘y (B) Carpel J.rb’ (A)

“v:;‘ KC\ s -:;-l'irl.»l.-d"w:ﬁkw LB A #’Ln‘df.l& .

Which relationship is fnundﬁ\jaﬂ&ﬁ fblood groups |* and I®

Imcomplete dominance u”'y :d’% (B) Co-donimance u’gﬁf (A)
Complete dominance ..,JEJ; (D) Recessive «# (C)

A definite combination of genes in an individual is called ..q...l:lkf PE e L)L T .
Breeds iz (D) Hybrid 47} (C)Genotype <7t (B) Phenotype ot (A)

The basic source of energy for all ecosystem is _g..gﬁdjyzb@}iu I % 3% -9
Sun G (D) Water (} (C) Animals ./ (B) Plants <« (A)

Which one is the abiotic component of the ecosystem. ? ?c,-_w:GH‘.ff Lz...lh’fir f :..u:d_'i 1oy -10
Air I» (D) Carnivores imssK (C) Herbivores sz (B) Producers Jsyliz (A)

Complete map of human genome was published _lxéﬁﬁﬂrﬁéﬁtau"-db -1
+2010(D) #2002 (C) »+1902 (B) »2000 (A)

Mescaline is obtained from a plant - b lae syl fedge -12

Morning Glory da‘..ﬁrt (D) Cannabis b (C) Datura L%} (B) Cactus u”‘g’ (A)
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140
If both lungs are infected the disease Is called q—JML‘JE?L&HMJUJW)’J
Arthrites 14T (D) Gout &3¢ (C) Double Pneumonia s} (B) Typhold KWt (A)

U Shape Renal Tubules is called .,-.ruf.»r& UKled k-2
Cortex u‘g ¥ (D) Loop of Henle J.‘J'..JTVJ (C) Pyramids zﬁ,ai (359 ﬂgiﬂ’on gL (A)

There are major region of Human Brain ﬁ«.z[.bh&uu -3
5 Q@Q“V%{C} 3Z® 200

The middle layer of Eye Is called (S 2 O den T 4
Chorold .4 (D) Comea { f(#y Retina Lk, (B) Sclera £ (A)

Tendons and ligaments are bands of W @“ AU ol 322 5
*&k&c tissue 07 (B) Muscular tissue 24 (A)
q:nn ‘Ne tissue A (D) Epidermal tissue A3 (C)

Bryophyllum (Pather Chut) h\fz};ﬁpla of dMJ.aﬂu’ r*‘i.gu -6
Leaves % (D) Suckers J* (C) Bulb x(B) Stem Tubers i<~ (A)

Amoeba reproduces a sexually by r,..d;tg?o'k,;ﬂ}-'ki o
Binary fission ¢l (B) Budding £ (A)

Multiple fission ;}'u(j' (D) Fragmentation a5y L (C)
VUBUIK DNA L sl
James Watson and Francis Crick proposed the structure of DNA

1953 (D) 1854 (C) 1954 (B) 1955 (A)
Mendel selected a plant oWy li Jir
Mustard 3 (D) Cabbage (% (C) Rose Ju (B) Pea > (A)
Lt Jork 1L sy ik 1927

in 1927 an English Ecologist developed the concept of Ecological pyramids
Lamark iy (D) Darwin gul$(C) Mendel Jz» (B) Charles Elton grv'lrﬂy (A)
Animal Breeding is a form of 4_("..90’ (Breeding) Lﬁ)‘{fwxﬂg
Biotechnology (/t2¢} (C) Cell Biology &/ k (B) Pharmacology (/¥i/6 (A)
_ Morphology (/64 (D)
Mescaline belongs to .;..J’:l"g‘.lt.;n
Hallucinogens ;2753 (D) Sulpha drugs 36 (C) Vaccine ;rg(a} Antibiotics U1 (A)
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The number of dangerous chemicals in tobacco smoke Is q_mﬂd%‘! wlBLunliZ 1
4000 (D) 3000 (C) 2000 (B) 1000 (A)

The organ for fllteration of blood Is LS -2
| Brain ¢/« (D) Lungs L.;g.‘; (C) Kidney .-..:{ B) Heart J2 (A)

.,-_.ru/.,—.rl,/.l...ifﬁ@f@r Winoufgd -3

Part of neuron which takes Impulses towards cell body are called E) |
' A | O

Myelin sheath 3 olila (D) Ganglia WIS (C) Axons 5:55)(B) Dendrites salil,33 (A)

All of these are hormones except afl L@ il torgely -4
Estrogen (/s> (D) Glycogen Ja@ﬁﬁi\:}&ucagon N7 (B) Insulin c}!r;' (A)

Number of bones In human skull is 3 \“Prf .;.:Ln-"t;uﬁu‘:ﬁ?c/t}til -5
\p i 19 (D) 20(C) 21 (B) 22(A)

Method of asexual reproducti ":'I‘é‘&a:ﬁ Is ::-_.?,)QPU‘:'/?JH -6
Budding. i(t:) Binary fssion ¢*lf7} (B) Multiple fission g’_’,,{.j‘ (A)
Spore formation ¢/</i%” (D)

Asexual reproduction by suckers takes place in ‘;._Gx.?/",;'xi_-g?u*j o
Potato #T (D) Ginger i (C) Lily J (B) Mint sy (A)

The genotype of blood group O is ” etiZben/ho 8
o rie B e M @

Union of sperm and ovum Is called q..h'ﬂ/.rllfruwp;' -9
Allele (K1 (D) Fertilization o271} (C) Genes #(B) Gamete al (A)

All ecosystems of the world together form L,_’?Lh)U’f'f PR 10
Species 75 (D) Community & (C) Population dgﬁ (B) Blosphere A%\ (A)

Lactic acid fermentation takes place by e lng s @ 11
Bacteria L,;-E.(D) Virus U7 (C) Yeast «—%(B) Algae Lfi (A)

O BOALI g Piesn KL _12

Chemicais which kllis microorganisms on non-living objects are called
Disinfectants uwus (D) Antibiotics U1 (C) Antigens (%! (B) Antiseptics u'éf?»t (A)

24 (Ob})-12019 - 50000  (NEW) SEQUENCE - 1
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1407
Amuscular passage common to both foodand airis ~+rM+J ;-‘/.gl_ﬁ.lm:!_ﬂ;iﬁ:-b):chﬁ -1
Pharynx J2 (D) Larynx U2 (€)  Alveoli Suzdl (B) Trachea L (A)
Number of nephrones in each kidney is -q..Jml.o"Ju:,L‘bﬁa_.u;; -2
12 Lac 41 12 (D)7 Lac 407 (C) 10 Lac §110 (B) 5Llac #U5(A)
Central layer of eye is Y, ‘:}ku.s(fff <3
Sclera I £ (D) Retina . (C) Choroid X1/ (B) Cornea L¥ (A)
Deficiency of which vitamin causes the poor night vision. EJ;ﬁJULI?f:JJ:.-JJJE:J -4
Vitamin A </ (D) Vitamin B ¥ (C) Vitamin C St (B) Vitamin D (3 b (A)
What do some bones produce ? _\ @Jhgugf -5
Blood cells Ak (D) Oxygen fff (C) Horrpq\ﬁég;;fﬁ} (B) Mucus J(,:’{A]
Essential process for the continuation of species is Q0 f’/:?_fg,,/ééy i /f;jﬁf( -6
Reproduction ﬁ:@ (D) Cloning J){ (C) Re(éphghb\n ﬁ,;‘-.' (B) locomotion Jrﬂ (A)
The unit of androecium is I e T
Gamete =€ (D) Polap;_g}%ﬁ{/cﬁg (C) Anthers % (B) Stamens # (A)
It is hereditary (genetic) material h-\i\\'{ 4_-.11.{,';!;4:. -8
:':.}-13553-5"' | {RNA (D) RNA (C) mRNA (B) DNA (A)
Model of DNA structure was ﬁkr‘;;énted by gﬁdﬂb’:ﬂ-’*bd/m -9
Watson and Crick oslerhs (D) Crick 7 (C) Watson o (B) Mendel Jir (A)
Change of nitrogen gas into nitrates is called -q..t'lk( S J .:,‘v'udui-}"tf =Sl -10
Ammunification u’-’é(:!rl (B) Nitrogen fixation = At (A)
Assimilation ¢*51 (D) Nitrification «f-‘%ﬁ't (C)
gL e et 1
Study of composition and medical application of drugs is called
Mycology &/€L (B) Pahrmacology Js/¥l/6 (A)
Physiology §#L7 (D) Biotechnology UJ./t€¢t (C)
Human insulin gene was transfered into - _kfgyyfi’g:‘r"! dUl -12

Yeast .z (D) Bacteria & & (C) Virus U7ls (B) Fungi JF (A)
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1A

The world * No Tobcco Day ' is celebrated every yearon , ‘,-..rl.,u:»u:du...i:ﬁéﬁify-’dv,; -1
31 October ,.;;ﬁ 31 (D) 10th October ,c;{l 10 (C) 31 May 0931 (B) 10th May u"‘m (A)

The example of halophytes plants is -q_JG-Jum"ﬁ iy -2
Cactus qu/{D) Rose —If (C) Seagrass Jb({j.u:f (B) Water lily J& (A)

te Pl L p e FOSrndai a3

Which lobe of cerebrum receives and analyzes visual information

Temporal JusZ (D) Occipital ¢’ (C) Parietal iz (B) Frontal J/ (A)

He wrote three books on diseases and surgery of eye. u‘{éﬁ"wf{uph:mdffgff'r -4
Bu Ali Sena t=(f% (B) Abn al-Haytham Aol (A)
Abdul Malik Asmai di—!_ﬁumm) “Alilbn 1sa (=i (C)

The longest bone in human body is /\.\- \<” -q.dnd,ad::.r_...,.-vg,ﬂ("dt.n -5
Hyoid bone 2 ¥1£|(D) Stapes ;f‘"'(\myﬂgh bone d.nfub (B)Sternum rf/ (A)

It is the process used to propagate sugar cangpﬂta‘ntatlon a3, Wit SevsL e
Fragmentation u.....bui.-_,a (kag‘tﬁng & () Layering £/ (B) Grafting &L/ (A)

In mint vegetative propagation occq?,a by ..g.uq.dﬂu....gs.u_,x FTTCUTTD COET S
Corms )'u( (LD)Suckers J/‘ (C) Leaves =% (B) Stem tubers .r..:.c("(A)

The book * Natural selection” writen by Darwin was published in. ,zjﬂébﬁ'?ﬂ’d} " ...,J.TJL-JM: -8
1960 (D) 1959 (C) 1860 (B) 1859 (A)

How many years Darwin spent his voyage on HMS ? ‘i'l_,"}g HMS Jlf:dﬁdbi(i. Yuti -9

7years J7 (D) 6years Ju 6(C) Syears Ji 5(B) 4years Ji4 (A)

& Lt U’Jﬁlgfuyxﬁc}.’}ﬁ{;ﬂ.&) -10

Which type of symbiosis relationship is there in termite and protozoan?

Parasitism ilhe/lls (D) Commensalism r)]"cff (C) Predation ﬁé{ (B) Mutualismr‘:"-'::’(ﬂl

When was the work on Genetic Engineering started ? inls .,«-‘FK'KJ;’:I g 11

1964 (D) 1954 (C) 1944 (B) 1934 (A)

To which group aspirin belongs ? V& :.7:/":_&/&%’@;‘4
Drug from plants Iuwr;_)’bc.um{ (B) Drug from animals i::ufJ‘l-p;Jqug (A)

Synthetic drug b Ll (D)  Drug from bacteria I‘:::JJ’L:._I,)Q (C)

PGK_
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Biology (Objective) Group - 1 (&)=l
[ler— / #2’,7 Marks : 12

Time:15 Minutes
Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each

question with marker or ink on the answer sheet provided.
...u_’fﬂa:..f;t Ll uf;_fh.'il#‘Lnf../(.._-ﬁ"'b’a_.-lﬁ.:-u:.;{éﬁ}lﬁ-hﬁéé._-; D,C.B,ﬁ.&!-lﬁj){:n":.dlfj W

1.1 The length of trachea is: :.;.JHJQE? 11

(A) 18cm (B) 1l6cm (C) l4cm (D) 12 cm

The amount of urea in normal urine is: e Gl b st 2

2

(A) 73 gL (B) 7.7gL © 93gL /f,//" ©®  9.1gL
3. The hormone that increases the blood glucose level is: £ :‘éri.-::fdd&}f;ru:uf.eumg 3
(A) Insulin e (B) Cal to{in et
(C) Adrenaline c;‘.‘g_:;:gr (D) Gl cagg‘/ . ¥ o
: STS-L PRI

4. Total number of bones in both hands is:

ol et S
L5

S

te SufJeSif Lt 6
& (D) Tulip Juf

; telbfolfmetia 7
DNA (D) rRNA

(A) 34
5. Which one is the latest method of vegcw(
(A) Cloning

(C) Cauttings \ y
6. Which one is the example of stem tubers?

(A) Dasheen ( Pota

7. Which 9@ Mt\he following is‘g\enctic

(A) (B)
8. Theg ic ratip at F, 11'{1& fnj?ﬁn e A ABRPEy Lot ietindindT g
assortment 15 \
(A) 9:3:3 (B) 9:3: (© 9:3:1:3 (D)  9:3:3:2
9. Thickness of biosphere is about: e Serl JEAA 7 9
(A) 10km ¢ o (B) 20km  x¥0 (C) 30km x#30 (D) 40km ,/,5’40
10. Which plant is NOT gmworous‘? P U L}.‘f WAy ( ul.wu:"
(A) Sun Dew a0 (B) Cactus .f'é
(C) Venus fly trap - 2deots (D) Pitcher plant LA
11.  Dolly is the name of: wkierbds .11
(A) Cow ¥2¢ (B) Goat k64  (C) Rabbit /7 (D) Sheep 37
12.  Which of the following affects the production of sperms in men?  te (e S Lé retuny, 12
(A) Marijuana W2l e (B) Codine o3
(C) Morphine A (D) Mescaline S

37-10-A



a S.S.C (Part-II) A/2024
WYL Ye| Roll No ‘ (For All Sessions) Paper Code | 7 } 4 ’ 6 ' 8 |
Biology (Objective Group - II ()bl
. gy: J ) Qw&,}r_zﬁ?_t, G )bl
Time:15 Minutes Marks : 12

Note: Write adswers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.

GBS p e s el S FKnerngd z-urde s DCBAAZ R WLz w2d
1.1 End of skeletal muscle attached with immovable bone is called:  :o b/ etz $4S/7 2 200K ..J":'u; 1.1
(A) Insertion (/i (B) Joint eZiz (C) ligament o (D) Orgin ol

2. Itis the opening through which seed absorbs water: et/ w8l 2
(A) Microphyle Sk (B) Hilum g
(C) Integument e ¥ (D) Testa s’

3. Adult population infected with HIV in Pakistan is: /;:’;.;‘;l:aﬁ HIVY, uFLA ul;f}: .3
(A) 0.3 % (B) 0.5% (©) t(l\l % O\ (1::& 0.7 %

4. Which one is an example of co-dominance? 4
(A) Blood Group B s
(C) Blood Group O ,i.?,;f x

5. The biologist who hinted at evolution for 5
(A) Darwin @iy (B) #I:gg}'g{il.c

6. R-2 stands for? % 6
(A) Reduce Jl.-'r’f!f (P)/,Rcus JL&: LA

7. Presence of haustoria rq%é n smhan 5 1S S i‘xJJl.d‘:erus,‘zl;;ﬁﬂlwiu»;,f g
(A) Muglialism : cES

Predation sl N

) Pfa{asitis
8. The vgf: rDNMthc attac
colleddvelycalled: ™ )
(A) GMO (BY, Gen-:\;- combinant _._.,:) ¢, (D) Recombinant DNA UNA#-:&;,/ $s
9. Which antibioﬁcs}‘;\bacter idal? cadadivg 2ot Adised 9
\\-_-r’? r . . K7 s
(A) Sulpha drugs # S - (B) Tetracyclines ‘;-.L-L*I/."

/ .
(© Cephalosporins\}/ S (D) Thiazide diurctic; Lo
10. The disease in which Wélls of alveoli are destroyed is called: :Lgﬁtgg,}q,w_qf Jl&,,l_-ll,r:f S hias 10

b b §E A2 A EIWDNAK g

(A) Asthma | 3 (B) Pneumdnia Ly
(C) Emphysema Led (D) Bronchitis ety

11. Amount of water in normal chemical composition of urine is: :q.J,m,.‘ia S JE Sz Jas | P SRR B
(A) 85 % (B) 95 % (©) 75 % (D) 65 %

12. It controls the secretions of pituitary gland: :.;_r.f LJ;}”!@EJMJ};& 12
(A) Hypothalamus U4 (B) Thalamus N -]
(C) Cerebellum H-‘-,{ (D) Cerebrum (arl

>
/A 39-10-A
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Roll No. P 51 YA i (For all sessions) | PaperCode| 7 | 4 | 6 | 1 ‘
Group-l-o2 |

Biﬁlﬁgy (Objective Type) R u.ap-q =2 (Lﬁ:'?/’) h-"L" L’

Marks: 12 Time: 15 Minutes &£#15 =3 12 /"J{

"3

e Wz et 2 Dl C, BA.,..u-r..ﬁtpf_dlr;c:‘fodb’dwu‘ffd;_,wg..uurrrv o
S eSS h3e L UsHED L CBe A :z‘:_vL;‘Jrru'qurf
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.
1.1. A muscular passage common to both food and air is called: :q_,t'l.lr%.f A s SRz 14

(A) Phaynx % (B) Laynx o5/ (C) Aleoli Jusd (D) Trachea b/

2. The functional unit of kidney is: :.—.‘-_&KIG(_,EJ;J/F 2
(A) Nerve s~ ' (B) Neurons L
(C) Nephron (s & (D) Bowman capsule ¥ty

3. Which decreases the concentration of glucose in the blood? S tIfliadnFrus 3
(A) Calcitonin Jﬁ._r‘—’( (B) Testosteron (sds
(C) Glucagon i/ ¥¥ (D) Insulin s A\

4. Bone Marrow is found in: "?&“ 1 e bbbz 4
(A) Compact bone el (B) Spongy b@ﬁ@) u:f(_fx;*
(C) Osteocytes Ll (D) WW{% N 1

5. Pollination is the transfer of pollen grain from: ,;\\;\‘_? < ‘;,t:fuw' (J)Ug: a0y 5
(A) Anther to stigma {I.ft. f’! C \I@/&L:ttgma to anther ~ /?}T.:.Lﬁf
(C) Sepalto petal s M b~ ) \,)?BJ{D) Petal to sepal :,_,EF":.J’*

6. After fertilization in plants the fruit develops r&fﬁ 3 ".:.b-.;.‘/fﬂ;iur’/uf}u:u»f 6
(A) Ovule wall L;tg;Jdguf : {\1}% > OV (B) Ovary wall c-_..d.gJJdmI
(C) Petals < % A\ (D) Anther < A

7. Which scientist presented ﬂ{ﬂ;\a\)af Segregation? WA LS oS 7
(A) Charles Darwin .Jum_y’}b (B) Lamark Sy
(C) Joseph lister iz (D) Mendal i

8. Alternate forms of genes are called: :uf&&ff;fd;?zf .8
(A) Chromatin ¢/ts/ (B) Alleles & (€) Coci & (D) Characters %/

9. All the ecosystem of the world togather form the: , Ja_t'rfJf" /4 I(WZL—J 9
(A) Biosphere 2%l (B) Community L?x.r (C) Habitate <A (D) Population u’J 2L

10. Example of ectoparasite is: q...dl?J Lr!,:.r_f i .10
(A) Ascaris )CC" (B) Tapeworm (us_’ (C) Mosquitoes /‘f (D) Bacteria | }-‘?

41. Treatment through genes is called: e bl e we 5L 2 11
(A) Chemotherapy QI,;}{ (B) genetherapy Ql,:‘g,.rf
(C) Radiotherapy Lél/;‘f_é; (D) Ligotherapy gfﬁf du ‘

12. Which of the following drug is obtained from plants? Se Sed b unginie Ut its A2
(A) Aspirin ¢/ @) Insulin 2
(C) Opium 4 (D) Cephalosporin sy s

33-10-A-% 0
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RollNo.______ ¢ Joimed U\ | PaperCode [ 5 | 4 | 6 | 2
BiOlOgy (Objective Type) Group-II- fjj (d}’sf“") h:#?k}
Marks: 12 ﬂ-”ﬂ- 42.—2:_ Time: 15 Minutes 2415 =3 127

A 6dina st erng Woin s 650 ,C B AL S 3en s F Gl e vrp i
U e S IAS e LU LD | CB Asze L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. This brach of biology is about insects : - ‘Lygap?ﬂﬂflfﬁﬂg 11
(A) Taxonomy ¢JLF  (B) Physiology (s (C) Entomology G+ (D) Biotechnology (s/tEyl
2. Example of micro molecule is : :+.J€‘?sz-ol.u.¢l. 2
(A) Glucose ¥ (B) Starch Gut (C) Protein 2y (D) Lipids Ji¢
3. In 1878 a French Army physician started work on the cause of  :LEs P¥¥E b LAL P 0L8T/ ) t1878 3
malaria :
(A) Ronald Ross (3.4t (B) AFAKing Bl
(C) Laveran ¢ (D) Mendel Jé{\f/:
4. The group of nearest genera is called : Q0 {I;/) : .;..*:lk:".?,:f Kig) 4
(A) Order 4T (B) Phylum (% {@\\{,\\?3:[?33 N1 (D) Famiy (f
5. Itis found in cell wall of fungi /\JJ:'\ : e bl IS8 5
(A) Protein s (B) Chitin c&¥ | g;\‘%;g\"?(cp Fat o (D) Cellulose s
6. The stalk of thylakoids is called - O LG 8
(A) Stroma L3> (B) Cnsmtge}g,@“ (€) Granum =/ (D) Chloroplast ks
7. During mitosis one cell diﬁd§§§§\§/§,§idiaﬁéhtﬁ cells : :._,r:k';r;.;__bff:{)-’_gww[.u”ﬁ b
(A) Two 5 \J? Four (€)' Six # (D) Eight #7
8. Tumors are produced as a result of errors in : ALt Ul 8
(A) Meiosis U ' (B) Mitosis 70
(C) Binary fission 5 (D) Multiple fission >k
9. The enzyme which acts on lipids is : ; .;_.rfJf;J,yﬁf'tﬂu .9
(A) Amylase Ziic!  (B) Pepsin ¥ (C) Lipase (D) Protease s
10. The loss of electrons from atom is called : (P ESIHL e 1 10
(A) Reduction 72,  (B) Hydration /24 (C) Oxidation 4T (D) Electrolysis »~=1s24
11. The second function of oral cavity is the grinding of food by teeth s e bt L2 saSuLr ¥ b LUl 11
is called :
(A) Mastication 25" (B) Lubrication u—"gJ (C) Absorption o/ (D) Defecation o*4¥s
12. Pumping action of heart was discovered by : y l,;"..:-'ti.«:d’f Ké._f_,;.»:w}bde A2
(A) Robert Hooke  fcls (B) Thomas Cooley <47
(C) Robert Brown (JilsLL (D) William Harvey (_.UH‘-L

235-09-S-77 19180
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(For all sessions)
Group-l—.f;)’

Biology (objective Type) RuwRréi-2! () :.4??
Marks: 12 Time: 15 Minutes 2>15 &3 12:4
/:Ulrw..;[,éﬁ,}!zr o e W n i L&Dl C B AN L iy &fg;Léﬁ}lﬁLﬁ/‘ﬁ{baUﬂLaﬂlrrL}:é}
S e P BLIM s e S D | CBe A sz
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,.C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

o L pisant PaperCode| 7 | 4 | 6 | 3

Roll No.

1.1. The thickness of biosphere is about:

(A) #F 20 km (B) ¥ 40 km ©)
2. Which one of the following is an antiviral protein?

(A) Urokinases »*¥uy (B) Thymosin rall (C)
3. Which of the following drug is obtained from the plants?

(A) Aspirin ¢/ £+ (B)

(C) cephalosporin s (D)

e e dndendavy 14

##F 10 km (D) ¥ 30 km
?ﬁ_@gdﬁh@i_ﬂ(_ﬁj&ﬁd s 2

Insulin 2+ (D) Interferon sl 21
‘-‘-;-Gkrdu‘lvceuu#uuira-—ucdibﬂ 8

Opium o -

Insulin ufrii

B b LIS 4

4, The length of Trachea is approximately cm:
_ ﬁ\;/‘ )
(A) 10 (B) 12 (C) 14 ,\-\,X =~ (D) 16
A A~ T
5. Which organ is responsible for filtering of blood? & *\A{’i‘“&\% @ ?;.ﬂ;.-jb’i.f/’l’:’fﬂu’:iuf 5
. )
(A) Intestine fb¥  (B) Brain ¢/« /{-J{c:} ‘Stomach  se - (D) Kidneys <o/

) . LN
6. Insuline and glucagon are produced in bR
’ 775
(A) Hypothalamus ~ /&Z¥} \?_)/"’ (8)
d 'r"\ NS
(C) pancreas JL/@’ R \ O\ (D)
)

7. The processes that carm@:&g impulses towards the

cell body are caiied:;;:"b‘-\:i/

(A) Axon @ik (B) Dendrites U Lki (C)
8. How many bones make our skull?

(A) 24 (B) 14 (C)
9. Asexual Reproduction takes place in yeast by:

(A) Budding 4 (B)

(C) Binary fission A (D)

10. These are the unils {_:n‘ inheritance:

(A) Alleles 1 (B) Genes 2 ()
11. Chromatin material is made up of:

(A) Protein Ky (B)

(C) RNA and protein Koz nleleflT (D)

12. All the ecosystems of the world together form the:

(A) Population ¢4, (B) Biosphere L

(€) Community (il

LA

sl A 8
Interior pituitary ~ JAF247

Liver /5
LA ALl 7
el
Synapsis  r&Uv (D) Myelin sheath .4
rdrdd RS A 8
22 (D) 26
Wrke SN A (Yeast) ot .9
Fragmentation ¢ =5

Spore formation .-;Krli»;' -

(UKt 10
Genotype #ti# (D) Phenotype 3¢
e bt K 1
DNA K lefier)
DNA and Protein szl lefif}
bRl 12

(D) Habitate o~
/l



**ﬁ* 8.8.C - (Port-II) -A-2021

Roll No._ SRR . /. (For all sessions) | PaperCode| 7 | 4 | 6 | 8
Group-II-.;.uf :

Biology (Objective Type) (& <L

Marks: 12 Time: 15 Minutes 15 =% 12:4

/'-UI"V"{QK@"’:' b * -“*’”:'T’('-."EU)"LEié—in*’r-C-B-Aé‘:‘fff&f—Jimﬁix&ﬁ}lzdﬁfﬁfwayﬁi_-.,mrr-u":g,.}

S eSSBS I S D | CB A szl

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to sach
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. Cranial nerves in Humans are: Ut dreis(Cranial) SESUL WU
(A) «J# 6 pairs (B) /% 8 pairs (C) i 10 pairs (®) <7 12 pairs
2 Which one of the following attaches muscles to bones? ?q.tﬁﬁaugéf%bgﬁf;_uf Jits
(@) Tendons & (B) Nerves Js/ (C) Ligaments s (D) Hormones 7
3. Rhizopus reproduces asexually by :_fj,;:g:_sﬂdylh,;d;J;rg(_#lu:uﬁ,ij
(A) Binary fission u"ﬁk’@ (B) Budding £%
(@) Spore formation  Jusrzlsk (D) Endospore formation .l
4. Which one of the following is genetic material? A\ Y 5 N[BT SR Y )
(A) Proteins ,P',f (B) Lipids 4 (C) ngzrsg (@) DNA iy}
5. Choromosomes carry the unit of inheritance which g&%@m}eﬂah/ :@Jll;&b_naxugb’uf;}fﬂurkﬁ ,p,f,»,)"
@ Genes = “_,I—;i.?\)&)&‘Phanotype - bsd
(C) Karyotype .?P’I.’;{[ f\l}f‘ N (D) Nucleosomes frgﬂi
6. Dengue fever is an____infection: \\F;ffﬂ/\) :é_w’gl.____g,,étﬁ-j
(@) Viral  J70s (%k@%}eﬁp J 5 (C) Fungal N (D) Algal H
7. Which one of the fo lg@ﬁs\a Biotic factor of an ecosystem? ??ﬁjf;rﬁ‘,{fugufc,m)_;@, ,
(A) Light & kg}/ (B) Water &g (C) Temperature /;’L/;f (B) Producers Jy sl
St usus

8. Scientists prepared human insulin in:
(A) 1976 (B) 1978 (C) 1980 (D) 1982

9. An antibiotic is @ drug that kills :
(A) Viruses  »7Is (B) Bacteria _l;,-_‘rg (C) Fungi dl:' (D) Algae Lfl

10. The nasal cavity opens into : :Lﬁ_..___ﬂs-%fd)f
(A) Glottis L)jlf (B) Pharynx va' (C) Trachea L,_f) (D) Alveoli Jug};r
11. The weight of Human Kidney is: ;q_mu,-,gg_”f‘&_;,
‘) 1/ 120 gm (8) ¢/ 130 gm (€) ./ 140 gn. (0) ¢/ 150 gm
12. The cells which conduct nerve impulse are onged: Ui M,_,gz_ggd-’:‘:, IR ;ké.

(A) Muscle fibre 6 (B) Platelets et () RBC Kl (B) Neurons g

35-10-A- T W W e {fR

e 0AS e dnfIbid

A4

2

3

4

10

il

A2



RwP-\0-§2-20

YOO Y S.8.0 - (Port-11) -A-2020
Roll No.____ ¥ 7 (For all sessions) PaperCode| 7 | 4 | 6 | 6
Group-ll-gs)

] T Ly i > £ o -
BlOlOgy (Objective Type) (S5 H-lf-..
Marks: 12 ) Time: 15 Minutes L2415 =3 _ 12: 4

A §ER s cn Wit 0D CB A2 L Jivy 4”‘];4- 2O inl e i lins )

U S FM I3 L ED L CBA s2e L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet providad.

1.1. The number of chromosomes in human body cells P :LJJ,?:';’JU':J;KI.({&L-;' 1.4
15 pairs:
(A) 22 By 23 (C) 24 (D) 25

2. Cytosine always form hydrogen bond with: ‘e Ju btk 2l 2

(A) Thymine c...ﬁéﬁ (B) Guanine ;:..-,;.ffff (C) Adenine = (2% (D) Protein ;.u!_

3. The pH range of acidic rain is: ?Q?;;* < pHSAYIE 3
(A) 13 (B) 2.4 © 36 @\ ~ (o) 5.8
4 Animals can not take Nitrogenous compound from: . A&\O g2 i b5 UG 4
(A) animals  Judl (B) Fungi Jlsi @Mﬁé Jl (D) Plants sy
5. The complete map of human genome was p-.{p, ﬂetgb : rilyéﬁﬁf{rg‘:dgu 5
(A) ,2002 A.D (B) +2003 A.D @% (C) +2004 AD (D) +2005A.D
6. Diazepam is the example of a ty?e\fﬁ\%rﬁgxﬂ i Jt‘brfué"qf-:is!'.’;d'{.‘ 8
(A) Analgesics u"gfd"‘l [B]J%ﬁ%& Ve (C) Antibiotics .,,rffg-,?-r (D) Vaccines ::-‘.‘E;
7. Many chemicals in sm@r&ase the production BIVEE I Ko e ctmvifm 7
of ____blood cells Sess
(A) White 41 (B) Red 4, (C) Platelets J*:i (D) Osteocytesyisiu
8 The weight of human kidney is about: fkﬁq-‘—w,ruf{!ur 8
(A) ¢/ 110 gm B8) . 120 gm (€) #./ 130 gm (D) ¢ 140 gm
9. How many pairs of spina! nerves arise along spinal cord? ‘.“,ng.;_}zi{"ijifé-c.i,-i’u‘"} 9
(A) 28 (B) 29 (C) 30 (D) 31
10. The smallest bone of human body is: :g;,_d,}ﬁ,{;,_,.;{r"-’&ur 10
(A) Stapes ¥ (B) Malleus =% (C) incus (D) Pinna &
11. The skeleton of aduit human has the number of hard bones: ‘< Jx;rﬁbfug,};.?@gu:@g_g 14
(A) 196 (8) 200 (C) 206 (D) 210
12. The female reproductive part of flower is called: ?.;:..';'l'-;'/.d?d‘é_r];ni.fd:‘i 12
(A) Calyx ;,‘gi; (B) Corolla ves (C) Androecium ;‘:‘ub_f (D) Gynoecium r’f:'Jif'

35-10-A-3¢ ¥¥ ¥ -18000




Yoyt /— o —(7 - (”'7 _Z{ S.8.C - (Part-1I) -4-2019

RollNo. o LapaneA (For all sessions) PaperCode| 7 | 4 | 6 | 3
Group-I- .f:f

Biology (objective Type) & =l

Marks: 12 Time: 15 Minutes 215 &) 12:/7

/i.‘lr._ﬂ/QKJlf-u- g W2 S L & 3D CBAS y?,ﬁbivlrﬂ:ﬁ 1462 I Gevzl e tvringd
_q:/;GL-J&L&LL;I:W;..,,Cum:)_’.D CB AszelLl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. Glucose molecule is broken into Pyruvic acid. -&-bh) zﬁﬁ-ﬂ’f.ﬁxé S ;QL..Q!’J@' A3

(A) 5 (B) 3 {C) 2 (D) 6

2. Drugs obtained from minerals is: - Jim/ Mo cls 2
(A) Morphine A (B) Asiprin ¢ 2! (C) Antitoxin ¢ IJ’H (D) lodinetincture /i_'if T

3. The length of trachea is' “‘?(/ e dndUdEs 3
(A) 12em (B) 14cm (C) 16cm ’6\,\/ (O} 18cm

4. The weight of human kidney is about: %/\0\\/ :[;fc“..l'ﬁﬁi!(&..};sul 4
(A) 126gm (B) 270gm (C) %&3 (D) 100gm

_.;.r:(,t:;ﬁ,zré LJ,EA Lo/ 5

‘5. The name of gland present below the human neckr _
C) Adrenalgiand 25541 (D) Pancrease i/

(A) Parathyroid % udulx_r. (B) Thyroid .m,_:u'

6. The hormon which increases the quanti E@m ions in blood is: - .Jr.d.uu.l.bz;lﬁgf :»"f,;’-‘{ﬁwi 6
(A) Adrenalin dftz.eé_l (B) Cal (C) Parathermone ur;ﬂlﬁ (D) Thyroxin J‘ l;g,u

7. Number of bones in both h e SRS U T
(A) 33 80 (C) 54 (D) 128

8 Ripened Ovary changed into: T _Q.Ji_mdif.{dmi 8
(A) Seed A8 B) Fruit A% (C) Flower (2J% (D) Zygote (2t

9. External fertilization is found in: -q.Jl;JEﬁﬂL_—‘)J,‘fr 9
(A) Amphibians Z=JJ% (B) Mammals (£#€  (C) Birds fussy (D) Reptiles 2Fu

10. A cross in which only one trait studied at a time is called: _.9.!:'114-:,%-(.:.-;':"':&7*&_9&:3:.1? 10
(A) Dihybrid cross uﬂféxd{ﬂl! (B) True breeding J,E;::)
{C) Monohybrid cross S by (D) Domonient wz}

gLz @ A

11. Gene consist of:
(A) RNA (B) mRNA (C) Protein ¢ (D) DNA
12. Example of ectoparasite is: _ﬁ—._.,,c‘&,.r‘b-lﬁrf IA2

(A) Leech o £2 (B) Viruses 7 (C) Tapwarm (av’ (D) Plasmodium 5tk
33-010-A-WW
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(For all sessions)

RollNo. A L J\G." < lobny

PaperCode| 7 | 4 | 6 | 4

Group-I1- s/

Biﬁlﬂgy (Objective Type)
Marks: 12

Time: 15 Minutes <215 = ol
/fUlrJf,;LlKéi.rt:u:"'ryu.rff.,.lﬁg’:;ugéé_:DJsl.C,B.A.:.yz.-ﬁgﬁdlm&%Ql’;}&ﬁf&&;gmﬁ;U*rru':.b)

(& <l
12:4

_U_‘:/!';.Lﬁ_t-gfgﬂzﬁft_}!:.'ili'c..;ﬁw}bﬁD { CBAsz& VL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
given.Which answer you consider correct, fill the corresponding circle A.B.C or D given in front of each question with Marker

pen ink on the answer sheet provided.

- -

‘1. Which one is fermented food:

(A) Wheat flour eTi2" (B) Powder milk 253}

2. The medicine obtained from mineral is:
(A) Tinctureiodine/ iy '!'/f (B) Aspirin ¢/ 7"
3. Stoma are abundantly present:
(A) on upper epidermis of leaf .;fju,\_;"?’_
{Lérln Xylem cells 2541
4. Secretions secreted by confiers are called:

(A) Gums # (B) Mucilage &

6. Which Scientist wrote three books on
(A) Abn al Haytham Ar_ (3

(C) Gregor Mendal
7. Human both hands have bones:

(A) 50 (B) 52
8. The example of corms is:
(A) Ferns 2/ (B) Ginger !

9. The female reproductive part of flower is,

(A) Calyx Jﬂf (B) Corolla 1./

g '/@%ins i
5. Which lobe is concerned with hearing and smell: —~
(A Frontal (J}/ (B) Temporal @ (C) Occipital Jﬁu’( I

logy?

(D) Yogurt 5
+JTJJn:1‘U‘bL&Eﬂ b

(D) Penciline 2%

—
(C) Vitamins #ts

(C) Vaccine =™
Slmrree i 3

(B) onstem ;& \g@
(D) In Phi @ SHEH
o@ :pggfu}:#;dué..xbfﬂr_;ﬁf 4
(D) Latex ¥
?(l_J‘:J"‘;_ur"Let'm:é?.fJ;" 5
(D) Parietal
st 2L IRV A 6
N ’
(B) Alilbnlsa (i
(D) Andreas Vesalius ¥/t %!
Y/ PV WL A B
[€) s4 (D) 56

-;:_JC‘*U}JJ( 8

m_sheen Yl

e OSu T4 9
(C) Gynoecium F’Jf (D) Androecium rﬁ.-,‘.a

(C) Onion Ji

10. The branch of Biology in which we study about inheritance is called: e iz y L 2nf AL e E s 10

¥ Genetics ¥ (B) Ecology  GH¢

,t {‘-1. Number of Hydrogen bonds between Adenine and Thymine is:
o

(A) 1 (8) 2
12. Primary source of energy for all ecosystems is:

(A) Electricity (B) Sun L

(C) Morphology s/ (D) Physiology (G#47
..rl'_..ih; J.*-’I..o":u:fi.c}j(;sﬁcﬁdlinlo‘fél Rk

(C) 3 (D) 4
IPRPRRAV IS = TSV AR
() Fire JT (O Watrients 2
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DESSIONS;ZU15-2U17 & 2016-2018

BlOlOgy (Objective Type) Group-I- sr'l; ((_5'.'.'/" ) i:-i‘l??
Marks: 12 Time: 15 Minutes &2415 =3 12:4

A §84ineu con Va2 D C B A2, o .%.-.‘%Qh’[_jm Frdsevzl ciyrred
e S Ih3e fUiED L CB A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to eseh question

are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1 Painkiller chemical produced by brain is: ) >y .-ﬂulﬂ':é_’.g):éh 1.
(A) Insulin o2 (B) Interfelgn wss £1 () Thymosin ¥ (D) Betaendorphin Jakity
2. Which drug is obtained from bacteria? | fe Jed P et 2ot 2
(A) Aspirin ¢/ 1 (B) Paracetamoh, i~z (C) Terramycin c,L"JI.!;:* (D) Streptomycin ._-n'}l.;y;
3. A narrow opening present at the floor of Phardax is called: -4_ruf KJJ)"J:‘!)’{J;LU{:.' 3
(A) Laynx ) (B) Nostril >t (C) Giotts ¥ _ (D) Trachea £/
4. The normal core temperature of human body is: : \Jl“r—"" e =izt Skt 4
(A) 35°C (B) 37°C NG) 9°C (o (D) 40°C
5. All of the following are hormones exceot: \ Z C””}\"‘{f ; _é._lrp;::f'm;.rt.?utq;(«,» 5
(A) Glucagon i/ %¥ (B) Insulin u‘fr"' /{Cj,-lyroxln cf‘LJV" (D) Pepsinogen /s
6. Which hormone develops the male secondary s%ahé‘;écters? ! ‘.‘e_-_l:bu').f [J-'?d;.b-_l?}uf_e}uf 6
(A) Testosterone s = (B) Estrogen :, g,g-‘ai{ ©) Prog:\?rona 1 2%z ) Insulin 2
7. The hard outer layer of a bone is cajfa\d‘cJ ) \ YRS A NATEE

(A) Osteocyte L+ (B) Cémpactbone wsws’ (C) Cartilage é.}fr (D) Spongy bone s fa
8  An examploe of corm is: S ~eJeLifed 8

(A) Ginger (B) Onion Jk (C) Potato J7T \ (D) Garlic o7

9. The amount of sperms in semen is: -CF_J'M-"J)’_/:L'CCIC- g
(A) 10% (B) 50% (€) 80% D) 90%

10. Cytosine always pairs with: \\\‘. -q..Jb:l}:?J:’.c.C’va 10
(A) Thymine 20¢ (B) Adenine Ui (C) Guanine iy in} t){acil Jy

11. An example of discontinuous variations is: -\\-\ P NS S o BT
(A) Height .2 (B) Blood groups gf-:f,& (C) Weight s (D) Inte!li\g}e‘nce A%

12. All carnivore animals are: - _Jjg,m;@,,,[w(ﬁ 12
(A) Parasite ~/Lig (B) Host o (C) Predator ,-'.-.&{ - (D) Pathogenx\_u’-ﬁ?
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‘ﬁr ‘jﬁ{ * ﬁ S.5.C - (Part-I) -A-2018

ﬁi’ollNo. ______________ S PaperCode| 3 | 4 | 6 | 8
Sessions:2015-2017 & 2016-2018
Biology (objective Type) Group-Ti- s/ W b

Time: 15 Minutes 215 =3 12:/4
u‘alu.'_c'ﬂ:a:_JDJJ'.C.B.A;EI?&E]{LJ&‘}:g%qrd'ﬁﬁfdﬁ:&yﬁ.&mﬂ'fraiﬁ
e Sl e o3 SANED L CBA 7L
NOTE: Write answers to the questions on objectiye answer sheet provided. Four possible answers A,B,C & D to each question
fill thé\ corresponding circle A,B.C or D given in front of each question with Marker

Marks: 12 _
A3t e ng W

are given.Which answer you consider correct,
or pen ink on the answer sheet provided.

1.1. The example of Rhizome is: \ _.;_JPJ,";JJIJ 14
(A) Onion Jk (B) Ginger ol , ~{C) Garlic JJ (D) Potato #7
k _ﬁ:_rliid‘ifcff{:lﬁrﬁ‘:/r .2

2 The actual location of gene on chromosome is:

(A) Chromatid 2./ (B) Locus L/G' .{C} Centromere /) (D) Karyotype .;:Eg[

3. Bred plants are called: P _LELML@JIJ/Jé_chc.Jgu 3
(A) Cultivars J:hu"r (B) Breeds .Ji« {C) Camivore‘{,i%;;g\}é: (D) Insectivore m;:f?;

4 The symbiotic relationship in which both parteners get benegjﬁ a:’-“;?-:\'\lcq -ggz_liiu'tif{ S f.}j’f_.é]l g" L4

(A) Parasitsm 7Lz (B) Competition 1,}*-1{ (4(\:&:;1'& (D) Commensalism r}k?_-)"f

5. Lactic acid fermentation is caried out by many: r{,;zj et S 25K S0 5
(A) Fungi @ Agae i _( 0 (©) Bacega Lf (B) Protozoans ity
6. Which drug Is obtained from plants?\.;-;l’:ﬁﬁf' tededf e ungingd 6

(A) Aspirin ¢ 2! (B) Jiammi“l‘l’n u."‘" (C) Cephalospgrin @ (D) Opium B
: -.;.Jfﬂ:!ﬁuﬂxdhi_xbsﬁ,ql; 7
(D) 21%

et/ T Egs 8

7. The amount of oxygen in expired air is:
(A) 15% (B) 16% (C) 20%

8. Which plant produces latex?

(A) Keekar £ (B) Conifer (C) Rubberplant 7%, (D) Tomato /U

8 Which hormone is also called emergency hormone? E'.l»_.tl.gl{d"‘ur;;.f %l;{;lf;[.g/ .9
(A) Adrenaline P4l (B) Insulin g2 (C) Oxytocin &7 '}p) Caicitonin

10. Processes that carry nerve impulse away from the cell body are called: ..ug'Lmﬂujikﬁ;;mdi;ﬁfﬂ:jﬂ‘y.ﬂy 10
(A) Dendrites %) (B) Axons HE (C) Myelin sheath i:"u*t (D}\",Synapse e

11 Which of the following is the hardest connective tissue? ?q.ﬁéfﬁ?ﬁr:.?c_,_,.w:ii&,u 5

(A) Cartilage éJ;( (B) Bone ¥ (C) Ligament i@ (D) Té}t_don oy
12. The optimum temperature for seed germination is: - }M&ﬁﬁ;j]d’ & 12
(A) 10--20°C (B) 20--25°C (C) 25-30°C (D) 30--35"C
35010-AWKRW )1



‘/:} Ju _iﬁ" 2/ j /:1 dul‘;l.-r,..‘;ﬁ U:iw"br B0 1O ..*-J&d.;ﬁf‘ (ﬂ:&’lﬂ)lﬂ%
g5 2020-22102022-24%  (hges)) (P Gk
124 PAPER CODE 3465 Cuf-/—21f wx15:3

N (=7 =D /;IJ:/IJJ&#‘J'IIV Lol i ne u:u»'-ln:{(_.u':.lmﬁ.dfr;fQb/dl?_mq’if;,.JDJ;IC B Aépx.f:b.ﬁdrr;'-bﬁ
r../f:JIl-«'.L‘JlJ: frbn PAPER CODE;#J;/.;JIFJLJ')MJ’:JLQ&'&J’_fﬁ:r"wul.?ufi g,ﬁ....u"JLf..’f.aﬂ&../}fuulmLJ
_c..ﬂ,-r"'dt"'fﬂxhwlu!’;\.ﬁ Jﬁ{,fkuj“d"b.ﬂjlrugﬂu.fny J./r

Notei- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
’ ; " , _cl_JmlﬂL;us.iuﬂJifJ:}g N |
The number of bones in pectoral girdle is. -
£ ¥ A Sy -.éJ”L.;-‘(lj,;;;‘-gg )
: Lion Wolf Deer Fox This is a tertiary Carnivore.
Vnd Sy | Swse Ak | U e dngititd: u"r‘J g 3
Lectobacillus | Streptococcus | Saccharomyes | Asneroillus Alcoholic fermentation is cam%&’ the presence
s cerevisiae of
i S =5 s 2 #d&.ﬁ h..f,:"JJ" Aa| 4
S,Lc::;i Intelligence Weight Height An exampleyt{%a;knuous variations is
AA el Wedid o A4 \:;f/}.é..ﬂ;.ucutuldbgnwba..-bw, 5
. lodine N it
Morphine Gt Digitalis Aspirin /g:\oF&?t following drug is derived from minerals.
Y (7
A s - u_;J(E ) IR S AN
Cancer Bronchitis Asthma ﬁﬂ‘;ﬁh&ﬁ Itis a form of allergy.
X
S| S @«\:\.\) ; P sedlgpden| 7
: ¢
Calcium Latex s\j\ Resins | Which one is a waste pruduct of mmatucs
Oxalate NN .;ﬂ
sak by ESAL | i 95 4! Jﬁ«?ﬁTLathﬁ;is’J e | B
Glands Effectors | Coordinators | Receptors | These arc organs, tissues or cells that detect stimuli.
S| S 7 TUA eI Ak | 9
Parthenogenesis | Budding | Fragmentation gmw Yeast rcpro:iuccs asexually by
ission
5 e 7 ot e bW L n e ASil s JES A LI L | 10
Suckers Rhizothes Corins Bulb A small underground stem surrounded by thick, fleshy
leave with stored food is called.
o Jo B A Ju Ny A dua | 11
Buffon Mendle Charles Lamarck | Theory of natural selection was proposed by
Darwin
&ad ot P o o S6us e £ A ST L g ot ety | 12
Community | Ecosystem | Biosphere | Population | A group ofthe organisms of same species ...1-_t"lk'/
' inhibiting a habitat at a particular time is called.

o A
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1248 SGP~) 28 papercope saes F

a.ul:l-if.J,fa-gf&fA;;fhﬂﬂa'b.’;.T.Ifhz.-;u‘:_pcuj.?hé‘:é__:&bﬁdirﬁgd(dl:?_gﬂig.:DJ:fCrB-A&lJI.'fJI;LJIF,‘::-b)
feh S e’:.uf;:../rbn PJ\PERCODE.H.J"',;.‘.?.r;gffr"U"'JI)‘I‘u)u:':térd!jf-‘ﬂﬂ"’ﬁylﬁufjLﬂa}fJLf{f&ﬁL[{rfu:}bu‘:}
.,{_f,_r""dblz‘lb’ijéj,gi"iuﬁm_ﬁ-gfx.glj‘?)wdﬁj.aj;rb‘-utc-u‘"‘{!dhu*;{}

Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circlc in

S EHO

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
ciuml | oAl | edinr 3t g WSS 3 S S|
!;:gg:ﬂ?: h’;[i';l;iig:e fofnﬁ:::snn Budding Rhizopus reproduces asexually by
o ™ A o2 AW 2 | 2
Homozygous | Recessive Dominant L?;ﬁgﬁ: The alleles which are not expressed are called.
Jrd 4 Uk ! e S s S | 3 '
Bowmann's Bladder Pelvis Hilus Cup-shape structure in kidney is cal
capsule N
did Sl Fia S e bty R s 2 okEAs | 4
Temporal Occipital Parietal -j"_ ﬁ'ﬁntal ;I‘ig; I;::a?li t:ain that receNﬁE)l e impulse from
£ i P %t iy [ u:-—* ; O%)M J"W' J,,w GAaluds | 5
Liver Kidney H?::::d Stonfach - The purpo,s%% cageistoprotect.
B Sl | e sodid /,R\' o Zaff oLl Jir | 6
Evolution doﬁgg;ncc ’:S;E; Lax: stllit;l;ilm g\{g@dél s laws are not implemented on
;J;,;rds Jk s /53)(0 '\/ -.;..Ja-J._»::,f._f,f lete | 7
Decomposers Water Consumers ‘ﬁ@d Which one is the example of Abiotic components.
ey J#t o ﬁ\J\/ Bus e WG HE Yosiepl | 8
Plants Environment Emih\l Sun Source of energy material for all living organisms is
s N WS TR et lte p T Pty | 9
Minifood *| Formic Acid GMO Ferl':n;zr&lcd :‘;:;eejljotem content produced by microorganisms 1s
AL ks Az Lo VBELS 52, e ustiz | 10
Pasteure Wilmut Jf:;g? F!cn‘?l;ling Who proposed the idea of sterile surgery?
Jed | g | S | e Ao Lt | 11
Plumule ut"":] ; -‘".'ﬁ u"-’ M3 Cotyledons stay underground during.
gm[':l'flliﬁ:?ilnn ggigi?f::ia oln Hominty
i 2 L,Gig,;-_,bf el e L _.‘L.t‘m:&}lfgc_fr"uh)"ﬁ—f&u?’hLﬂfr" 32
Only two 3-4 2-3 1-2 Tooth loss is time higher in smoker than in
Hie non smoker.
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PAPER CODE 3463 A s (B G

et G A G Sahins Qe Lt na fmd e sel L iy ,»:J_;éfg__;fi.’-wié.JDuJCchA:.-LU.’.*f.rbﬁdlr ks
40 L1 L ST PAPER CODE# 4 2 £ N 151 )fg)»&ji’&ﬁimﬂﬂvfﬁufi Raur§L L3 b T il ik
L Sng ) %24

e e st et o e § /‘" d.u

N ./ - V7

B o g e W37 o
Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you thi gmi-re‘ct, fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles wil eg%t in:zero maark in that
question. Write PAPER CODE, which is printed on this ion ,m% the hothgsides of the Answer Sheeta ﬁ%bu € ac%rdingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowedy ./ S5 2
(D) (€) (B) (A) QUESTIONS oA
_:,:_.,fr‘_"' }"}db ;;;’I b L,L?L/’J(iif.aé_:{ﬁd%u{dm 1 ;
Stem tubers | Rhizomes Corms Bulbs Dasheen and garlic plants reproduce by
-3 L wdh VY e dnludir ksl ML L, | 2
Asthma Pneumonia | Amphysema | Bronchitis | 1t isa form of ‘Allergy’in Which flicrs i
inflammation of the bronchi occurs
ol I Ul 7 BV ol 7V B B T sutdnd S uzdumyd| 3
Mesophytes | Halophytes | Xerophytes | Hydrophytes | Which plants have deeper roo;sr?( O,
Jist J& U'(T Sz lf / vlL.rJ/ J:‘;.:A.Jf" (_S_‘J‘\l'l:;}l.-_v d’ Lﬁ Kz 2| 4
- 2 . gy
Temporal Occipital Parietal Frontal This lobe of cereb:@l,mftll;(ﬁeceive impulses from skin
. 1 Y ) . 1
Bar F | Chest 7 | Neck oo/ | Skull$ys g;%&hoh%qs found in - Qb dlurdis | .5
3 Hl' -‘r '{F—.I AT E < d| ; G-]l
sede L I R R TN S S e 7
Sedatives Marijuana Hallucinogens Narcotics _ '{ g effects on the sympathetic nervous system
2 A wsing dilation of pupils
e A s/ AT W 2SHIHIA | T
Gynoecium | Androecium Corolla { ;ny Male reproductive part of flower is called
> T TS, ) [ " s
; Jgf}:j.'." Jgunr u/s’fﬂt;{?f\’ ;iif;’fcif.-f el L e | 8
Non- S\ ; g [ 7
Heterozygous | Homozygous | yomologous | HOmologous | The word true breeding means
Charles Darwin _Lf:;f.,/ﬁb’h'm&yti_.uulid.rh - 9
1845 1841 1838 1836 : . S
- _proposed the mechanism of organic evolution in
adss | G AL | by sraldolid | 1o
i The b ffood chain i
Decomposer Primary Consumer Producer s
consumer
. 3 JJILEI.-WTJ{GJ} 719 A LU | a1
CniBUsn r'fi-"'lflr rj'é'f (i S er sikicdaueadt ) J.
BothBandC | commensalior | Mutualism Parasitiem In this symbiotic interaction, W e
both partners get benefits and neither is harmed
oy ol a8 S Secfrp iU insud | 12
Urokinase Thymosin | Interferons Insulin Which one is anti-virus protein?

1041-1023-36000(2)
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
de Uik £ Iyl ?q_thJgu:t/ Skt S i | -1
Thigh Foot Hand Arm The longest bone of our body is found in.
OoLs S o 267 ,r.;_.vgs’(f skt | 2
Pollen grain Carpel Anther Stamens The unit of Androecium is:-
y ¢ AL (Vs
3000 3500 4500 4000 . S S Lid | 3
Total chemicals in tobdoco smoke are.
) 5
Pelvis 2% Nephrony)/ & | Neuron .y | Axon ;:}f)g Functional uqf@ﬁnidﬁ"é& isi— _‘c.dh’i{,( rb’ﬁ.c'_.:zr 4
50 cm 45 cm 40 cm 30 cm The ’“tE\ spinal cord is: -_LJLJJFJE’JL 5
= < = ? . o
W U vz ';f'. NS ' _eptLidsh | .6
J ¥ # S <V L‘ lj1/11 is a name of
it L Doily 1S
Bull Cow Sheep R::J%>\f Dotly T.;F_J bysblng of | 7
EH | T B
= e Which medicine is cardiotonic’ '
Digitalis ]?lmf,tm : . e Forte2f LM B
k, ,:' e & :..h iy ' .
(A 34 J . me:\f.-?ﬂch part of embryo shoot is formed?
Endosperm Plumule '_."-i g _?Jﬂ?}'?ﬁJfL"B .fs;ﬂ- 9
ii o The person with blood group B have genotype.
The HL;Q_J_?E;JJM;rIJi@d:”J"U A0
9:3:3:1 9:3:333 AR IBLL ) henotypic ratio in the law of Independent assortment s:
T | il Laiealn Lot 1t
Golt G s ) Study of relationship between living organisms and
Histology Physiology Biology £cology their environment is called. .
: LS| 12
¥ £ J#s S ae e
R s ' is a infection 0
Algal Fungal Viral Bacterial | Denguefover]
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Note:- You have four choices far each objective type guestion as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fili the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the hoth
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1 I
é L6 o TN EIE
Algae Funaria Bacteria Mushroom Psilocin 's obtained from
P12V Jibis o e e 3t brine w;gf’;..:.ﬁb-u'i( 2
Diaphragm Bronchicle Bronchus lﬁwwaﬂé Which structure actively helps in taking the
4 --f;a, u air out of lungs?
b S | *5‘3 Sy B LS ek el b K| 3
Mucilage Latex Gums Resins Waste mate[!ar\ﬁ are removed by
conifero
W01 72 I8 Bt B e S L dag A Q}i \.O AP V| o4
Upper Ear Inner Ear Middle Ear External Ep(r_} &ﬁéa is present in
L e | £ : q,f; &J e Tth R 2L ETrti] 5
Fovea Ligment Sclera {6 6ds Rhodopsin is present in a part of eye.
Ussatt Eus 5 ‘X 2 ST P
Lungs Brain Sg@ﬁ Heart Vertebral Column protects
izx [" i d ( m 2 P -t E.’._./fc)f/,‘n,g_,,f,,} S
Stem tuber Rhizomes Corms Bulbs Reproduction occur in Ginger by
,_-ﬁbs,; et fs | Frgmat gl T clgft s a,-;514 e trt XA | 8
DNA and RNA and DNA Protein Chromatin material is made of
protein protein
s b g p o Satin] o
Phenotype Genotype Alleles Genes Units of inheritance is called
R 2 Fed! U'?‘{E uf sl b/ EBl ] 10
Habitate Community Biosphere Population |All Ecosystem of the world togather form the
oLk 2 P £ivi e JedUf st 1
Louse Leech Mosquito Piasmodium |Example of Endoparasite is
2008 2006 2002 2004 |Completemapof (it 25 Y 2| 12
human genome was published in |
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filing two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
o Ji Nais U e dnd 3L S A 1
Yeast Fungi Aspergillus Virus Alcoholic Fermentation is carried out by
10 em 12 cm 14 cm 16 cm = Gx[SFJgJGtJMO{’l_&‘;JgLA 2
Length of Human Trachea (Windpipe) is about
é';:‘ u’ﬁ-'-’ Ve /r -gﬁﬁ&.ﬂ. K e UPnl )l | 3
Wast materials that are secreted b
Mucilage Latex Resins Gums Coniferous Trees are d
{ AL O o L &
Yo Sk LHUA O] i ‘ft\%w..f_ﬁ:.ﬂ;_ AL ETd| a
Aqueous Vitreous (O _
Hc::mour Humour Rhodopsin  |A PIQTG _ " esent in Rods of Human Eye
LA o Lss é\iﬁ\‘,\ Loy Lt fwo L ET3 5
i (4 which part of Human eye co nd rods
Blind spot Lens Fc@qﬁf\;x are ﬂ:ﬁ fc?ur:td? WSS SonEs SN
¢ A - 5 spl=e . oa
300 256 e{\@ The number < dmw;fu;éut uf*r' QUL | 6
JiA 2 S\ < of Bones in adult Human Skeleton are
i Pl \_,\ "
. RN - S e rgrsnbrb i 7
i i
Bulbs Cloninfi. igh ings Budding | The latest Method of Vegetative propagation is
: w‘ & I 2 el - u -
9:3:2:1 9:3:1:1 Bi333:3 93231 ."'L“”"'L"suf""#ﬂﬂ#ﬁdﬂd““ 8
The ratio of phenotype in Law of
Independent Assortment is
i . '_:: o _.‘-”' i ' '
L-f(.:;,;., Mitosis FEHL RS Variations are caused by
Anenasil Different Same
o combinations of | combinaticns of
Reproduction chromosomes in | chromosomes in
gametes gametes
37 27 17 7 = FE-'- ?..1{ =Sna i bal B’ul,nf.i;t"p:u{.’* 10
In recycling of one Tonne of paper How
many frees can save.
R by I o ! '
WBIT A CN HL Ao edEi] 11
« 1 « 1927 . ’ ki ] ®
et S Ll When Charles Elton developed the concept
of ecological Pyramids.
of o e Lr A 44 |Whichone e Ju § Mee Unfhrie. Lot | 12
, C_epha105p0rin Insuling Marphine Aspirin of the following drug is obtained fror Jlants
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PAPER CODE 3465
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(Fr=slz) 1019
(38
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w_?L.szﬂfl:Jh?&lk’é .,J.-!..:n:;;.;ﬁu:}b.‘i' -'C__Jé'.-L‘L Jlr;.;l,éh’dlﬁ_.ugé’:’e,; D»C,B,A .;.l_,l_z_-,ﬁ:,k[_ Jrs g
By g e N SA U & ¥ izt P i L ST Sk Sl omntie S8 fa

- .{,r’dh“’lfnj'wl. I J'mﬁ‘_ﬂudm_.urw: cr$$* g LiemIwL NELS b PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
e Az | Ao iz Py e trJe1bin L L5 gz 1
Vector Endonuclease Ligase Donor In genetic engineering plasmid is used as
A opr o A /S uny| 2
Morphine Insuline Thymosin Interferon | Medicine derived from plant is
4000 3000 2000 1000 P 8"& ILaklJrunldfi| 3
Total cherpnc&lgmfiobacco smoke are
Jud ks s B A Joy Al Ce (tltun L stb Sy mesS | 4
Renal Tubule Nephron Urethra Ureter [N i l”t_’e between kidney and
1 Qgr ary bladder is
f EIJJI.; Sl %%\/w -grtfbfsﬁféﬁfﬂgtqudﬁl 5
Liver Thyroid Adrenal crease Name of gland beneath the larypxgg#fiuman neck is
L | %ﬁ}“«:\i = s @&;cﬁa LI 2L usT| 6
Cornea Sclera ; @SD\II Retina The round hole in the centre of Iris is called
O] &ALl %L—ul LA k¥ <ot v 8; Lysl 7
Neuron Osteocyte Oocyte Chondrocyte | Name of the mature bone cell is
J-‘}(:'r,;‘;l::l Jf;-,; oYy Joli e JedFxusL| 8
Endosperm Sperm Cell Zygote Egg Cell An example of diploid cell is.
nucleus
I o* o f e Jedetf| o
Potato Garlic Ginger Tulip Example of stem tuber is
._*g{ Jél rn";f PO (T 3 -ﬁgfu;;r‘dﬂ}g{u}fﬁ..{! 10
Gamete Allele Chromosome DNA Alternative forms of a gene are called
2 Y A St & Sudnif | 11
Genes Genotype Alleles Phenotype | Units of inheritance is called
S & Wig By e 2 GNEGAE FTEICE| 12
Nutrients Electricity Fire Sun Basic source of energy for all ecosystems is
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((fr2siz) 1019
(Ff'u "E""f) (Lf.';f')d-"'k
()2t S 21520

7l ):I.sfaf'b_'ih?alﬁ-‘é ) FORT Py VY £ 2__..~J&.-|.f'£ Jrr £ téfd'lj.'_u_? & &, D a#C,B.A .:,{..lj:_;f;i.._f: Jir s s
.s.r.h‘{ 24 e 1 .._.5I)l uf» L Léli'(__ﬁlﬁub'_ﬁ 3l [ n):? e ,_-,;,—-'JL,I,E /_-.b’g .i..f.{: y(ub}u wlic _fi -'{Z:/f;.

e U ID it s K1 g F I Gai 0L eS8 Sl QL LS s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS 0—1.
J Js 2 Ly i 5 ST g IV PRSP B XY £ Vo
Glycerol Ethanol | AcrylicAcid | Formic Acid | (S PIOCuctises | e oz o
P War oY 17 Sesnd £l 5
Penicillin Cephalosporin Aspirine Tetracycline |Sir Alexander Fleming discovered the
2 (13 &L Uz d6os -= debde.anl | 3
Pharynx Eardrum Nasal Cavity Bronchi | THe empty s@é;'pr\esent in nose is called
L 2y o A {\@V\\’_S‘: NPl K| 4
Mucilage Resins Latex Gums z W{E& étenals that are secreted by Keekar
A wade | 20 Jl-;"_& A':‘J‘?%'@'n " ce 2N e (?L gul| 5
Pancreas | Thyroid Gland Pagri:g;md Adrl 2 \@;ﬁd The largest endocrine gland in Human body is
pogh | T i ‘\;Q‘}Lﬂ’ e bl b fivtif | 6
ﬂ'ﬁﬁiﬂ? lodopsin Rhod@(ﬁ\hf Hquu;g::? A pigment p@ﬂ‘ﬂ
Vs e {\a’"ﬁ‘? s et b me L Ll pEA I L] T
Growth Locomotion Kbﬁ\ﬁovemenz Support l:: g,‘;’:: r&e:;g{hzrr\ ;négﬁeldas wwhore ftom
¥ Fy | FhpdFa | Pk | ca i LPSAS 5| 8
Cloning Pollination Asexual Sexual Some invertebrates also reproduce through
Reproduction | Reproduction | binary fission.
g AN #5 * B3-SI ] -
Stamens Carpels Petals Sepals The units of Androecium are called
ey dassnt i St et L] 10
Recessive Dominant Phenotype Genotype ;t;?u:jp:aclﬂ;:::jrggmaﬂon of.genes in an
o 1 L0 BT L e ksl | 11
Carbon Cytosine Thymine Adenine Guanine forms pair with
AR | esaspn | A | A et /st AR AR 12
g::gg:: Nitrification | Ammonification| Denitrification Eac;:;\;ersmn dalie i
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4

6

3
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle In front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or mere circles will resuit no mark.

SECTION-A Ji.r S /-]~ 2Y
Q.1 Questions / =11 A B C D
1 Sebol DUl | iy Pl S
" | Which one is the female reproductive part of a flower? Androecium Gynoecium Stamens Calyx
" e b P A R L) e A 2o 34
" | The specific combination of genes in an individual is called: Genotype Phenotype Dominant Hybrid
; e SAGBIAAL S | PPy | T ok Pkt
" | The principal building block of many kinds of biomolecules is: N - &_‘_f_l“:f'f ( c H
- = = I B )
4 ??Gnﬁfﬁﬁw)J}f _ulJ-f (1;— ;L;,J iy e
" | Inwhich of the given externalfertilization is found? og(‘ghg Reptiles Birds Mammals
—/ /"
6. .IIA"J-’!‘L;L—/:{L;{%I \ Y, 3 2 4 1
The number of lobes in the right lung is: 2\ 1
6 7({-1—51‘.1’;15/;”0— @f‘%"j 0] ui’ A of £ e JL:’; ~ Weqis;
" | Which one of the given medicines mcardmmmp‘? N Morphine Aspirin Streptomycin Digitalis
?z_dxwﬁmu’kﬁk};c@fﬁﬁéu’gdﬁuf dﬁizd;')-t L'ﬁ?ff L;':bf; U"."f
7. | Inwhich process does incomplete q}l n and reduction of ,
glucose take place? Respiration Mutation Fermentation Guttiatmn
Questions /=1~ A B C D
8 e O ey gfg r's Ve Usis iz
" | The base of ureter s called: Cortex Renal pelvis Medulla Pyramids
9 q..dﬂ'o(/'{-'u..g:.gﬂifq__.' s Az ok <l 7
" | Which one of the given is an example of receptor? Cold Pressure Ear Heat
56 e bl KB N e Ve &
| Where is elastic cartilage found? Larynx Nose Trachea Pinna
11 wifatﬂd.ﬁﬁ.;.llﬁfrf:/ Vat) 4 Hi dgv o
"| The positions of genes on chromosomes are called: Centromere Allele Loci Habitat
” Se o dBle Ly JI7 — S Jy
"| Which one of the given is decomposer? Rabbit Snake Frog Fungi

119-224-1A-28000% %
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O 2y asl5id

-

12:;"'

{Jr Unibie LI 25 4 =B AS T ﬁfﬁ.,)ﬂwuc.u: u:.?ui.’:_,:&b—.{:dlr ,:.;Qhﬁb‘:.wiér:n #CB,A

N

=2l el iy,

-fmﬂ.l.li.,.utufigﬂ.;u:‘(ﬁ./{f.:.bli.,f

SUL~D -
Q1] B Questions /.11 | A T 8 T ¢ D
oLl " # S kg L > 4 o
1. VS AL MS [ 1967 2017 1927
When did Charles Eiton develop the'concept of ecological pyramid?
o - g .. X
| | Wl b 1976 1980 1978 1876
Human insulin was prepared in the year:
e ki o
SV LACE L i s s N\ &Y S agmets
Omnivores are such consumers which eat: Anlma!gw-?i;-fglrf'ﬁ Plants Fruits Flesh and plant
b P esladie S| KBV [ A, v T
From which of the given, Morphine and Codeine are obtained? xg’l@i&%jis Opium Cannabis j Fungi
?ef_dﬁ"d‘u';'-;f 3 fusf;éduthﬁ. N < l
: v e (O] B AB 0
___| Which human blood group is an example of co-dominange? .-
! 6 [ -::_F?Ef.ﬂ[ﬁfgfpﬁg.ékudgfé’ﬁ'ﬁ KUl f.‘f_)/_ﬁl. Kt Kald
t Genetics is the branch of Biology in which we study: < Environment Microbes Inheritance | Reproduction
w At {bfkf S8 L Faiday Lot Wiy
____| Inwhich of the given, bina fission dogs not occur? Bacteria Protozons Planaria Hydra
(Continued/PT0) Re N4 (Ei0ule-.4)
N0
B c D -
— estions /=i A 51 el I
Qu 3 5 5 Ul,u_’" o
5, Dk uﬁ;‘ﬂdf:r
fe b A1 LA LR ? ?—uuﬁ._;; fos Mﬂst.:; r’; ; : ron | Sensory neuron | Mixed neuron | Inter neuron
‘ is called: e s
| The neuron which has only one dendite and one axon, is ¢ ; i L th ol Wl s s
P RLEN| Sk =l
e Chondrocytes | Osteoblast | Osteocytes | Osteaclast
_ 0
% | thecalis ot cartilage are called: o181 | Rles1ar | Alpfes | #lpfo150
e B B S KAt 4 ,Jl fs e | 1aren 93¢/ | 0.750g/!
10. : of urea is: : - ' £k S
In the normal urine, amount : _ : ; Ak
DI (1 Fagi { ; u; L:tdk'e Aquarium Forest
. on g
*1| Which one s the example of an artificia ec““’m“‘f L . D L el
e tal bt igatuny | Lo Ithetime | Atmorning
. i All the tim i
12.| The process of respiration in plants takes place during: Day time Atnight 20s) evening
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Biology S$SC (10"™) 1* Annual 2023 GHL
Paper :1II Group :1 Objective Lf..l,l’ M,:.‘..,f D: 44
Time : 15 Minutes (i) 415 =y
Marks : 12 PaperCode | 7 |4 |6 1 | SWL-|-21 2: 2

A ;Jifﬂfubdﬂv ".:u,dﬁufxsc_.u‘fu:ﬂ:-‘f-:,:-:bl:dirﬁa&i’dhz_wichD 4 C,B,A milﬁ,ﬁ;kﬁdlr; -y
Kt sl zasd LS et ST S ML S s Fomie

Note: -You have four cholces for each objective type question as A, B, C and D. The cholce which you think Is correct, fill that circle in front of that

questijon number In your answer book. Use marker or pen to flll the circles. Cutting or filling up two or more circles will result no mark.
(SECTION-A (ii»)

Q1 Questions /=i~ A B C D
. te G LI A S de 8P p S ubeS bl ., - il
- | The patient's skin colour may change and
become dusky or purplish In which disease? Emphysema Asthma Bronchitis Pneumonia
2. _.;..:L-;r.e,.uu&'?. e UP s o8 u‘y g“-’ P ,." Iy
The waste material of conifer trees Is: Latex Mucilage Gums Rasins
ALW KPS TSP L vl bbb | p i i o
3. | The special organs, tissues or cells which detect 5 A 4 i I
the stimuli are called: Effectors Receptors | Coordinators |  Glands
a. AT it 14 2 24 28
Number of facial bones is: \,—.-f_ A
P N\, &7 ) ;
5 +Jb'ufr{5dxlédbi-ﬂu’9 S " i ,\ P Sy W{Udf
" | An example of sexually transmitting disease is: Small gnx\ * AIDS Hepatitis ;ﬁgh ng
ALl S 2R L TEFOMAST | _u,ﬂ N e .
6. | In a rabbit, the glands which produce secretions \prostate Seminal Pl c “ ]
to lubricate the ducts are: ~ f 0 vesicles owper's
e §prrs S Ll (KA L@tﬂ
7. [in. human body cells, the  number of 23 46 26 48
chromosomes is: s T
T;iLﬂ;.&t‘dh#g{ﬂkﬂmu‘uleab
8. | How many hydrogen bonds aré present between 2 3 4 5
cytosine and guanine?
- - g-BerdZ 2 e #50 a0 230 Le#20
The thickness of biosphere is: 50 km 40 km 30 km 20 km
e oS b I LUt g Wit Uizl KS S ot el g Ao | J‘-‘u{
i bl T g bl d
* | The relationship between living organisms in " Commensalism | Mutualism Parasitism Competition
which one partner is benefited while the other is
neither benefited nor harmed is called:
S Ufde ol 56 281 | DB At | DNA sl | pstBs | vt Lishs
sk | US(GMO).A2L S
11. b/ s
Which is the third step in Genetic Engineering? Insertion of Tranafer of Growth of the | Expression of
geneintoa recombinant GMO the gene of
vector DNA in host interest
organism
-gE[}ﬂrﬁU!&;l-ﬁgf Jaw.q.ﬁ};ﬂ.’:—[‘" Z el ﬁ (f'-'l ﬂld; _,-)/P. & U‘éx_‘ kf:j
12. | The drugs which inhibit or kill bacteria within or aisaction: | Diniaoctacts | Kokiat
on the body are called : » Xins Antibiotics

Ay )
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Paper :1I Group : 11 Objective (& w» 19 :-f:/ O: 54
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Marks : 12 PaperCode | 7 | 4 |8] 4 | SwE—2-22 12: 4

Dy e LS A Y L2 LB 2 Ly ,444(@3..._5}!..:._..;0 21 C,B, A =iz Jgﬁdlr f s
-fifﬂj .I-ll-..rrlﬂ.'uf Al J L.; 41( ..JLL)" {f sl up;...f

Note: -You hmiaurnholmforoachohjocﬂwtypequuﬂonm&ﬂ C and D. The cholce which you think is correct, fill that circle In front of that
question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (il.»)

Q1 - Questions /= Ul A B c D
L st | ks o | =0
The male reproductive part of flower Is: Calyx Androecium Carpel Gynoecium
2. OB AN g LSttty d JA:L;! F 1k - ;:y"g’ 7.4V
The animals bred in artiﬂpial selection are called: Cultivars Breeds Selectives Broilers
3. et hie| s & o v
Itis a consumer: Phytoplankton Alga Grass Rabbit »
" bl Ay ol
Multiple fission occurs in: ' ’!’gi\l!t Hydra Rhizopus
TR :
it S0 ) £ . J:* : K~ z A1
5. ‘I"EGM’Z A I’l";i'u’%{ -~ }Ff;udra,i_ iﬁ!él ﬁnlﬁ,auizar
Thie inammbianes onclosiag lngs are called: SRS membranes | membranes | membranes
6. _q-bsdbi-ﬂd' L;Qf,{ W S Ll ir;;;::f o Jlte -
* | The drug obtained from plants is: A ‘: Digitalis Asprin Sidine ‘| Streptomycin
7 oy J";,m.i u&wt,b:.. egd "}E;‘Efa' A A A
It is a pain killer chemical fbrrg:,hd’ in brain: Thymosin endorphin Insulin Interferon
8. ,#n:bzfd,—-ﬂbg LU? w5 714 ); UG"" 6#'-‘."
The waste excreted by conifer trees is: Resins /~ Gums Latex Mucilage
RS L pOSE IS iz inbotbont | o et 2H
9. | The projection of neuron which carries nerve Dedidto nf m; Node of My&I;n sheath
impulse towards cell body is: Ranvier
o e B ” 53
Which is not the part of appendicular skeleton? g rdl’: Pelvic girdle Arm Skull ~
31, v bz bl E AL Sttt | oIl el S L
' In DNA adenine nucleotide forms pair with: Cytosine Thymine Uracil Guanine
o stk ;;lq.-!fdf’uj Py S YP A ol 1 i am (o rm A’
’ :‘;'::: Eorlm m;rlitrogan ke kol by S pro ducars Nitrogen gas Ammonia Nitrites Nitrates

5 i

120-223-1A~-24000 %
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Paper : I Group : I Objective (§'s wig/ H: g4
Time * 15 Minutes (iiif) VIR T PR 3
Marks : 12 PaperCode |7 |4 (6|5 | QU ~GL22 12: 4

= A s@if;kfubdpﬁ._m_#ﬂa-q_ﬂuﬁbi-c,-:ﬁbﬁdfrﬁ.;dﬁﬁidﬁejn #1C,B, A..éfz..f)k.ﬁdlr n s
¥ ; HJ.VJ.I-B-,JRuf Gl SIS 4/( i S {f UsAsolie LI

Note: -You have four choices for each oblective type question as A, B, C and D. The choice which you think is comect, fill that circls in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A i.»)

How many pairs of ribs are present in chest wall?

Q1 Questions /=i A B C D
1 Ay S ipding Al Loy oL
forms the basis of any ecosystem. Producers Animals Sun Water
2, Wt S Bl | 1044 1970 1978 1990
When Human Genome Project was launched?
PN
% Sl By | ety | o | s o
Sir Alexander Fleming discovered: Stmptnmycin '-;: E&@ﬂfﬂn Diazepam Peniciliin
(\"\ ~;> »p,
4 il ey | LD K Jot &
After fertilization, ovule becomes: 2\ Seed Fruit Flower Legume
s'(,,u.mjuux-y&'uu,,wdmu‘-’fdf :
5. | How many hydrogen bonds are presenx bsg n” 1 2 3 4
cytosine and guanine?
Uz prrsl i d JrﬂLba_k%nbﬁ-’ 2 Lol
6. R PR 1 16 23 32 46
The number of pairs of homologous chromosomes
in human's body cells is:
% LSS AL | g §e ki s
All ecosystems of the world together form: Biosphere Community Ecosystem Habitat
8. - 8idSuth it gatihl | 200 206 300 306
The number of soft bones in newly bom baby is:
stz ,;c"fa..b'l}ﬁ'f 26/ 1Ll
9. | How many spermatids are produced from each 2 4 6 8
primary spermatocyte?
Types of neurons on the basis of their functions are:
11, ..L£ Z—QLQd)}fLﬂ-:f&UI fﬂ’) .IHU': i‘)[Lf) J;I);J;
Number of nephrons in human kidney is: Two lac Ten lac Ten thousand | Two thousand
12. E‘aLm-_.Jj’:El !_uﬁnﬁﬂ_;éé# 12 24 30 6

117-222-A-35000 Kk
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Biology S.S.C (10™)-A-2022 GI€L
Paper :1I Group : I Objective (f.-f' l/:::.,a:f II: 24
Time : 15 Minutes (i) L2 15 oy
Marks : 12 PaperCode |7 | 4 [6] 8 St =G a2 12: S

-&ﬂ;@!‘f;{fr}binlvL-,.-U.’.'.'.-#.u;.ul:u:.?'biErJE-lfﬁdirﬁ,;Qﬁ}dﬁ_wii_.:D # C.B.A .:.-L:'J’.,:fxl:.{iLJFr,-r “2iy
Kol s e § 7 .{f L/, .{f Usimlie okl

Note: =You have four cholces for each objective type question as A, B, C and D. The cholce which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A _Qif.w)
Q1 Questions /=i A B c D
" -0 pH 8UAQZ | 1.3 g 6-9 10 - 13
pH of acid rain is:
2. ?g},(}ﬂéJBLUEJ:G*m;‘f}JU:J r'fii;.fu I il 008
In which vegetative propagation occurs by leaves? | Bryophyllum Potatoes Onions Mint
N el F)ﬁ
3, W etk | O il )
Altemative forms of a gene are called: loci {\@'/bndtype Alleles Traits
1\ ." \' / o .
PR Ll WO a/ﬂm & i i
4. | one of the given is the biotic component of f\?ﬂ& Light Air Water
ecosystem. ) Lﬁd}
5, i‘.;..!.-mf" gumjé,‘,gg)ﬁx Sk ki 314 Kip
In which part of neuron cell nucleus lepmSBﬁt? Dendrites Axons Cell body Schwann cells
T\\\" \
6. -L,Efa#/ )'Jfﬂ.f Peg S ;_::“' 014 Oy Lad -
The filtrate present in renal tubules is caﬂed ___,f:f ; \ﬁloud Fiitrate Urea Urine
B
7. et by vy LSJLEUL (5" s f4 22 24 26
How many bones make our skull? ST
8, .{_,E{}ﬂ-f(ab:ldbi-ffrm u’c:gfil Jé':"/ﬁ:l Jé.-:Lﬁl e
The drugs used to reduce pain are known as: Anaigesics: | Antiseptics Antibiotics sedatives
9. st lndo otz Lin 1 2 3 4
How many bronchi are there in the air passageway?
10. Sl AL OIS | 4972 1974 1976 1978
Scientists prepared insulin in; :
11. ..11’.-.3?6._?';) Fdl{ Lf‘ﬁ') HJ/ r‘_sll.;_l '{265‘
The male reproductive part of flower is: Calyx Corolla Androecium Gynoecium
12, & il gL pyrs/ | $ M L b
Locations of genes on chramosomes are known as: Lacl Alleles Genatype Phenatype
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-+ i




U

Roll No. |

|

||| St

Biology $.5.C (Part-ll)-A-2021
Paper :1II Group : I Objective 6‘:/'
Time : 15 Minutes (D

Marks : 12 i PaperCode | 7 | 4 (6| 1

ng.rjf

Sw -Gl-a|

< 15 :

g
I: 24
o)
A

12:

Note: -You have four choices

A e B ML g s i E st Ly 1438012 AL 2D 4l C B,A YL hldr g -2
R PP IOT N S W S SV AT DI EY 7 W P

each objective type question as A, B, C and D. The cholce which you think Is comact; fill that circle in front of that

question number in your nswer book. Use marker or pen to flil the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=y A B C D
] _4.6"')1:,,,:6 Sy L2 i At S
- Bronchitls may be caysed by: bacteria yeast plasmodium ascaris
,.;.Jﬂﬁbrdé;fdl)i
2. 2cm 4cm 6cm 10cm
The thickness of human kidney is:
-@gg}.i!.biﬁfa&h&m
3. 31 16 12 10
Pairs of cranial nerves arise from human brain are:
r_'.,_‘-t‘
i BRI AT I Bt _@@w ; ofef e
- ’ \.l ‘] -] E
All of these are hormanes except: Insulin_ | "j-(—'thyroxin glucagon pepsinogen
Jnk\-\i > I3
& W/ J‘ % “e—ila y < e (] H
" ¢ UiShe (e Al r;i{a P 23k
The longest bone in our body Is: : ;.jpitﬁigh stapes alna arm
o ...'_‘.Ard‘.;.-l;'/{‘,f”ﬂ,q‘.JJYQLJ U:;‘l'} ]J uydj'l -{.; 295 ) ;_-)"!;liu:’
Rhizopus reproduces asexually by: f ”‘v binary fission budding endospore | spore formation
A -;ygf,;;gg;.&,ic;:&w,,ngm
7. | Hydrogen bonds present bahﬁéaﬂ adenine and 1 2 3 4
thymine are: [
;EE{I@LWL)!L;HL?VJ‘JJ( P4l (_,fl"::sf {‘}H (Ja}
8.
The locations of genes on chromosomes are called: alleles chromatin loci traits
. se Uz el 4 is s T 34
Which one Is the bioti¢ component of an Ecosystem? soil consumers oxygen water
-4;.-&)"'(_).&-.@}[:“;;2 c'-_-UJL-,r‘iu..a il #6544, J/.f;fd;.ﬂ.; ;‘;m}:i’ irdiag
10. When we eat onions, qur trophic level is: primary secondary camivores producers
consumers consumers
Sl Adun :
1". » 1970 » 1975 » 1978 » 1990
Human insulin was prepared in:
i se Qi bl s | Oy | b o
12.
Which drug is obtained from bacteria? Streptomycin Aspirin Morphine Penicillin

| o
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Biology S.S.C (Part-1I)~A-2021 LEML
Paper :1II Group : I1 Objective u" M I/:.-:-rur o: 34
Time : 15 Minutes (D 2 15 =Jy
Marks : 12 PaperCode |7 (4 (6] 2 | SwL-42-2 12: 4
.d’;,h:.@u’..l.-ﬂ;ndli-é..,.rz.:.mm;wuiz;.,&bz.dlrﬁz.avdm.aéa;.an #C,BAMEL WL vy —2d

L. B i cur §L S LS ML S Dl

Note: ~You have four choices ffor each objective type question as A, B, C and D. The cholce which you think Is comrect; fill that circle In front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

|
I

11 s 2

Q.1 QuaJﬂons Iy A B Cc D
- Gurte DSl | 1 A8 G F b ids
1. In the developing colintries smoking rate is 43% 34% 4.3% 3.4%
rising by per|year.
.q..‘r:rd".ﬁ-d'i/ bk BRI
2. 2 3 4 5
In human, urine formation takes place in ___steps|
83 niod 8 W F paiF Lapbns
3. =Lﬂaﬂtf‘u 2 JJ;_.E_\I \ 4 5
At the point where a innal nerve arises from the P \/ Eod
spinal cord, there are roots of spinal nerves. o
i aArL R
4Dt | AR L% 3 b
4. . /:_I‘.- -‘.> A S
Insulin Is produced in|the: hypothalamus pituitary liver pancreas
; N ] :
-4 b-._!fldfrﬁ H-’i'd.{ﬁ:_ f.i?ﬁ.-tiff;:.ff d—fﬂf_'ffdb; LSS &
5. .{u s “:I'a v,
Hip joint is an examplp of joint. < )\ | immoveable |slightly moveable moveable hinge
AE P2 v I LI uside
8 | About____ % of the tatal adult Pakistanis are 0t 10 2.0 10
infected by HIV. N
-(_E E.-ﬂ:.}{‘;;f lJA’fl‘ULr"JJLCﬂ aw a4 L‘,C.Ls.él' J!‘ e
T. Hydrogen bonds are drasant between adenine 2 3 4 man
and thymine are: y
e Qaabd Spudecie sa fifS 1k e e LI if Sl
8. A
Guanine of one nucleqtide always forms pair -
Thymi G
with the of opposing nucleotide. iy “iicafie tanipe Uracil
-;,ga.'.-,ww_éeriﬁnTawwwwLuwyL_ 2oL 6L P J"’“_,C’
9. Intraspecific interaction is between the same species same different different
members of: population species population
%‘+L5fsz_f£i,¢,f¥’ﬁ"/£r P854 ird# .F.r.UL}ﬁ U"IT
- 101 Which Is the abiotic component of the producers consumers herbivores oxygen
ecosystem?
l - Wf—d"bﬂdﬁ’bﬂjzyf Jf#‘f’ St~ ;r;iuf Lﬁqui
. Namae of the yeast, usefl in fermentation is: Streptococcus | Lactobacillus Saccharomyces Aspergillus
" e Qb b ung S Uie Uty LA B o B
‘ Which of the given drug is obtained from plants? Aspirin pi Cephalosporin Insulin
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Biology (ot Al kL) - (1) GAEL
Paper : II (Group:1I) $WL¢-}D-G'..“ (.,u)'u,-;) II : 34
Marks : 12 Objective (%) 12 : A7
Time : 15 Minutes Code : 7461 L2 15 128

/ma_ufk/':Lﬁ}u..'ib“&lbf&.._.:lﬂun-f.-m;.;ﬂuj}:hé':é.:& Védlrﬁ{¢fdl£ -L,gééu DsC, BA &E‘.’?in?&idlfﬁ by

Note:

10.

11.

12

Byl I.P.uﬂuf-:;-n‘Ji_—/U_*- '(Li..fﬁ:{_}s?h mlie ki -Z5>

- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

. The process of inhaling oxygen and exhaling carbon dioxide _u_fgff.ﬁi.ﬂ;@f STl é.fd"bu,rf"'ff 1.4

is called:

anaerobic respiration /% (Tl (B} aerobic respiration oL (A)
respiration O] (D) gaseous exchange _.’:L_:sb’uﬁ-r (C)

. Secretion of rubber plant is called: -%3Urikrb:dlji.ﬂzwuc.d.ﬂng .2
atex ¥ (D) resins 7, (C) muciage Gr (B) gums # (A)

_ Which one of the following decreases the concentration of glucose in blood? -q_:j/ ﬁ’ﬁlﬂ&:ﬁ;ﬁd} -3
calcitonin .;HQ’J" d (D) testosteron ..)y:.*’r-“ (C) insuiin u‘frjl !B) glucagon u,l(f:‘ (A)

Which types of coordination is found in plants? f_\’a:%JdeLJ:d LTy J(j t.-""ruﬁ'..)»{ -4
nervous i (D)  electrical A (C) mecpgg\i?ak:ﬁ% (B) chemical £< (A)

. The celis of cartilage are called: ff’:\;\%\ .- ur’.'r'ﬁ'LE-,:!’ -5
chondrocytes Wal D ?/@\E;jj osteocytes S (A)
osteoclats J‘Lb:;}{:'f%a} collagen oxdss  (C)

. The units of androecium are ca!laq;‘::wfxf{}i'-ﬁ“ - -2 804 Krin sl -6

._“\:.“_\: .i g
sepals ¥ (D_)\-;*;Q\\slérﬁfens g (C) caple (.6 (B) - anther A (A)
o4 T :
)

 Specific combination of genes in an indjvidual is called:® e WL R T
genotype . K (B) L phenotype .._?r‘l.*i-:" (A)
heterozygous u‘*”'i;,;_: 1 k . homozygous u’g‘ljm (C)
. Number of hydrogen bonds between adenine ahd %e is: .,;.Jmiﬂf. inu’:ur!pdy)h:-@tai; s olh .8
two » (D) four s {C) F“ f;'?l Sne £ (B) three £ (A)
_ Total amount of living matter in an ecosystem at o -q.ljll:’:lﬁfdf;‘ihij PRSI (8- LIl -9
any time is called: \ RS |
Foodweb w—c#f (D) Foodchain ¢#i# (C)  Energy™ ‘G4 (B) Biomass UtFL (A)
Symbiosis in which both partners get benefit is. i Whaeg U ETIEL AN 10
competition ._f:d,f’ (D)  predation .:,7’3:2,; (C) mutualism %y (B) parasitism prle (A)
Treatment through genes is called: e bl Bl LR 11
Genetherapy Q.'}u‘.'-’ (B) Chemotherapy Ql/-&f (A)
Physiotherapy Q1A (D) Radiotherapy dAi (C)
Antibiotics inhibit or kill: G b B L2

yeast Jo+ (D) bacteria i 2L (C) /virusas f#s (B) worms  f7»  (A)
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Biology (oUW I L 2E)- (1)

Paper:11  (Group: I ) ( Academic Session 2017 - 2019 )

Marks : 12 Objective E:f,g‘ 2) 12 : A&
Time : 15 Minutes Code : 7464

s 15 =
e ._-,:-:,z‘?l.,G:u,:.u—,_‘xu.a.i.,,m;.mc..._,cu:}uéa_-:a.w.’.darf.{qrdr.e SELE D HC,B A W2l l Jirg e
-.-r.rl'.r.f"-’bu\.r-‘.ﬁuﬂQC:-JI‘K.&-_IU&‘EL;UUJ}UHEJLL.{? -y
Note.- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zerco mark in that question.

1. 1. To which group aspirin belongs? 's‘cl:.c-._..r:f -.,r’:'}l"' LU I
{B) drugs from animals =Ls 0/ e unie (A)
drugs from minerals =il :JJ‘L:—.:.‘,}# (D)

Drugs from bacteria  =in o/ Fec | 25

synthetic drugs =4l B (C)

- bl &S5 S AL yin i 2
lipase =du  (B) ligase 7 du  (a)

3. The enrichment of nitrates and phosphates in water is called - tUdtl rilot ¥U¥ T L U245 s E.C!-g -3

nitrification u/‘:‘%;-‘t (D) deccmpositiond"—’.ﬁ::ﬁs (C)Eutrophication @){

2. The enzyme which is used to dissolve blood clots is

amylase ZJu (D) urokinase Ay (C)

(8) poliution (57 (A)
A5 i

4. The units of inheritance are called /E\“}/ =g - AUUERT Satls 4

L

chromatin .;.iL:f (D) genes 3 (C) prolgié\@ﬁg (B) chromosomes _)'r‘:":f (A)

< : .
5 Watson and Crick proposed the model of DNA stfuctu(_lg/_\}\} VE e =se § DNA LS &1 o 5

%
- 1854 A D (D) + 1953 A.D/\ ~AC) « 1952 A.D (8) + 1851 AD (A)
Yo .
6. The exampie of insect pollinated flower i@'(/'/ e Je JJJ{LI:L.IJ':J‘{.J&;.I;: -8B

hazel J. (D) v % (C) rose «f (B com & (A

7. In flower the whorl of carples’s.&alled

..q.?ﬂf( '/..: ¥ :k.rl’u:df: &l
el n
gynoecium f"‘dﬂ(\\‘\j\tﬁ androecium <Lkl (C)

corolia 1,/ (B) cayx ¥ (A

8. The hardest connective tissue in the body is e ¥ e Folic wr L .8
igament ==& (D) cartilage ﬁﬁ' (C) bone Y (B) tendon wix (A)
9. The lobe which receive impulses from skin is R ch_.L,-Ur's =l o e L9
temporal Juzf (D) occipital  J55'T (C) parietal  Fis (B) frontal 7 (A)
10. Paralysis s a disease due to disorder in W SE6 210
nervous system ¢~ U5/ (D) liver # (C) endocrine system ¢~ Sk (B) heart U» (A)
11.

During lithotripsy stone is removed by

2% ¢-0edl SAL Y A 11
X - rays ‘{..u‘-‘-'l (A)
electrical shock waves Jis S/ 20 (Q)
S L srrg ) £ 5 12
nostril JAt (B) Trachea U} (A)

surgery 2 (B)
non- electrical shock waves Jy/».J| L#Lﬁ/'-glut D)
12. A narrow opening present at the floor of pharynx is called

glottis JLU’ (D) larynx Ji_f (C)

118-219- 17000 Wi
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Biology (A I 2SE)- (1) 13"
Paper:ll  (Group:1 ) ( Academic Sessions2016 - 2018 ) (¢2lg) 1 g4
Marks : 12 SN l—-(’]l— lo-13 Objective ((55*) 12 : 7
Time : 15 Minutes Code : 7465 o 151 =

4.—_955x':L;s}th'/Jflh'L._..l:‘-:..-.-u.u:.L,Cw}f:ﬁ'é.:&.vig}lr,f.géb’d'ﬂ “JELEDHC,BA -;'._.-'.F.‘.‘f.:‘tga'.':dfr,.f RO
-fx;;lﬁ?wuﬁgccuﬂf';):/.bKLLIJQ:} mbiea okl 5
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question

1.1 The latest method of vegetative propagation is Ty D .,-,-’-""f'!,; 2 S
layering £/ (D) cloning ¥  (C) graffting & (B) cutting & (A)

2 The cells forming cartilage are called Bl KninEK 2
osteoblast - 2 (B) osteocytes B (A)
melenocytes a7 - (D) chondrocytes B PP 1 €

3. Inhuman , number of spinal nerve pairs is _.rl-.:!rm.'...ﬂ;‘_,.-:ﬂ ..C;)fg-u.’._-;hil -3

31 (D) 33 (C) 32 B) PN 30 (A)

4 Myelin sheath is secreated by cells @@; »’_:].'ri..f Ll 132 c,'f=- -4

<

red blood i, (D) white blood 22y (C) dendrites 0@; (B) schwann  ir (A)

N\ ‘
5 . = 0 S T - s by |
Plants store large amount of water in their cells for : @--'--“’éw;’i PSR g;,:,é'_;_f__ iy -5

(#1]

photosynthesis --J;L;T:'f (D) turgidity Ji_-r} I_ﬁ/’;ma&on u"ff (B) transpiration ,;,*i’r;;f'v' (A)

6. In cigarette smoke . number of carcin e -q..ix:rijgﬂiz’ab’uﬁuf'f:ﬁc-c} -6
45 (D) C) 30 (B) 50 (A)
7. Sir Alexander Flamming was awarded Noble Prize in bk el s A 7
» 1960 AD (D) « 1950 A.D (C) + 1945 AD (B) » 1940 AD (A)
8. Which enzyme is used to desolve blood clots ? et &L LY SR LS f L8
urokinase Z0¥uf (D) tipson o .(C) pepsin ¥ (B)  lypase =il (A)
9 Since 1800 A D, the amountof ¢ - inreased in .-;..J:-leﬁu' 2T 315.;,'.;%’ Sz 1800 -9
atmosphere is
50% (D) 40% (C) 30% (B) 20% (A)
10 Alternate forms of a gene are cailed - Eéﬂrﬁflx‘d}?&ff -10
genotype ‘¢ 2 (D) loci J¢ (© alleles # (B) trait o/ (A)
11. DNA molecule wraped around the protein is - Tl L gﬁs,;uf’-dgpl. (AU I b

casin u~"’:( (D) fibrinogen ¢z <6 (C) haemoglobin %< (B) histone W& (A)
12, The unit of androecium is - ..-;{Kﬂ.! 1kl 12

ovay Uml D)  stle S (C)  stamen  of (B) stigma & (a)

117 - 218 - 26000  Triry



